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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2022 

First Semester 

Commerce with Computer Applications 

ADVANCED ACCOUNTANCY – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Accounting? 

 PnUQ¯À GßÓõÀ GßÚ? 

2. Write a short note on going concern. 

 C¯[S® Aø©¨¦ P¸zx £ØÔ ]Ö SÔ¨¦ ÁøμP. 

3. What is meant by error of principle? 

 Âv ¤øÇ GßÓõÀ GßÚ? 

4. Mention the errors that are not disclosed by the trial 
balance. 

 ÷\õuøÚ°¸¨¤À Põs¤UPõu ¤øÇPÒ ¯õøÁ? 

5. State the meaning of depreciation. 

 ÷u´©õÚ® Gß£uß ö£õ¸Ò TÖP. 

6. What is meant by straight line method? 

 ÷|ºU÷Põmk •øÓ GßÓõÀ GßÚ? 
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7. What is income received in advance? 

 •ßTmi ö£Ó¨£mh Á¸©õÚ® GßÓõÀ GßÚ? 

8. State the meaning of final accounts. 

 CÖv {ø» PnUS Gß£uß ö£õ¸Ò TÖP. 

9. What is average class? 

 \μõ\› Âv GßÓõÀ GßÚ? 

10. What is memorandum trading account? 

 SÔ¨¦ Â¯õ£õμ PnUS GßÓõÀ GßÚ? 

  

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the principles of accounting. 

  PnUQ¯¼ß öPõÒøPPøÍ ÂÍUSP. 

Or 

 (b) State the different kinds of errors. 

  öÁÆ÷ÁÖ ÁøP¯õÚ ¤øÇPøÍ TÖP. 

12. (a) Enter the following transactions in the sales book of 
M/s Arun and post them into ledger. 

  

2019 
Feb 

 

1 Sold goods to Prince Rs. 2,500 

10 Sold to Kannan 100 shirt @ Rs. 45 per shirt, 
trade discount 10% 

21 Sold old furniture to Kumar & sons Rs. 
1,200 on credit. 
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  M/s A¸s Gß£Á›ß ÂØ£øÚ ¦zuPzvÀ EÒÍ 

|hÁiUøPPÒ öPõkUP¨£mkÒÍx. AÁØøÓ 

÷£÷μiUS Gkzx GÊuÄ®. 

2019  

¤¨μÁ› 1 ¤›ßìUS ÂØP¨£mhx ¹. 2,500 

 10 Psnß Gß£Á¸US 100 \møhPÒ ¹.45 

Ãu® ÂØP¨£mhx. Â¯õ£õμ Ámh® 10% 

BS® 

 21 S©õº & \ßìUS ¹.1,200 US 

©μa\õ©õßPÒ PhÝUS ÂØP¨£mhx. 

Or 

 (b) From the following particulars prepare a Bank 
Reconciliation statement as on 31.12.2019. 

(i) Balance as per cash book Rs. 5877 

(ii) Cheques issued but not presented for payment 
Rs.2,013. 

(iii) Cheques deposited but not cleared upto 
31.12.2019 Rs. 1,419 

(iv) Wrong debit in the pass book Rs. 225.  

  RÌUPsh uPÁÀ Ai¨£øh°À 31.12.2019 AßÖ 

Á[Q \›Pmk® £mi¯ø» u¯õ›UPÄ®. 

(i) öμõUP ¦zuPzvÀ C¸¨¦ ¹.5877 

  (ii) Põ÷\õø» ö\¾zu¨£mhx BÚõÀ £n® 

ÁÇ[P¨£hÂÀø» ¹.2,013  

  (iii) Põ÷\õø» öh£õ]m ö\´¯¨£mhx BÚõÀ 

31.12.19 Áøμ Põ÷\õø»US £n® ÁμÂÀø» 

¹.1,419. 

  (iv) £õì ¦zuPzvÀ uÁÓõP £ØÖ øÁUP¨£mh 

öuõøP ¹.225 
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13. (a) Explain the different methods of calculating 
depreciation. 

  ÷u´©õÚ® PnUQk® öÁÆ÷ÁÖ •øÓPøÍ ÂÍUSP. 

Or 

 (b) Compare Straight line method of depreciation with 
diminishing balance method of depreciation. 

  ÷|º÷Põmk •øÓ ÷u´©õÚzøu SøÓ¢x ö\À C¸¨¦ 

÷u´©õÚ •øÓ÷¯õk J¨¤kP. 

14. (a) From the following particulars, prepare Trading 
account. 

 Rs. 

Opening stock 50,000 

Purchase 25,000 

Purchase returns 12,500 

Direct expenses 5,000 

Carriage inwards 2,500 

Sales 2,00,000 

Closing stock 25,000 

  RÌPsh uPÁÀPÒ Ai¨£øh°À Â¯õ£õμ 

PnUSPøÍ u¯õº ö\´P. 

 Rs. 

Bμ®£ C¸¨¦ 50,000 

öPõÒ•uÀ 25,000 

öPõÒ•uÀ v¸¨£® 12,500 

÷|μi ö\»ÄPÒ 5,000 

EÒyUS T¼ 2,500 

ÂØ£øÚ 2,00,000 

CÖv C¸¨¦ 25,000 

  

Or 
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 (b) From the following particulars calculate cost of 
goods sold on gross profit 

 Rs. 

Sales 38,500 

Opening stock 8,500 

Purchases 30,700 

Direct expenses 4,800 

Indirect expenses 5,200 

Closing stock 9,000 

  RÌUPsh uPÁÀ Ai¨£øh°À ÂØ£øÚ AhUPÂø» 

©ØÖ® ö©õzu C»õ£zøu PnUQkP. 

 ¹.

ÂØ£øÚ 38,500 

Bμ®£ C¸¨¦ 8,500 

öPõÒ•uÀ 30,700 

÷|μi ö\»ÄPÒ 4,800 

©øÓ•P ö\»ÄPÒ 5,200 

CÖv \μUQ¸¨¦ 9,000 

15.  (a) Distinguish between Balance Sheet and Trial 
Balance. 

  CÖv{ø» AÔUøPUS® C¸¨£õ´ÄUS® Cøh÷¯ 

EÒÍ ÷ÁÖ£õkPøÍ TÖP. 

Or 

 (b) Calculate the insurance claim. 
 Rs.

Material in stock on the date of fire 5,000 
(estimated)

Salvaged stock 30,000

Insurance policy with average clause 25,000



F–7976 

  

  6

  Põ¨¥mk E›ø©ø¯ PnUQkP. 

 ¹.

w HØ£mh |õÎÀ C¸¨¦ ö£õ¸mPÒ 5,000 (©v¨¥k) 

Põ¨£õØÓ¨£mh C¸¨¦ ö£õ¸mPÒ 30,000 

DmkÖv BÁnzxhß \μõ\› Âv 25,000 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Journalise the following transactions in the books of 

Glory : 

2019  Rs. 

Jan 1 Started business with cash  9,000 

 2 Purchased goods for cash  2,100 

 3 Sold goods for cash  700 

 4 Deposited into Canara Bank  3,000 

 5 Cash received from Rajan  400 

 6 Cash paid to Ananda Traders 1,000 

 7 Paid salary  300 

 8 Paid Rent  400 

 9 Received commission  200 

 10 Withdraw from Canara Bank 1,200 
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 RÌUPsh |hÁiUøPPÐUS SÔ¨÷£mk £vÄPøÍ 

S÷Íõ›¯ß ¦zuPzvÀ £vÄ ö\´P. 

2019  ¹. 

áÚÁ› 1 ÁoP® öuõh[P öμõUP®  9,000 

 2 öμõUP öPõÒ•uÀ 2,100 

 3 öμõUP ÂØ£øÚ 700 

 4 PÚμõ Á[Q°À øÁ¨¦ 3,000 

 5 öμõUP® μõáÛh® C¸¢x 

ö£Ó¨£mhx 

400 

 6 öμõUP® BÚ¢uõ i÷μhºUS 

ö\¾zv¯x 

1,000 

 7 \®£Í® öPõkUP¨£mhx 300 

 8 ÁõhøP öPõkUP¨£mhx 400 

 9 PÈÄ ö£Ó¨£mhx 200 

 10 PÚμõ Á[Q°¼¸¢x 

GkUP¨£mhx 

1,200 

17. From the following particulars prepare a Bank 
Reconciliation statement as on 31.12.2019 
  Rs.
(a) Balance as per cash book 200
(b) Cheque deposited but not collected 1,500
(c) Cheque issues but not presented for 

payment 2,500
(d) Bank charges debited in the pass book 200
(e) Interest followed in the pass book only 100

 RÌPsh uPÁÀPÒ Ai¨£øh°À Á[Q \›Pmk® £mi¯À 

u¯õº ö\´P. 

  ¹.

(A) öμõUP ¦zuPzvß Ai¨£øh°À öμõUP® 200
(B) Põ÷\õø» Á[Q°À ö\¾zu¨£mhx 

BÚõÀ £n® ö£Ó¨£hÂÀø» 

1,500
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(C) Põ÷\õø» AÎUP¨£mhx BÚõÀ £n® 

öPõkUP¨£hÂÀø» 2,500

(D) Á[Q Pmhn® P/S ¦zuPzvÀ £vÄ 

ö\´¯¨£kQÓx 

200

(E) Ámi ö£Ó¨£mhx Á[Q ¦zuPzvÀ ©mk® 

£vÄ ö\´¯¨£mkÒÍx 

100

18. Teetee ltd. purchased certain machinery at a cost of Rs. 
20,000 on 1st  January 2011. They decided to write off 
depreciation @ 20% per annum according to straight line 
method. Prepare the machinery account and depreciation 
account for the year 2011 to 2014. 

 jj ¼ªöhm 1 áÚÁ› 2011 AßÖ ¹.20,000 ©v¨¦ÒÍ 

C¯¢vμzøu Áõ[Q¯x. JÆöÁõ¸ Á¸h® 20%  p.a. 
÷|º÷Põmk •øÓ ‰»® JxURk ö\´¯¨£mhx. C¯¢vμ® 

©ØÖ® ÷u´©õÚ PnUSPøÍ 2011 ¼¸¢x 2014 Áøμ 

u¯õ›UPÄ®. 

19. Distinguish between Trade bill and accommodation bill. 

 Â¯õ£õμ ©õØÖa ^miØS® £nÁ\v ©õØÖa ^miØS® EÒÍ 

÷ÁÖ£õkPøÍ TÖP. 

20. Write short notes on 

(a) Insurance claim 

 (b) Indemnity period 

 (c) Average clause. 

 ]Ö SÔ¨¦ ÁøμP. 

 (A) Põ¨¥mkU ÷Pm¦›ø© 

 (B) CÇ¨¥mkU Põ»® 

 (C) \μõ\› Âv 

 ———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2022 

First Semester 

Commerce with Computer Applications 

RELATIONAL DATABASE MANAGEMENT SYSTEM 
(RDBMS) 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Data modelling? 

 uμÄ ©õh¼[ GßÓõÀ GßÚ? 

2. Expand the term DML and DDL. 

 i.G®.GÀ. ©ØÖ® i.i.GÀ Â›ÁõUP® u¸P. 

3. What is purpose of constraints? 

 Pßìøμßì Gß£uß ÷|õUP® ¯õx? 

4. What do you mean by relational algebra? 

 öuõhº¦øh¯ C¯ØPou •øÓ £ØÔ GÊxP. 

5. What is mean by null values? 

 §ä¯ ©v¨¦PÒ GßÓõÀ GßÚ? 

6. What is query? 

 ÂÚÁÀ GßÓõÀ GßÚ? 

Sub. Code 
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7. Write a short notes on atomicity. 

 Bm÷hõö©õêmi SÔzx J¸ ]Ö SÔ¨¦ ÁøμP. 

8. Define index. 

 SÔ±miØS ÁøμÂ»UPn® u¸P. 

9. State the meaning of durability. 

 i²μ¤¼mi Gß£uß ö£õ¸Ò TÖP. 

10. Mention any two merits of primary key. 

 •ußø© SÔ±miß £¯ßPÒ H÷uÝ® Cμsk TÖP. 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) What are the different types of attributes? Explain 
its E.R diagram conventions. 

  öÁÆ÷ÁÖ ÁøP¯õÚ £s¦U TÖPÒ ¯õøÁ? Auß 
D.Bº. Áøμ£h TÖPÒ £ØÔ ÂÍUSP. 

Or 

 (b) List out the responsibilities of DBA. 

  i¤H Âß ö£õÖ¨¦PøÍ £mi¯¼kP. 

12. (a) Describe the base tables and views. 

  Ai¨£øh AmhÁønPÒ ©ØÖ® Põm]PøÍ 
ÂÁ›UPÄ®. 

Or 

 (b) Explain the term note on Join. 

  áõ°ß GßÓ P¸zøu ÂÍUSP. 
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13. (a) Detail about the SQL queries. 

  SQL ÂÚÁÀ Gß£x £ØÔ Â›ÁõP GÊxP. 

Or 

 (b) Distinguish between inner join and outer join. 

  EÒ Cøn¨¦ ©ØÖ® öÁÎ¨¦Ó Cøn¨¦ Cøh÷¯ 
EÒÍ ÷ÁÖ£õkPøÍ TÖP. 

14. (a) What is transaction and concurrency control? 

  £›ÁºzuøÚ ©ØÖ® Jzvø\Ä Pmk¨£õk GßÓõÀ 
GßÚ? 

Or 

 (b) Explain based protocols. 

  Ai¨£øh°»õÚ ö|Ô•øÓPÒ £ØÔ ÂÍUSP. 

15.  (a) Discuss the primary and secondary indexes. 

  •ußø© ©ØÖ® Cμshõ® {ø» SÔ±kPøÍ¨ £ØÔ 
ÂÁõv. 

Or 

 (b) Describe the index sequential access methods. 

  SÔ±mk Á›ø\•øÓ £ØÔ ÂÁ›UPÄ®.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Draw the E.R. diagram for Library management system. 

 ¡»P ÷©»õsø© Aø©¨¦UPõÚ ER Áøμ£hzøu u¯õº 
ö\´P. 
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17. Describe the ‘Set’ operations with examples. 

 ö\m ö\¯À£õkPøÍ GkzxUPõmkhß ÂÁ›UPÄ®. 

18. Discuss the various level of relational model. 

 £À÷ÁÖ ÁøP¯õÚ öuõhº¦øh¯ ©õv›ø¯¨ £ØÔ 
ÂÁ›UPÄ®. 

19. Explain the atomicity database with example. 

 AquμÄzuÍzøu GkzxUPõmkhß ÂÍUS[PÒ. 

20. Explain the cluster indexes with example. 

 QÍìmhº SÔ±k •øÓ £ØÔ Euõμnzxhß ÂÍUSP. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION,  
NOVEMBER 2022 

Second Semester 

Commerce with Computer Application 

ADVANCED ACCOUNTANCY – II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by capital fund? 

 •u½mk {v GßÓõÀ GßÚ? 

2. What is special fund? 

 ]Ó¨¦ {v GßÓõÀ GßÚ? 

3. What is meant by average due date? 

 \μõ\› uÁøn |õÒ GßÓõÀ GßÚ? 

4. What is base date? 

 Ai¨£øh |õÒ GßÓõÀ GßÚ? 

5. What is consignment? 

 AÝ¨¥k GßÓõÀ GßÚ? 

6. Write a short notes on account sales. 

 PnUS ÂØ£øÚ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 
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7. Write any two features of joint venture. 

 Tmk •¯Ø] {ÖÁÚzvß H÷uÝ® Cμsk ]Ó¨¦ 
A®\[PøÍ GÊxP. 

8. Write a short notes on memorandum of joint venture 
account.  

 Tmk •¯Ø] {Ö©zvß SÔ¨£õøÚ PnUS £ØÔ J¸ ]Ö 
SÔ¨¦ ÁøμP. 

9. Write a short notes on single entry system? 

 JØøÓ £vÄ •øÓ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

10. What is conversion method? 

 ©õØÖ® •øÓ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) From the following details, ascertain the amount of 
subscriptions to be certified to income and 
expenditure account for the year 1999. Subscription 
received in 1999 – Rs. 48,000 which include  
Rs. 4,000 for 1998 and Rs. 8,000 for 2,000. 
Subscriptions due but not received at the end of the 
year 1999 were Rs. 20,000. Subscriptions received 
in 1998 in advance for 1999 were Rs. 12,000. 

  ¤ßÁ¸® ÂÁμ[PÎhª¸¢x, 1999 B® 
BskUPõÚ Á¸©õÚ® ©ØÖ® ö\»ÂÚU PnUQÀ 
\¢uõUPÎß öuõøPø¯ ©v¨¤kP. 1999 CÀ ö£ØÓ 
\¢uõ ¹.48,000 AvÀ ¹. 4,000 1998B® BskUS® 
©ØÖ® ¹.8,000, 2,000 BskUS›¯x. \¢uõ {¾øÁz 
öuõøP 1999 Bsk CÖv°À ö£Ó¨£hÂÀø». 
1999 B® Á¸hzvØPõÚ \¢uõ öuõøP ¹.12,000ø¯ 
•ßTmi÷¯ 1998 B® BskUPõP ö£Ó¨£mhx. 

Or 
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 (b) How will the following appear in the final accounts 
of Trichy sports club? 

 Rs. 

Stock of sports materials on 1-1-99 2,000 

Sports material purchased during 1999 7,500 

Sale of old sports materials during 1999 200 

Stock-of sports materials on 31-12-1999 500 

  v¸a] ÂøÍ¯õmkU PÇPzvß CÖvU PnUSPÎÀ 
¤ßÁ¸® uPÁÀPÒ GÆÁõÖ £vÄö\´¯»õ®? 

 ¹. 

1-1-99 CÀ ÂøÍ¯õmk ö£õ¸mPÒ C¸¨¦ 2,000 

1999 B® BsiÀ Áõ[Q¯ ÂøÍ¯õmk ö£õ¸mPÒ 7,500 

1999 B® BsiÀ £øÇ¯ ÂøÍ¯õmk ö£õ¸mPÎß 
ÂØ£øÚ 200 

31-12-1999 B® BsiÀ ÂøÍ¯õmk ö£õ¸mPÎß 
C¸¨¦ 500 

12. (a) Kannan purchased goods from Raman, the due 
dates for payment in cash being as follows 

Particulars Rs. Date 

Mar. 15 1,000 Due 18th April

Apr. 21 1,500 Due 24th May 

Apr. 27 500 Due 30th June

May. 15 600 Due 18th July 

  Raman agreed to draw a bill for the total amount 
due on the average due date, Ascertain that date. 
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Psnß μõ©Ûh® C¸¢x ö£õ¸mPøÍ Áõ[QÚõº. 
öμõUP® ö\¾zu ÷Ási¯ |õmPÒ R÷Ç 
öPõkUP¨£mkÒÍx. 

öPõÒ•uÀ ö\´u |õÒ ¹. uÁøn |õÒ

©õºa 15 1,000 H¨μÀ 18 

H¨μÀ 21 1,500 ÷© 24 

H¨μÀ 27 500 ãß 30 

÷© 15 600 áúø»18 

  Cμõ©ß ©õØÖa^mk GÊv Kº \μõ\› uÁøn |õÎÀ 
£n® ö£ÖÁuØS JzxU öPõshõº GÛÀ A¢u 
\μõ\› uÁøn |õøÍ PshÔP. 

Or 

 (b) R owes S the following sums of money due from him 
on the stated dates: 

  Rs. 330 due on March 10, 1994 

          Rs. 1,000 due on April 2, 1994 

          Rs. 4,000 due on April 30, 1994 

          Rs. 100 due on June 10, 1994 

          He wants to make the complete payment on  
30th June, 1995. Calculate interest at 5% per annum 
with the help of average due date method. 

  R Gß£Áº S ÂUS RÌPsh ÷uvPÎÀ £n® 
uμ÷Ási¯ ÂÁμ® öPõkUP¨£mkÒÍx. 

  ©õºa 10, 1994 AßÖ ¹. 330 

  H¨μÀ 2, 1994® ÷uv ¹. 1,000 

  H¨μÀ 30, 1994 AßÖ ¹. 4,000 

ãß 10, 1994 AßÖ ¹.100  

1995 B® Bsk ãß ©õu® 30 B® ÷uv 
•Êø©¯õÚ £n® ö\¾zxÁuØS Â¸®¦QÓõº. 
\μõ\› uÁøn |õÒ •øÓ°ß EuÂ²hß BskUS 
5% Ámi PnUQhÄ®. 
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13. (a) Madurai Somu & CO consigned 50 cases of goods 
@Rs.200 each to Chennai Nathan & CO, Madurai 
Somu & CO paid Rs.200 as insurance and Rs.300 as 
freight. Nathan & CO., sold the goods for Rs.24,000 
and paid Rs.520 for carriage and Rs.130 for Godown 
rent. Nathan &co is eligible for 4% Commission on 
Gross sales. Nathan & Co sends cheque for the 
balance due. Show the journal entries and  
Nathan & Co. account in the books of M/s Madurai  
Somu &CO. 

  ©xøμ ÷\õ• & ÷Põ {ÖÁÚ® 50 ö£miPøÍ u»õ  
¹. 200US ö\ßøÚ |õuß & ÷PõÂØS AÝ¨¦QÓõº. 
©xøμ ÷\õ• & ÷Põ ¹.200 Põ¨¥hõPÄ® ¹. 300 
\μUSPÍõPÄ® ö\¾zu¨£mhx. |õuß & ÷Põ 
ö£õ¸mPøÍ ¹.24,000 US ÂØÖ ÁsiUT¼ ¹.520 
©ØÖ® ÷PõhÄß ÁõhøPUS ¹.130 ö\¾zu¨£mhx. 
ö©õzu ÂØ£øÚ°À 4% uμS ö£ÖÁuØS |õuß & 
÷Põ uSv²øh¯Áº. |õuß Asm ÷Põ {¾øÁz 
öuõøPø¯ Põ÷\õø»¯õP AÝ¨¦QÓõº. SÔ¨÷£k 
u¯õºö\´x ©ØÖ® |õuß & ÷Põ PnUSPøÍ ÷\õ• 
& ÷Põ ¦zuPzvß £vÄ ö\´¯ ÷Ási¯øu 
PshÔP. 

Or 

 (b) Sekar of Salem sends goods amounting to  
Rs. 25,000 to Mathu of Madurai on consignment 
basis. He pays Rs. 1,000 as forwarding expenses. 
The goods are received by Mathu who spends  
Rs. 500 for carriage. 

  Mathu sells the goods for Rs. 32,000 for which he 
incurs selling expenses of Rs. 1,500. He is entitled to 
a commission of 10% on the gross sale proceeds. 
Mathu settles the account by a bill.  

  Prepare the Account sales.  
  ÷\»zvÀ ÷\Pº Gß£Áº ©xøμUS ©x Gß£Á¸US 

¹. 25,000US \μUSPøÍ AÝ¨¦QÓõº. AÁº 
¹.1,000 AÝ¨¦uÀ ö\»ÄPÒ ö\´QÓõº. ¹.500 
\μUSPøÍ ö£ÖÁuØPõP ©x ö\»Ä ö\´QÓõº. ©x 
32,000US ÂØ£øÚ ö\´QÓõº. AvÀ ¹.1,500 
ÂØ£øÚ ö\»ÄPÐ® Ah[S® ©x AÝ¨¥k 
PnUSPÒ J¨£øhzxÒÍÁØøÓ u¯õº ö\´¯Ä®. 
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14. (a) B, V and S entered into a Joint venture of a contract 
Rs. 1,00,000 is the contract price Rs. 40,000,  
Rs. 20,000 and Rs. 20,000 were invested by B, V  
and S respectively and Joint Bank a/c was opened. 
They purchased materials for Rs. 60,000; architect 
fees of Rs. 1,000 was paid by B, V paid for sundry 
expenses Rs. 2,000 and S paid Rs. 4,000 for Cement. 
The contract was duly carried out. All the 
transactions were done through Joint Bank A/c. 

  Give necessary ledger accounts. 

  B, V ©ØÖ® S Cøh÷¯ Tmk •¯Ø]°À Kº 
J¨£¢u® HØ£mk ¹.1,00,000US J¨£¢uÂø» 
{ºn°UP¨£mhx. J¨£¢u Âø» ¹. 40,000 
¹.20,000 ©ØÖ® ¹.20,000&zøu B, V ©ØÖ® S 
•øÓ÷¯ •u½k ö\´x Tmk Á[Q PnUS 
vÓUP¨£mhx. AÁºPÒ ¹.60,000 ö£õ¸Ò 
Áõ[P¨£mhx. PmihPø» Pmhn® ¹£õ´ 1,000  
B ²®, Cuμ ö\»ÄPÒ ¹£õ´ 2,000 V ²®, uμ 
]ö©sm ¹£õ´ 4,000 S²® u¸QÓõºPÒ. AøÚzx 
£›ÁºuøÚPøÍ²® Tmk Á[Q PnUS ‰»® 
ö\´¯¨£mhÚ. ÷uøÁ¯õÚ ÷£÷μmk PnUSPøÍ 
u¯õ›UPÄ®. 

Or 

 (b) Raman and Laxman were participants in a joint 
venture sharing profits and losses in the proportion 
of 2/3 and 1/3 respectively. Each party maintains a 
complete record in his own books. Raman supplies 
goods to the value of Rs. 15,000 and incurs an 
expenditure of Rs. 600 on them; and Laxman 
supplies goods to the extent of Rs. 12,000 and his 
expenses there on amount to Rs. 900. Raman sells 
all the goods for Rs. 36,000 for which he is entitled 
to receive commission at 5%. Accounts are settled by 
bank draft. Give the necessary journal entries in the 
books of Raman to record the above transactions. 

  μõ©ß ©ØÖ® »ô©ß BQ÷¯õº •øÓ÷¯ 2/3 ©ØÖ® 
1/3 GßÓ ÂQuzvÀ C»õ£|mh[PøÍ £Qº¢x, Tmk 
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•¯Ø] J¨£¢u® HØ£kzvÚº. JÆöÁõ¸ |£¸® 
uÚx ö\õ¢u ¦zuP[PÎÀ J¸ •Êø©¯õÚ £vøÁ¨ 
£μõ©›UQßÓÚº. μõ©ß ¹.15,000 ©v¨¦US 
ö£õ¸mPøÍ ÁÇ[SQÓõº, ÷©¾® AvÀ ¹.600 
ö\»ÄPÐ® Ah[S®. »ô©ß ¹.12,000 Áøμ 
ö£õ¸mPøÍ ÁÇ[SQÓõº, AuØPõÚ ö\»ÄPÒ 
¹.900 BS®. μõ©ß AøÚzx ö£õ¸mPøÍ²® 
¹.36,000US ÂØQÓõº, AuØPõP AÁ¸US 5 \uÃu 
Pªåß QøhUQÓx. Á[Q Áøμ÷Áõø» ‰»® 
PnUSPÒ wºUP¨£kQßÓÚ. ÷©ØPsh |hÁiUøP 
Ai¨£øh°À μõ©ß ¦zuP[PÎÀ ÷uøÁ¯õÚ 
SÔ¨÷£kPøÍz u¸P. 

15.  (a) Explain the features of single entry system. 

  JØøÓ¨ £vÄ •øÓ°ß C¯À¦PøÍ ÂÍUSP. 

Or 

 (b) Find out profit from the following data 

 Rs. 

Capital at the beginning of the year 8,00,000 

Drawings during the year 1,80,000 

Capital at the end of the year 9,00,000 

Capital introduced during the year 50,000 

¤ßÁ¸® uμÄPÎ¼¸¢x »õ£zøu AÔ¯Ä®.  

 ¹. 

Bsk öuõhUPzvÀ ‰»uÚ® 8,00,000 

|h¨¦ BsiÀ Gk¨¦ 1,80,000 

Bsk •iÂÀ ‰»uÚ® 9,00,000 

|h¨£õsiÀ ‰»uÚ® ö\´¯¨£mhx 50,000 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Calcutta Sports Club gives you the following Receipts and 
Payments A/c for the year ended 31st Dec. 1988. 

Receipts Rs. Payments Rs. 

To Cash in hand 150 By Groundman’s fees 1,500

To Cash at bank 2,100 By Mowing machine 1,100

To Subscriptions 5,800 By Rent 500

To Tournament fund 1,500 By Salaries to coaches 3,600

To Life membership 2,000 By Tournament expenses 900

To Entrance fees 200 By Office expenses,  

To Donation for  Postage etc 2,400

Pavilian 3,000 By Sports equipment  

To Sale of grass 100 purchased 1,200

  By Cash in hand 350

  By Cash at bank 3,300

 14,850  14,850

  Additional Details: 

 (a) Subscriptions due on 31-12-1987 and on 31-12-1988 
were Rs. 900 and Rs. 800 respectively. Subscriptions 
received in advance in the year 1988 for 1989,  
Rs. 200. 

 (b) Sports equipment on hand on 31st  Dec. 1987 was 
Rs. 1,100. The value placed on the equipment on 
hand on 31st Dec. 1988 was Rs. 1,300. 

 (c) The mowing machine was purchased on 1-7-1988 
and is to be depreciated at 20% per annum. 

 (d) Office expenses include Rs. 300 for 1987 and In 
1988 Rs. 400 are still due for payment. 

 (e) Tournament receipts and expenses are to be 
separated from general incomes and expenses. 

 Prepare Income and Expenditure A/c for the year 1988. 
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 1988 B® Bsk i\®£º 31 B® ÷uv •iÁøh¢u 
BsiÀ, PÀPzuõ ÂøÍ¯õmk QÍ¨Ýøh¯ ö£ÖuÀ 
©ØÖ® ö\¾zxuÀPÒ PnUS Â£μ[PÒ 
öPõkUP¨£mkÒÍx. 

μ^x ¹. ö\¾zxuÀ ¹. 

öμõUP C¸¨¦ 150 ø©uõÚ Pmhn® 1,500

Á[Q C¸¨¦ 2,100 \©^μõUS® C¯¢vμ® 1,100

\¢uõ öuõøP 5,800 ÁõhøP  500

÷£õmi Põ¨¦ öuõøP 1,500 £°Ø] \®£Í[PÒ ÁÇ[Q¯x 3,600

B²Ò EÖ¨¤Úº 2,000 ÷£õmi ö\»ÄPÒ 900

~øÇÄ Pmhn® 200 A¾Á»P® ©ØÖ® Ag\À ö\»ÄPÒ 2,400

|ßöPõøh Thõμ® 3,000 ÂøÍ¯õmk E£Pμn® öPõÒ•uÀ 1,200

ö©õzu ÂØ£øÚ 100 öμõUP C¸¨¦ 350

  Á[Q C¸¨¦ 3,300

 14,850  14,850

 TkuÀ ÂÁμ[PÒ : 

 (A) 31-12-1987 ©ØÖ® 31-12-1988 B® BsiØPõÚ 
Áμ÷Ási¯ \¢uõUPÒ ¹.900 ©ØÖ® ¹.800 BS®. 
1988 CÀ \¢uõ ¹.200 •ßTmi÷¯ 1989 
BsiØPõP ö£Ó¨£mhx. 

 (B) 1987 B® Bsk i\®£º 31 B® ÂøÍ¯õmk 
E£Pμn[PÒ øP°¸¨¦ ¹.1,100. 1988 B® Bsk 
i\®£º 31 B® ÷uv E£Pμnzvß «uõÚ ©v¨¦  
¹. 1,300 BS®. 

 (C) \©^μõUS® C¯¢vμ® 1-7-1988 CÀ Áõ[P¨£mhx 
©ØÖ® Á¸hzvØS  20% ÷u´©õÚ® BS®. 

 (D) A¾Á»P ö\»ÄPÒ ¹. 1987 B® Bsk  
¹.300²®, 1988 B® BsiØS ¹.400²® CßÝ® 
ö\¾zu¨£hÂÀø». 

 (E) ÷£õmiPÎß ö£ÖuÀ ©ØÖ® ö\»ÄPÒ ö£õx 
Á¸©õÚ® ©ØÖ® ö\»ÂÚ[PÎ¼¸¢x ¤›UP¨£h 
÷Ásk®. 

 1988 B® BsiØPõÚ Á¸©õÚ® ©ØÖ® ö\»ÂÚ 
PnUSPøÍ u¯õ›UPÄ®. 
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17. A partner has withdrawn the following sums of money 
during the half year ended June 30, 1996.  

Month  Date Rs. 

January 10 2,000

February 18 1,200

March 4 600

April 12 800

May 21 1,000

June 1 600

 Find out the Average Due date and calculate the interest 
to be charged at the rate of 10% for the half year ended 
June 30, 1996. 

 1996 B® Bsk ãß 30 B® ÷uv²hß •i¢u Aøμ 
Á¸hzvÀ £[Suõμº ¤ßÁ¸® öuõøPø¯ v¸®£¨ 
ö£ØÖÒÍõº. 

©õu® ÷uv ¹. 

áÚÁ› 10 2,000

¤¨μÁ› 18 1,200

©õºa 4 600

H¨μÀ 12 800

÷© 21 1,000

ãß  1 600

 1966 B® Bsk ãß 30 B® ÷uv²hß •i¢u Aøμ 
BsiØPõÚ 10% ÃuzvÀ \μõ\› Ámi ÷uvø¯ 
Psk¤izx Ámi PnUQkP 
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18. Jain of Mumbai consigned 300 tins of coconut oil to Naren 
of Chandigarh, invoiced at Rs.200 per tin. Jain    paid 
Rs.2,000 as carriage and other expenses. The consignor 
drew a bill of exchange for Rs. 16,000 which was later 
discounted at Rs. 15,700. The consignee rendered an 
account sales showing the following details: 

 280 tins sold at Rs. 250 per tin 

 20 tins sold at Rs. 260 per tin 

 Storage and selling expenses Rs. 5,000 

 Clearing and cartage Rs. 1,600 

 Commission at 6% on sales. 

 The consignee sent a sight draft for the balance. 

 Show the entries and important ledger accounts in the 
books of both the parties. 

 •®ø£°ß öá°ß Gß£Áº 300 ÷u[Põ´ iß 
Gsön´PøÍ \siP›À |÷μßUS J¸ iß ¹.200 GÚ 
Âø»°mk AÝ¨¤Úõº. öá°ß ¹.2,000 Ási ©ØÖ® 
¤Ó ö\»ÄPÒ BP ö\»Ä ö\´uõº. ¤ßÚº AÝ¨¦Úº 
¹.16,000 US ö£ÖÁuØS›¯ ©õØÖa^mk GÊu¨£mk iß 
¹.15,700US Á[Q°À Ámh® ö\´¯¨£mhx. 

¤ßÁ¸® ÂÁμ[PøÍ øÁzx ÂØ£øÚ PnUSPøÍ 
\μUSPøÍ ö£Ö£Áº u¯õ›UQÓõº. 

 280 ißPÒ J¸ iß ¹. 250US ÂØUP¨£mhx. 

 20 ißPÒ J¸ iß ¹.260US ÂØUP¨£mhx. 

 ÷\ª¨¦ ©ØÖ® ÂØ£øÚ ö\»ÄPÒ ¹.5,000. 

 wºÄ ©ØÖ® T¼ ¹. 1,600. 

 ÂØ£øÚ «x 6% PÈÄ. 

 \μUSPøÍ ö£Ö£ÁμõÀ «v öuõøPø¯ PnUQmk 
AÝ¨£mhx. 

 Cμsk ÁoPºPÒ ¦zuP[PÎÀ EÒÏkPøÍ²® 
•UQ¯©õÚ ÷£÷μk PnUSPøÍ²® PnUQkP 
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19. S and P entered into a joint venture and agreed to divide 
the profit as to S 60% and P 40%. S and P contributed  
Rs. 1,80,000 and Rs. 1,20,000 respectively for carrying on 
transactions relating to the venture. They opened a joint 
bank account with the above contributions. They 
purchased three old state buses for Rs. 2,40,000. S and P 
personally paid Rs. 45,000 and Rs. 30,000 respectively, 
for repairs and renewals. They purchased a few tyres and 
tubes costing Rs. 54,000. Two buses were sold for  
Rs. 2,70,000 and the third one was taken by P at cost 
price. Pass necessary journal entries and prepare joint 
venture account, joint bank account and close the 
accounts of the venture. 

 S ©ØÖ®  P BQ¯øÁ J¸ Tmk •¯Ø]°À Dk£mk  
S 60% ©ØÖ® P 40% C»õ£[PøÍ ¤›UP J¨¦U 
öPõÒÍ¨£mhx. S ©ØÖ® P ¹. 1,80,000 ©ØÖ®  
¹. 1,20,000 •øÓ÷¯ ÁoP £›ÁºzuøÚPøÍ 
÷©ØöPõÒÁuØPõP £[PÎzuÚº. AÁºPÒ Auß ö£õ¸mk 
J¸ Tmk Á[QU PnUøPz vÓ¢uÚº. AÁºPÒ ‰ßÖ 
£øÇ¯ ÷£¸¢xPøÍ ¹.  24,000US Áõ[QÚõº. S ©ØÖ®  
P uÛ¨£mh •øÓ°À ¹. 45,000 ©ØÖ®  
¹. 30,000 •øÓ÷¯ £Êx£õº¦ ©ØÖ® ¦x¨¤¨¦PÐUS 
ö\»Ä ö\´uÚº. AÁºPÒ J¸ ]» h¯ºPøÍ²®, 
SÇõ´PøÍ²® ¹.  54,000US Áõ[QÚõº. Cμsk 
÷£¸¢xPÒ ¹. 2,70,000 ©ØÖ® ‰ßÓõ® J¸ ÷£¸¢x  P 
Gß£Áº AhUP Âø»°À GkzxU öPõshõº. ÷uøÁ¯õÚ 
SÔ¨÷£k £vÄPÒ ©ØÖ® Tmk •¯Ø]UPõÚ PnUS, 
Tmk Á[Q PnUS ©ØÖ® CÖvU PnUSPøÍ u¸P. 

20. From the following particulars, prepare  

 (a)  Total Debtors A/c 

 (b)  Total Creditors A/c  

 (c) Bills Receivable A/c  

 (d)  Bills Payable A/c. 
On 1.1.92 Rs. 

Total debtors 40,000

Total creditors 15,000

Total bills receivable 16,000
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On 1.1.92 Rs. 

Total bills payable 6,000

Transactions during the year: 

Cash received from debtors 30,000

Discount allowed to debtors  6,000

Bad debts written off  3,000

Returns inwards  5,000

Cash sales 16,000

Cash purchases  7,000

Cash received against B/R 10,000

Cash paid to suppliers (including a payment 

of Rs. 1,000 for purchasing machine) 10,000

Cash paid against B/P 3,000

Discount received from suppliers 600

Return outward 1,500

Bills Payable dishonoured 600

On 31.12.92 

Total debtors  70,000

Total creditors 15,000

Total bills receivable 16,000

Total bills payable 8,000

 RÌPsh ÂÁμ[PÎß£i  

 (A)  ö©õzu PhÚõÎPÒ PnUS 

 (B)  ö©õzu PhÜ¢÷uõº PnUS  
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 (C) ö£ÖÁuØS›¯ ©õØÖ^mk PnUS 

 (D)  ö\¾zuØS›¯ ©õØÖ^mk PnUS u¯õ›UPÄ®. 

1.1.92CÀ ¹. 

ö©õzu PhÚõÎPÒ 40,000

ö©õzu PhÜ¢÷uõº 15,000

ö©õzu ö£ÖuØS›¯ ©õØÖ^mk 16,000

ö©õzu ö\¾zxuØS›¯ ©õØÖ^mk 6,000

|h¨¦ Á¸hzvß £›ÁºzuøÚPÒ : 

PhÚõÎPÎhª¸¢x £n® Á`¼zux 30,000

PhÚõÍºPÐUS ÁÇ[Q¯ uÒÐ£i  6,000

ÁõμõUPhß }UP®  3,000

EÒv¸¨£®  5,000

öμõUP ÂØ£øÚ 16,000

öμõUP öPõÒ•uÀ  7,000

ö£ÖÁuØS›¯ ©õØÖ^mk £n® 10,000

ÁÇ[SÚºPÐUS £n® ö\¾zxuÀ (C¯¢vμzvØS 
1,000 ¹£õ´ ö\¾zv¯x Em£h) 

10,000

ö\¾zxuØS›¯ ©õØÖ^mk ö\¾zv¯x 3,000

ÁÇ[S|ºPÎhª¸¢x ö£Ó¨£mh uÒÐ£i 600

öPõÒ•uÀ v¸¨£® 1,500

ö\¾zxuØS›¯ ©õØÖ^mk AÁ©v¨¦ 600

31.12.92 AßÖ  

ö©õzu PhÚõQPÒ 70,000

ö©õzu PhÜ¢÷uõº 15,000

ö©õzu ö£ÖÁuØS›¯ ©õØÖ^mk 16,000

ö©õzu ö\¾zxuØS›¯ ©õØÖ^mk 8,000

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by computer network? 

 PoÛ Áø»¯ø©¨¦ Gß£uß ö£õ¸Ò GßÚ?  

2. State any two benefits of computer networks. 

 PoÛ Áø»¯ø©¨¦ £¯ß£õkPÒ H÷uÝ® Cμsk 
GÊxP. 

3. Write a short notes on protocol. 

 ö|Ô•øÓ°¯À £ØÔ J¸ SÔ¨¦ GÊxP. 

4. Write a short notes on Internal architecture. 

 Cøn¯ Pmhø©¨¦ £ØÔ J¸ SÔ¨¦ GÊxP. 

5. What do you mean by broadcasting? 

 JÎ£μ¨¦ GßÓõÀ GßÚ? 

6. What is router? 

 vø\Â GßÓõÀ GßÚ? 
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7. What is IP? 

 IP GßÓõÀ GßÚ? 

8. What is SNMP? 

 SNMP GßÓõÀ GßÚ? 

9. Define decryption. 
 ©øÓÂ»UP® £ØÔ ÂÍUSP. 

10. What is Cipher? 
 ø\L£º GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write a notes on the different categories of network. 
  Áø»¯ø©¨¤ß £À÷ÁÖ ¤›Ä £ØÔ GÊxP. 

Or 

 (b) Discuss the local area network. 

  Local Area Áø»¯ø©¨ø£¨ £ØÔ ÂÁõvUPÄ®. 

12. (a) Write a short note on ALOHA protocols. 
  A÷»õíõ ö|Ô•øÓ £ØÔ ]Ö SÔ¨¦ GÊxP. 

Or 

 (b) Write a short note on one bit sliding window 
protocol. 

  J¸ ¤m ö|QÌ \õÍμ ö|Ô•øÓ £ØÔ SÔ¨¦ GÊxP. 

13. (a) Discuss the multicast routing. 
  ©ÀiPõìm ¹mi[ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Explain the flow based routing. 
  ¨ö»õÆ £õìm ¹mi[ £ØÔ ÂÁõvUPÄ®. 
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14. (a) Explain about the HTTP. 

  HTTP £ØÔ ÂÍUS[PÒ. 

Or 

 (b) Discuss the TCP. 

  TCP £ØÔ ÂÁõvUPÄ®. 

15.  (a) Discuss the fundamentals of cryptography. 

  ©øÓö©õÈ°ß Ai¨£øh ÂvPÒ SÔzx ÂÁõv. 

Or 

 (b) Discuss about symmetric key cryptography. 

  \©a^º Âø\ SøÓ¯õUPÂ¯À £ØÔ ÂÁõvUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss about OSI reference model. 

 KGìI SÔ¨¦ ©õv› £ØÔ ÂÁõvUPÄ®. 

17. Explain the error detection and correction codes. 

 ¤øÇ PshÔuÀ ©ØÖ® v¸zx® SÔ±kPøÍ 
ÂÍUS[PÒ. 

18. Explain about the packet switching. 

 £õUöPm ©õÖuÀ £ØÔ ÂÍUSP. 

19. Discuss the congestion control algorithm. 

 ö|›\À Pmk¨£õmk ÁÈ•øÓ SÔzx GÊxP. 

20. Discuss the various encryption methods. 

 ©øÓÂ»UP •øÓPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. State the meaning of double entry system. 

 Cμmøh £vÄ•øÓ°ß ö£õ¸Ò u¸P. 

2. How will be creating a ledger? 

 ÷£÷μkPøÍ E¸ÁõUSÁx G¨£i? 

3. What is revenue income? 

 Á¸Áõ°Ú Á¸©õÚ[PÒ GßÓõÀ GßÚ? 

4. What is meant by foreign exchange? 

 A¢{¯ ö\»õÁo GßÓõÀ GßÚ? 

5. What is voucher entry? 

 ÁÄa\º £vÄ GßÓõÀ GßÚ? 

6. What is purchase voucher? 

 öPõÒ•uÀ ÁÄa\º GßÓõÀ GßÚ? 
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7. State any three uses of printing option. 

 Aa]kÁvÀ EÒÍ H÷uÝ® ‰ßÖ £¯ßPøÍ TÖP. 

8. What do you understand by accounting book? 

 öμõUP Hk £ØÔ }Âº AÔÁx ¯õx? 

9. What is webpage? 

 Áø»¨£UP® GßÓõÀ GßÚ? 

10. Give the meaning of ODBC. 

 ODBC °ß ö£õ¸Ò u¸P. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the various options and menus to start 
tally. 

  ÷h¼°À öuõh[S® ÷£õx ÷uõßÖ® £À÷ÁÖ 

Â¸¨£[PÒ ©ØÖ® ö©ÝUPøÍ ÂÁ›. 

Or 

 (b) List out the accounting features and uses in tally. 

  ÷h¼°ß PnUQ¯¼ß A®\[PÒ ©ØÖ® 

£¯ß£õkPøÍ ÁøP¨£kzxP. 

12. (a) List out the primary groups in tally with explain. 

  ÷h¼°À SÊUPøÍ Á›ø\¨£kzv ÂÁ›. 

Or 

 (b) How will you create stock items in multiple mode? 

  £» •øÓ°ß \μUS E¸¨£iPøÍ GÆÁõÖ 

E¸ÁõUSÃºPÒ Gß£øu u¸P. 
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13. (a) Explain about the profit and loss account groups 

and subgroups.  

  C»õ£ |mhU PnUQß SÊUPÒ ©ØÖ® xønU 

SÊUPøÍ¨ £ØÔ ÂÁ›. 

Or 

 (b) What are the merits and demerits of contra voucher 

in Tally? 

  GvμõP £v¯USi¯ μ^xPÎß |ßø© ©ØÖ® wø©PÒ 

¯õøÁ? 

14. (a) How will you enter a fund flow statement using 

Tally? 

  {v Kmh AÔUøPø¯ ÷h¼ ‰»©õP GÆÁõÖ u¯õº 

ö\´Áx GÚ TÖP. 

Or 

 (b) What are the advantages of trial balance 

preparation in tally? 

  C¸¨£õ´Ä u¯õ›¨¤À EÒÍ |ßø©PÒ ¯õøÁ? 

15.  (a) Explain the various advantages of Export of data. 

  uμÄ HØÖ©v°ß |ßø©PøÍ £ØÔ ÂÁ›. 

Or 

 (b) Discuss the manufacturing accounts in Tally. 

  ÷h¼°À EÒÍ EØ£zvU PnUQ¯ÀPøÍ¨ £ØÔ 

ÂÁõvUPÄ®. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the various steps involved company creation in 
tally. 

 ÷h¼°ß {ÖÁÚ E¸ÁõUP® \®£¢u¨£mh £À÷ÁÖ 

£i{ø»PøÍ ÂÁ›. 

17. Explain the FIFO and LIFO methods. 

 FIFO ©ØÖ® LIFO •øÓPøÍU SÔzx ÂÁ›. 

18. Explain the various types of voucher and its rules. 

 £À÷ÁÖ μ^xPÒ ©ØÖ® Auß ÂvPøÍ ÂÍUSP. 

19. Explain the inventory reports and statements in tally. 

 \μUS AÔUøP ©ØÖ® AÔUøP°hø»¨ £ØÔ ÂÁ›. 

20. Explain the various uses of ratio analysis? 

 ÂQu £S¨£õ´Âß £À÷ÁÖ £¯ßPøÍ¨ £ØÔ ÂÁ›. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by variable? 

 Variable Gß£uß ö£õ¸Ò TÖP. 

2. State the meaning of reserved words. 

 Reserved words Gß£uß ö£õ¸Ò u¸P. 

3. Give the List out decision making loop in C. 

 C CÀ •iöÁkUS® _ÇØ]°ß £mi¯ø» GÊxP. 

4. What do you mean by If-else Statement? 

 If-else AÔUøP GßÓõÀ GßÚ? 

5. Write a short note of Conditional array. 

 Conditional array £ØÔ ]Ö SÔ¨¦ GÊxP. 

6. Difference between break and continue variable. 

 Break ©ØÖ® continue ©õÔUS Cøh°»õÚ ÷ÁÖ£õk. 
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7. What do you understand by auto class? 

 Auto class Gß£øu¨ £ØÔ }Âº AÔÁÚ ¯õx? 

8. Give the List of important needs of function. 

 ö\¯À£õmiß •UQ¯©õÚ Põμn[PøÍ GÊxP. 

9. Mention the use of Structures. 

 Structures Cß – £¯ß£õmøhU TÖP. 

10. Write the purpose of external variable. 

 External variable ÷|õUPzøu GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain about the Conditional Operator in C. 

  C CÀ Conditional B£÷μmhº £ØÔ ÂÍUSP. 

Or 

 (b) Write a C program in Arithmetic operation. 

  Gs Pou ö\¯À£õmiÀ ] {μø» GÊxP. 

12. (a) Explain about Nested-if-else Statements in C with 
example. 

  C CÀ EÒÍ Nested-if-else AÔUøPPøÍ¨ £ØÔ 
ÂÍUSP. 

Or 

 (b) Discuss about do-while and for Statements in C 
with example. 

  C CÀ EÒÍ do-while ©ØÖ® for AÔUøPPøÍ¨ £ØÔ 
ÂÍUSP. 
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13. (a) Write short notes on character array in C with 
example.  

  C CÀ character array £ØÔ ]Ö SÔ¨¦PøÍ GÊxP. 

Or 

 (b) Discuss about the User define functions with 
example. 

  £¯Úº Áøμ¯ÖUP¨£mh ö\¯À£õmøh¨ £ØÔ 
ÂÁ›UPÄ®. 

14. (a) Write about Pointers arrays in C with example. 

  C CÀ Pointers arrays £ØÔ GÊxP. 

Or 

 (b) Write about Pointer to Pointer in C with example. 

  C CÀ Pointer to Pointer £ØÔ GÊxP. 

15.  (a) Discuss about file operations in C. 

  C CÀ ÷Põ¨¦ ö\¯À£õkPÒ £ØÔ ÂÁ›. 

Or 

 (b) Write a C program to find the biggest of three 
numbers. 

  ‰ßÖ GsPÎÀ ªP¨ ö£›¯øuU Psk¤iUP {μø» 
GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss about basic data type in C. 

 C ö©õÈ°ß Ai¨£øh uμÄ ÁøPø¯¨ £ØÔ ÂÁ›UPÄ®. 

17. Explain about Switch statement with example. 

 Switch AÔUøPø¯¨ £ØÔ GkzxUPõmkhß ÂÍUSP. 
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18. Discuss about call by value and call by reference. 

 ©v¨¦ ‰»® AøÇ¨¦ ©ØÖ® SÔ¨¦ ‰»® AøÇ¨¦ £ØÔ 
ÂÁ›UPÄ®. 

19. Write a C program to display the multiplication table. 

 ö£¸UPÀ AmhÁønø¯U Põmh ] {μø» GÊxP. 

20. Differentiate union and structure with example. 

 Union–²® structure–²® GkzxUPõmkhß ÷ÁÖ£kzxP. 

———————— 
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BUSINESS STATISTICS 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the characteristics of Statistics? 

 ¦ÒÎ ÂÁμ[PÎÒ £s¦PøÍ GÊxP. 

2. List out any two parts of a good table. 

 J¸ |À» AmhÁøn°ß H÷uÝ® Cμsk £SvPøÍ 

£mi¯¼kP. 

3. State any two merits of Geometric Mean. 

 ö£¸UPÀ \μõ\›°ß H÷uÝ® Cμsk |ØSn[PøÍ 

SÔ¨¤kP. 

4. Define Quartiles. 

 PõÀ©õÚ® Áøμ¯Ö. 

5. Write a short note on regression line. 

 ¤ßÚøhÄ öuõhº & J¸ ]Ö SÔ¨¦ GÊxP. 

Sub. Code 
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6. What is correlation? And list the types. 

 Ehßöuõhº¦ GßÓõÀ GßÚ? ©ØÖ® ÁøPPøÍ¨ 

£mi¯¼kP. 

7. Give a note on Index Number. 

 SÔ±mk Gs J¸ SÔ¨¦ u¸P. 

8. Write down the Mode formula. 

 •Pk SÔzu `zvμzøu GÊxP. 

9. What are the components of time series? 

 Põ»® \õº öuõhº Á›ø\PÎß TÖPÒ ¯õøÁ? 

10. Define Link Relative. 

 ÷PõºøÁ \õº¦PÒ Áøμ¯Ö. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the meaning of a Questionnaire. What are the 
precautions necessary in drafting a good 
Questionnaire? 

   ÂÚõzöuõh›ß ö£õ¸øÍU TÖ. J¸ |À» 

ÂÚõzöuõhøμ Áøμ¯ ÷uøÁ¯õÚ •ßöÚa\›UøPPÒ 

¯õøÁ? 

Or 

 (b) Give a short notes on Primary data and Secondary 
data. 

   •ußø© uμÄ ©ØÖ® Cμshõ®{ø» uμÄ £ØÔ¯ ]Ö 

SÔ¨¦ u¸P. 
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12. (a) Calculate the Arithmetic Mean for the following 
data: 

X 8 10 12 15 18

Y 5 7 12 6 10

   ¤ßÁ¸® uμÄPÐUPõÚ Tmk \μõ\›ø¯U PnUQkP. 

X 8 10 12 15 18

Y 5 7 12 6 10

Or 

 (b) Calculate Mean Deviation from the following data: 

  45, 50, 60, 78, 98, 80, 75, 23 

   ¤ßÁ¸® uμÄPÎ¼¸zx \μõ\› Â»UP® PnUQkP. 

   45, 50, 60, 78, 98, 80, 75, 23 

13. (a) Write about the properties of Coefficient of 
Correlation. 

   uμÁ›ø\ Ehß öuõhº¦UöPÊÂß £s¦PÒ £ØÔ 

GÊxP. 

Or 

 (b) Find the data given below, calculate regression 
equation of Y on X. 

X 1 2 3 4 5 8 10

Y 9 8 10 12 14 16 15

  R÷Ç öPõkUP¨£mkÒÍ ÂÁõμ[PÐUS Y «x X °ß 

¤ßÚøhÄ \©ß£õk PõsP. 

X 1 2 3 4 5 8 10

Y 9 8 10 12 14 16 15
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14. (a) Explain the problems in construction of Index 
Number. 

   SÔ±mk Gs Po¨¤ß ö£õÊx HØ£k® 

¤μa\øÚPøÍ ÂÍUSP. 

Or 

 (b) Calculate Price Index Number for 1948 by Fisher 
Method: 

 1935 1945 

Commodity Price Quality Price Quality

A 4 50 10 40 

B 3 10 9 2 

C 2 5 4 2 

  L¤åº •øÓ ‰»® 1948 B® BsiØPõÚ Âø»U 

SÔ±mk GsønU PnUQkP. 

 1935 1945 

£sh® Âø» uμ® Âø» uμ® 

A 4 50 10 40 

B 3 10 9 2 

C 2 5 4 2 

15. (a) Write a short notes on methods of Moving Average. 

   |P¸® \μõ\›°ß •øÓPÒ SÔzx ]Ö SÔ¨¦ GÊxP. 

Or 

 (b) Calculate the Moving Average method: (2 Years) 
Year I II III IV V 

Production 9000 12000 14000 16000 20000

   |P¸® \μõ\› •øÓø¯U PnUQkP. (2 BskPÒ) 

Bsk I II III IV V 

EØ£zv 9000 12000 14000 16000 20000
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the different methods of Sampling. 

 £À÷ÁÖ Âu©õÚ ©õv› Gkzu¼ß •øÓPÒ ¯õøÁ? 

17. Calculate Quartile Deviation: 

Value 20 45 70 95 120 145

Frequency 10 16 32 18 16 8 

 PõÀ©õÚ Â»UPzøu PõsP. 

©v¨¦ 20 45 70 95 120 145

AvºöÁs 10 16 32 18 16 8 

18. Find the Co-efficient of concurrent Deviation. 

X 3 9 12 15 18 21 24

Y 10 20 25 30 40 45 50

 J÷μ ÷|μzvÀ Â»P¼ß Cøn ö\¯ÀvÓøÚU PshÔ¯Ä®. 

X 3 9 12 15 18 21 24

Y 10 20 25 30 40 45 50

19. Write down the uses of Index Numbers. 

 SÔ±mk GsPÎß £¯ß£õkPøÍ GÊxP. 
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20. Calculate Trend value using the method of Least Square. 

Year 2014 2015 2016 2017

Profit 50 54 60 90 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x }shPõ» ÷£õUQøÚ 

÷|º÷Põmk •øÓ°À PõsP.  

Bsk 2014 2015 2016 2017

»õ£® 50 54 60 90 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the features of partnership? 

 Tmhõsø©°ß ußø©PÒ ¯õøÁ? 

2. What do you mean by Fluctuating capital? 

 ©õÖ£k® •uÀ Gß£x £ØÔ E©x P¸zx ¯õøÁ? 

3. What is New Profit sharing ratio? 

 ¦v¯ C»õ£ £QºÄ ÂQu® GßÓõÀ GßÚ? 

4. What is gaining ratio? 

 Buõ¯ ÂQu® Gß£x GßÚ? 

5. What are the adjustments to be made at the time of 
retirement of a partner? 

 £[Suõμº K´Ä ö£Ö® ö£õÊx ö\´¯ ÷Ási¯ 
\›UPmhÀPÒ ¯õøÁ? 

6. State the meaning of Amalgamation of Firm. 

 {ÖÁÚ JßÔøn¨¦ Gß£uß ö£õ¸øÍ SÔ¨¤kP. 

Sub. Code 
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7. What is realization account? 
 wºÄ PnUS GßÓõÀ GßÚ? 

8. Give the accounting entry for expenses on dissolution. 
 Pø»¨¤ß «x EÒÍ ö\»ÄPÐUS PnUS £vøÁ u¸P. 

9. What is piecemeal distribution? 
 AÆÁ¨ ÷£õøu¯ £QºÄ GßÓõÀ GßÚ? 

10. A, B and C were partners sharing profits in the ratio of 
5:4:1. A retires from the firm, calculate the new profit 
sharing ratio. 

 A, B ©ØÖ® C BQ¯ TmhõÎPÒ •øÓ÷¯ 5:4:1 GßÓ 
ÂQuzvÀ C»õ£[PøÍ ¤›zxU öPõshÚº. 
{ÖÁÚzv¼¸¢x A Gß£Áº Â»QÚõº. AÁºPÎß ¦v¯ 
C»õ£ ÂQu[PøÍ PnUQkP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is the need for admission of a partner? 
  £[Suõμøμ ÷\º£uß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Balu and Seenu are partners sharing profit and 
losses equally with capital of Rs. 60,000 and  
Rs. 40,000 respectively. Their drawings during the 
year are as follows 

 Rs. 

31.03.2019 1,000 

30.04.2019 1,200 

01.07.2019 900 

01.12.2019 2,800 

  Seenu drew Rs.400 at end of each month. The deed 
provides interest on capitals and drawings at 6%. 
Calculate interest on capitals and drawings. 
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  £õ¾Ä®, ^Ý® Tmk ÁoP {ÖÁÚ® JßÔß 
£[SuõμºPÍõP EÒÍÚº. CÁºPÍx •øÓ÷¯  
¹. 60,000 ©ØÖ® ¹. 40,000 BP EÒÍx. AÁºPÒ 
{ÖÁÚzvß C»õ£ |mhzøu \› \©©õP¨ £[Qmk 
öPõÒQßÓÚº. |h¨¦ BsiÀ CÁºPÐx Gk¨¦ 
ÂÁμ® ¤ß Á¸©õÖ. £õ¾ AÁºPÎß Gk¨¦ 
•øÓ÷¯ 

 ¹. 

31.03.2019 1,000 

30.04.2019 1,200 

01.07.2019 900 

01.12.2019 2,800 

  ^Ý JÆöÁõ¸ ©õu CÖv°¾® ¹.400 GkUQÓõº. 
Tmk ÁoP® £zvμ® •uÀ ©ØÖ® Gk¨¦ «x 
•øÓ÷¯ 6% Ámi ÂvUQÓx. •uÀ ©ØÖ® Gk¨¦ 
«uõÚ Ámiø¯ PnUQkP. 

12. (a) What is the purpose for which the revaluation 
account is prepared? 

  ©Ö ©v¨¥mk PnUS u¯õ›¨£vß ÷|õUP® ¯õx? 

Or 

 (b) A, B and C are partners sharing profits equally. 
They admit D in to partnership for 1/4th share in the 
future profit. D is to bring in Rs. 9,000 for goodwill. 
No goodwill account appears in the books. They 
withdrew half of the goodwill. Journalise, the 
transactions related to Goodwill. 

  A, B ©ØÖ® C BQ÷¯õº \© ÂQu TmhõÎPÒ, 
CÁºPÒ D Gß£Áøμ 1/4 £[QØS Tmhõsø©°À 
÷\ºzxU öPõshÚº. D Gß£Áº |Øö£¯¸UPõP 
¹.9,000 öμõUP©õP öPõsk Áμ Â¸UQÓõº. 
PnU÷PkPÎÀ |Øö£¯º HxªÀø». CÁºPÒ 
|Øö£¯›À £õvø¯ Gkzxa ö\ßÓÚº. |Øö£¯º 
SÔzu |hÁiUøPPøÍ SÔ¨÷£miÀ £vP. 
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13. (a) What are the problems that come up while existing 
firms are merged into new firms? 

  ¦v¯ {ÖÁÚ[PÐhß £øÇ¯ {ÖÁÚ[PøÍ 
CønUS® ö£õÊx HØ£k® ¤μa\ønPÒ ¯õøÁ? 

Or 

 (b) A. B and C were partners sharing profits in the 
ratio 5 : 3 : 1. A retires from the firm. Calculate the 
new Profits sharing ratio and Gaining ratio. 

  A,B ©ØÖ® C BQ÷¯õº 5:3:1ÂQuzvÀ C»õ£[PøÍ 
£Q¸® TmhõÎPÒ. A Âø»P¼ß ö£õ¸mk ¦v¯ 
ÂQu® ©ØÖ® Buõ¯ ÂQu® PõsP. 

14. (a) Draw a specimen form of realization account. 
  wºÄ PnUQß ©õv› £iÁ® ÁøμP. 

Or 

 (b) Explain the provisions of settlement of accounts of 
partners in case of dissolution. 

  {ÖÁÚ® Pø»UP¨£k® ö£õÊx PnUøP •iÄ 
ö\´²® ö£õÊx Põq® \μzxUPÒ ¯õøÁ? 

15.  (a) What are the various method of calculating 
purchase consideration on sale of firm? 

  {ÖÁÚ ÂØ£øÚ°À öPõÒ•uÀ ©Ö£¯ß PnUQk® 
•øÓPÒ ¯õøÁ? 

Or 

 (b) A, B and C are equal partners. They decide to 
dissolve the firm on 31.12.2019. On that date their 
Balance sheet was as under. 

Liabilities Rs. Assets Rs. 

Capital A/C  Sundry Assets 1,98,000

A 90,000 Cash at Bank 12,000

B 60,000  

C 15,000  

Creditors 45,000  

 2,10,000  2,10,000
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  The other assets realized 50% of their book value. 

The realization expenses amounted to Rs. 9,000.  

C became insolvent and was unable to contribute 

anything towards the debts of the firm. Show the 

necessary accounts as per Garner Vs Murray 

principle. 

  A, B ©ØÖ® C BQ÷¯õº \›\© TmhõÎPÒ AÁºPÒ 

31.12.2019 AßÖ Tmhõsø© Pø»UP •iÄ 

ö\´uÚº. A¢u |õÎß C¸¨¦ {ø»U SÔ¨¦ 

Á¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

‰»uÚU P/S  Á[Q°À öμõUP® 1,98,000

A 90,000 £Ø£» ö\õzxUPÒ 12,000

B 60,000  

C 15,000  

PhÜ¢÷uõº 45,000  

 2,10,000  2,10,000

 ©ØÓ ö\õzxUPÒ Hmk ©v¨¤À 50% wºÄ ö\´¯¨£mhx. 

wºÄ ö\»ÄPÒ ¹. 9000 BQÚ. C ö|õizx ÷£õÚõº ©ØÖ® 

AÁμõÀ Tmhõsø©US EÒÍ PhÛÀ GxÄ® £[PÎUP 

•i¯õx. PõºÚº Gvº •º÷μ Âv¨£i ÷uøÁ¯õP 

PnUSPÒ u¯õº ö\´P. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Show how the following items will appear in the capital 

accounts of the partners, Babu and Gopi when their 

capitals are fluctuating: 

Particulars Babu  

(Rs.) 

Gopi 

(Rs.) 

Capital as on 1.1.2019 8,00,000 7,00,000

Drawings during 2019 1,60,000 1,40,000

Interest on drawings at 5% 4,000 2,000

Share of profit for 2019 84,000 66,000

Interest on capital at 6% 48,000 42,000

Partners salary 72,000 Nil

 £õ¦ ©ØÖ® ÷Põ¤ GßÓ TmhõÎPÒ •uÀ ©õÖ£k® •uÀ 

GÚU öPõsk •uÀ PnUSPøÍ u¯õ›UPÄ®. 

Â£μ® £õ¦ ¹. ÷Põ¤ ¹

1.1.2019 À •uÀ  8,00,000 7,00,000

Gk¨¦ 2019 À 1,60,000 1,40,000

Gk¨¤ØS 5% Ámi 4,000 2,000

2019 À »õ£¨ £[S 84,000 66,000

•uÀ «x Ámi 6% 48,000 42,000

£[Suõμº \®£Í® 72,000 CÀø»
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17. Arun and Banu are partners sharing profits and losses in 

the ratio of 3: 1. Their balance sheet as on 31st December 

2019 stood as follows: 

Liabilities Rs. Assets Rs. 

Capital:  Cash at bank 45,000

Arun 60,000 Bills receivable 6,000

Banu 32,000 Debtors 32,000

Creditors 75,000 Stock 40,000

General reserve 8,000 Furniture 2,000

  Land and Building 50,000

 1,75,000  1,75,000

 They admit C into partnership on 1st January 2020 on the 

following terms: 

 (a) That C pays Rs. 20,000 as his capital for 1/5th share 

in the future profits 

 (b) That goodwill account be raised in the books of the 

new firm at a value of Rs. 40,000 

 (c) That stock and furniture be reduced by 10% and a 

5% provision for doubtful debts be created on 

debtors 

 (d) That the value of land and buildings be appreciated 

by 20%. Prepare necessary ledger accounts and 

balance sheet of the new firm. 
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  A¸s ©ØÖ® £õÝ BQ÷¯õº C»õ£ |mh[PøÍ 3 : 1 

GßÓ ÂQuzvÀ £Qº¢x öPõÒÐ® TmhõÎPÒ, 2019 

i\®£º 31 AßÖ AÁºPÍx C¸¨¦ {ø»U SÔ¨¦ 

¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ : Á[Q°À öμõUP® 45,000

          A 60,000 ö£ÖuØS›¯ ©õØÖ^mk 6,000

          B 32,000 PhÚõÎPÒ 32,000

PhÜ¢÷uõºPÒ 75,000 \μUQ¸¨¦ 40,000

ö£õxUPõ¨¦ 8,000 AøÓP»ßPÒ 2,000

 {»® ©ØÖ® Pmih® 50,000

 1,75,000  1,75,000

 2020, áÚÁ› 1, AßÖ RÌUPõq® {£¢uøÚPÎß £i C 
Gß£Áøμ AÁºPÒ TmhõÎ¯õP ÷\ºzxU öPõshÚº. 

 (A) GvºPõ» »õ£zvÀ 1/5 £[S ö£ÖÁuØPõP C 
¹.20,000 •uÀ öuõøP ö\¾zu ÷Ásk®.  

 (B) ¦v¯ {ÖÁÚzvß HkPÎÀ |Øö£¯º ¹.40,000 

©v¨¤À ÷uõØÖ ÂUP ÷Ásk®. 

 (C) \μUQ¸¨¦ ©ØÖ® AøÓP»ßPÒ 10%  SøÓUP 

÷Ásk®. ÷©¾® PhÚõÎPÒ «x I¯U PhÝUPõP 

5% JxUS HØ£kzu ÷Ásk®. 

  (D) {»•® Pmih® ©v¨ø£ 20% E¯ºzu ÷Ásk® 

÷uøÁ¯õÚ ÷£÷μmk PnUSPøÍ {ÖÁÚzvß 

HkPÎÀ u¯õº ö\´x ¦v¯ {ÖÁÚzvß C¸¨¦ 

{ø» SÔ¨ø£ u¯õº ö\´P. 
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18. Sundar, Suresh and Sankar were partners sharing profits 
in the ratio of 3 : 2: 1 respectively. On 31.3.2020 their 
Balance Sheet stood as follows. 

Liabilities Rs. Assets  Rs. 

Creditors 1,90,000 Cash 25,000

Bills payable 50,000 Debtors 1,60,000

General Reserve 1,20,000 (–) Provision
        Stock 

5,000 1,55,000
2,50,000

Capital:   Machinery 4,30,000

Sundar 4,00,000 Premises 4,50,000

Suresh 3,00,000  

Sankar 2,50,000  

 13,10,000   13,10,000

 Suresh retires on that date on the following adjustment: 

 (a)  To raise reserve for bad debts by Rs. 19,500. 

 (b)  Good will of the firm is to be valued at Rs. 1,80,000 

 (c)  To depreciate machinery by 10%. 
 (d)  To increase the value of stock by Rs. 30,000. 

 (e)  To increase the premises value by 10%. 

  Sundar and Sankar decided to write off firm’s 
goodwill. The new profit-sharing ratio is 3 : 2 
Prepare. Revaluation Account. Capital Account, and 
Balance Sheet. 

  _¢uº, _÷μè ©ØÖ® \[Pº BQ÷¯õº C»õ£[PøÍ  
3 : 2 : 1 ÂQuzvÀ £Q¸® TmhõÎPÒ 31.3.2020 
AßÖ CÁºPÎß C¸¨¦ {ø» SÔ¨¦ RÌÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ  ¹. 

PhÜ¢÷uõº 1,90,000 öμõUP® 25,000
ö\¾zxuØS›¯ 
©õØÖ ^mk 

50,000 PhÚõÎPÒ 1,60,000

ö£õxPõ¨¦  1,20,000 (–) JxUS 5,000 1,55,000

•uÀPÒ :  \μUQ¸¨¦ 2,50,000
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ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ  ¹. 

             _¢uº 4,00,000 C¯¢vμ® 4,30,000

_÷μè 3,00,000 ÁõÍP® 4,50,000

            
   \[Pº 

2,50,000  

 13,10,000   13,10,000

 _÷μè Â»S® C¢uz ÷uv°À ö\´¯ ÷Ási¯ 
\›UPmkuÀPÒ. 

 (A) ÁμõUPhß JxUS ¹. 19,500 BÀ E¯ºzu¨£h 
÷Ásk®. 

 (B) {ÖÁÚ |Øö£¯º ¹. 1,80,000 GÚ ©v¨¤h¨£h 
÷Ásk® 

 (C) C¯¢vμ® 10% ÷u´©õÚ® GÊu¨£h ÷Ásh® 

 (D) \μUQ¸¨¦ ¹. 30,000 BÀ E¯ºzuÄ® 

 (E) ÁÍõPzvß ©v¨¦ 10% E¯ºzuÄ®. 

 _¢uº ©ØÖ® \[Pº u[PÒ {ÖÁÚzvÀ |Øö£¯øμ 
÷£õUöPÊu •iÄ ö\´uÚº. ¦v¯ ÂQu® 3:2  
©Ö©v¨¥mk PnUS, •uÀ PnUS, C¸¨¦ {ø»U SÔ¨¦ 
u¯õ›UP. 

19. A, B, C and D were partners sharing profits in the ratio 
3:2:3:2. Their Balance Sheet on the date of dissolution 
was as under. 

Balance Sheet 
Liabilities Rs. Assets Rs. 

Capital:  A 10,000 Assets 17,000

      B 5,000 Capital C 6,360

Reserve account 4,000 D 1,640

Creditors 6,000  

 25,000  25,000
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 On the above date C becomes insolvent and was able to 
contribute only 50 paise in the Rupee.  

 Assets realized Rs. 12,500. Realization expenses Rs. 400.  

 Prepare Realization account and Capital account of C. 

 A,B,C ©ØÖ® D  Gß£ÁºPÒ 3:2:3:2 ÂQu £[SuõμºPÒ. 
Pø»¨¤ß ÷£õx AÁºPÍx C¸¨¦ {ø»U SÔ¨¦ 
uμ¨£mkÒÍx. 

C¸¨¦ {ø»U SÔ¨¦ 

ö£õ¸¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

•uÀ   A 10,000 ö\õzxUPÒ 17,000

            B 5,000 •uÀ  C 6,360

Põ¨¦ P/S 4,000        D 1,640

PhÜ¢÷uõºPÒ 6,000  

 25,000  25,000

A¢u ÷uv°À ‘C’ ö|õi¨¦ {ø» Aøh¢uõº, AÁμõÀ 
¹£õ´US 50 ø£\õ Ãu® öμõUP® AÎUP •i¢ux ö\õzx 
ÂØ£øÚ ¹. 12,500, Pø»¨¦ ö\»Ä ¹. 400 wºÄ P/S 

©ØÖ® ‘h’ °ß ‰»uÚ PnUøP u¯õ›UPÄ®. 

20. Following is the balance sheet of A, B and C who share 
profits and losses in the ratio of 2:2:1. 

Liabilities Rs. Assets Rs. 

Sundry Creditors 30,000 Cash in hand 4,000

Capital:  Sundry debtors 24,000

A 30,000 Stock 44,000

B 24,000 Furniture 20,000

C 8,000  

 92,000  92,000



F–7983 

  

  12

 The firm was dissolved and the assets were realised 
gradually. Rs. 20,000 were received in 1st instalment,  
Rs. 30,000 in the 2nd instalment and Rs. 18,000 in the  
3rd instalment. Show how each instalment is distributed 
under maximum loss method. 

 C»õ£ |mh[PøÍ 2:2:1 GßÓ ÂQuzvÀ £Qº¢x 
öPõÒÐ® A,B ©ØÖ® C BQ÷¯õμx C¸¨¦ {ø»U SÔ¨¦ 
¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõºPÒ 30,000 øP°¸¨¦ öμõUP® 4,000

•uÀ  £Ø£» PhÚõÎPÒ 24,000

A 30,000 \μUQ¸¨¦ 44,000

B 24,000 AøμP»ßPÒ 20,000

C 8,000  

 92,000  92,000

 {ÖÁÚ® Pø»UP¨£mk ö\õzxUPÒ £i¨£i¯õP wºÄ 
ö\´¯¨£mhÚ, •uÀ uÁøn¯õP ¹. 20,000, Cμshõ® 
uÁøn¯õP ¹. 30,000, ‰ßÓõ® uÁøn¯õP ¹. 18,000 
ö£Ó¨£mhx JÆöÁõ¸ uÁøn²® GÆÁõÖ 
£Qº¢uÎUP¨£mhx, Gß£øu AvP £m\ |mh •øÓ°À 
PõmkP. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is E-Commerce? 

 ªßÚÝ ÁoP® GßÓõÀ GßÚ? 

2. Give any two difference between traditional Commerce 
and e-commerce. 

 £õμ®£›¯ ÁoP® ©ØÖ® ªß ÁoPzvØS® EÒÍ 
Cμsk ÷ÁÖ£õkPøÍ TÖP. 

3. What is credit  card? 

 Phß Amøh GßÓõÀ GßÚ? 

4. Define internet. 

 Cøn¯uÍ® £ØÔ ÁøμÂ»UPn® TÖP. 

5. What do you understand the term “Electronic payment 
system”? 

 ªß Pmhn •øÓ £ØÔ }Ãº AÔÁx ¯õx? 
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6. Write a short notes on supply chain management (SCM). 

 ÁÇ[PÀ \[Q¼ ÷©»õsø© £ØÔ ]Ö SÔ¨¦ ÁøμP. 

7. Mention any two importance of internet in E-Commerce. 

 ªß ÁoPzvØS Cøn¯uÍzvß •UQ¯zxÁ® Cμsk 
TÖ. 

8. State the concept of internet Architecture. 

 Cøn¯ Pmhø©¨¦ GßÓ P¸zx £ØÔ TÖP. 

9. What is FTP? 

 FTP GßÓõÀ GßÚ? 

10. What is search engine? 

 ÷uhÀ ö£õÔ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List the merits and demerits of E-Commerce. 

  ªß ÁoPzvß |ßø© wø©PøÍ £mi¯¼kP. 

Or 

 (b) What is the information super high way or I-way? 

  I-way uPÁÀPÒ AÀ»x ]Ó¨¦ E¯ºÄ ÁÈ uPÁÀPÒ 
GßÓõÀ GßÚ? 

12. (a) Explain the components of the Internet world. 

  Cøn¯uÍ E»Pzvß TÖPøÍ ÂÍUSP. 

Or 

 (b) What is EDI? How it build business relationships? 

  EDI GßÓõÀ GßÚ? Ax GÆÁõÖ ÁoP öuõhºø£ 
Pmhø©UQÓx? 
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13. (a) Define supply chain. List down the categories of 
supply chain management. 

  ÁÇ[PÀ _ÇØa]ø¯ Áøμ¯øÓ ö\´P. ÷©¾® Auß 
¤›ÄPøÍ £mi¯¼kP. 

Or 

 (b) What are the applications of EDI? Mention its 
merits and demerits. 

  EDI °ß ¤÷μõ÷¯õP® ¯õøÁ? ÷©¾® Auß |ßø© 
wø©PøÍ TÖP. 

14. (a) Explain various types of Internet access products 
and services. 

  öÁÆ÷ÁÖ Cøn¯uÍ® öuõhº¦øh¯ EØ£zv 
©ØÖ® ÷\øÁPøÍ ÂÍUSP. 

Or 

 (b) What are the components of the web architecture? 

  Áø»u» Pmhø©¨¦PÎß EÒÏkPÒ ¯õøÁ? 

15.  (a) Explain the various application of internet 
client/server architecture. 

  Cøn¯ ÷\øÁ AÎ¨£Áº, £¯ÚõÍº Pmhø©¨¤ß 
öÁÆ÷ÁÖ ¤÷μõ÷¯õP[PøÍ ÂÍUSP. 

Or 

 (b) Discuss the various Internet Services. 

  öÁÆ÷ÁÖ Cøn¯uÍ ÷\øÁPøÍ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Examine the various models in E-Commerce. 

 ªß ÁoPzvß öÁÆ÷ÁÖ •øÓPøÍ ÂÍUSP. 

17. Explain the functions modern payment systems. 

 |ÃÚ £n® ÁÇ[PÀ ö\¯À£õmk •øÓø¯ ÂÍUSP. 
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18. Discuss the process of E-Supply Chain Management. 

 ªß ÁÇ[PÀ _ÇØ] ÷©»õsø© ö\¯À•øÓPøÍ ÂÁ›. 

19. Describe the physical structure of the Internet. 

 Cøn¯uÍ C¯À Aø©¨¦ •øÓPøÍ ÂÁ›. 

20. Describe the advance technology which has facilitated e-
commerce. 

 |ÃÚ öuõÈÀ~m£® ªß ÁoPzvØS HØÓ Á\v ö\´QÓx 
Gß£øu ÂÍUSP. 

 
 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is need of header files in C++? 

 ]++ CÀ uø»¨¦ ÷Põ¨¦PÎß ÷uøÁ GßÚ? 

2. Define Inline Function. 

 Cßø»ß ö\¯À£õmøh Áøμ¯ÖUPÄ®. 

3. What is mean by Array? 

 Á›ø\ GßÓõÀ GßÚ? 

4. How to declare function and give syntax? 

 ö\¯À£õmøh AÔÂ¨£x ©ØÖ® öuõh›¯À öPõk¨£x 
G¨£i? 

5. What is the importance of Constructor? 

 Pmhø©¨£õÍ›ß •UQ¯zxÁ® GßÚ? 
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6. Give the difference between constructor and method. 

 Pmhø©¨£õÍ¸US® •øÓUS® EÒÍ Âzv¯õ\zøuU 
öPõkUPÄ®. 

7. What do you mean by Base class? 

 Ai¨£øh ÁS¨£õÀ }[PÒ GßÚ ö\õÀQÕºPÒ? 

8. What is String and give example? 

 \μ® GßÓõÀ GßÚ ©ØÖ® Euõμn® öPõkUPÄ®? 

9. Define the term Stream. 

 ìmŸ® GßÓ ö\õÀø» Áøμ¯ÖUP. 

10. What do you mean by istream and ostream? 

 IìmŸ® ©ØÖ® BìmŸ® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Describe the concept of function overloading. 

  ö\¯À£õmk KÁº÷»õi[ GßÓ P¸zøu £ØÔ 
ÂÁ›UPÄ®. 

Or 

 (b) Explain User defined functions with example. 

  £¯Úº Áøμ¯ÖUP¨£mh ö\¯À£õkPøÍ 
GkzxUPõmkhß ÂÍUSP. 

12. (a) Explain Friend functions with suitable example. 

  ö£õ¸zu©õÚ ö\¯À£õkPÐhß ¨μsh 
ö\¯À£õkPøÍ ÂÍUSP. 

Or 
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 (b) Write a brief note on array with a class with 
example. 

  GkzxUPõmkhß J¸ ÁS¨ø£U öPõsk Á›ø\ 
£ØÔ _¸UP©õÚ SÔ¨ø£ GÊxP. 

13. (a) List the characteristics of constructors. 

  Pmhø©¨£õÍºPÎß £s¦PøÍ £mi¯¼kP. 

Or 

 (b) To write a C++ program to check given number is 
palindrome or not. 

  öPõkUP¨£mh Gs palindrome GßÖ \›£õºUP C++ 
{μø» GÊxP. 

14. (a) Differentiate abstract class and virtual base class. 

  _¸UP ÁºUPzøu²® ö©´{Pº Ai¨£øh 
ÁS¨ø£²® ÷ÁÖ£kzxP. 

Or 

 (b) Write programs which explain the concept of 
Multiple Inheritance. 

  £» £μ®£øμ GßÓ P¸zøu ÂÍUS® {μÀPøÍ 
GÊxP. 

15.  (a) How to use pointer in C++? Explain pointer with 
syntax. 

  ]++ CÀ _miUPõmi GÆÁõÖ £¯ß£kzxÁx? 
öuõh›¯À ‰»® _miUPõmi ÂÍUSP. 

Or 

 (b) Describe about unformatted I/O operations. 

  ÁiÁø©UP¨£hõu I/O ö\¯À£õkPÒ £ØÔ 
ÂÁ›UPÄ®. 
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 Part C (3 × 10 = 30) 

Answer any three questions. 

16. Explain the various operator types in C++. 

 ]++CÀ EÒÍ £À÷ÁÖ B£÷μmhº ÁøPPøÍ ÂÍUSP. 

17. How to member function define inside class and outside 
the class? 

 EÖ¨¤Úº ö\¯À£õk GÆÁõÖ ÁS¨¤ÝÒ ©ØÖ® 
ÁS¨¤ØS öÁÎ÷¯ Áøμ¯ÖUP¨£kQÓx? 

18. Discuss about destructor with suitable example. 

 ö£õ¸zu©õÚ Euõμnzxhß iìmμUhº £ØÔ 
ÂÁõvUPÄ®. 

19. Explain unary operator overloading with example 
program. 

 GkzxUPõmk {μ¾hß unary B£÷μmhº KÁº÷»õi[øP 
ÂÍUSP. 

20. Write brief note on C++ stream classes. 

 ]++ ìmŸ® ÁS¨¦PÎÀ _¸UP©õÚ SÔ¨ø£ GÊxP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Retention Money?  

 £n® øÁzv¸zuÀ GßÓõÀ GßÚ? 

2. Write short note on: Estimated profit. 

 ]Ö SÔ¨¦ GÊxP: ©v¨¤h¨£mh C»õ£®. 

3. Write short note on: Surplus 

 ]Ö SÔ¨¦ GÊxP: E£›. 

4. What is work in progress? 

 •Êø© ö£Óõ£o GßÓõÀ GßÚ? 

5. Mention any four important terms in the hire purchase 
system. 

 ÁõhøP öPõÒøP •øÓ°ß |õßS •UQ¯©õÚ ö\õØPøÍ 
SÔ¨¤kP. 

6. Write short note on: Partial Repossession. 

 ]Ö SÔ¨¦ GÊxP: £Sv v¸®£U ö£ÖuÀ. 
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7. What is deficiency account? 

 £ØÓõUSøÓ PnUS GßÓõÀ GßÚ? 

8. Write a specimen of deficiency account. 

 £ØÓõUSøÓ PnUQß ©õv› £iÁzøu GÊxP. 

9. What do you understand the term dependent branches? 

 \õº¦ QøÍPÒ GßÓ ö\õÀø» }[PÒ GßÚ ¦›¢x 
öPõÒQÕºPÒ? 

10. Give any four objects of branch accounts. 

 QøÍ PnUSPÎß ÷|õUP[PÒ H÷uÝ® |õßS GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) The following particulars are in respect of contract 
No. 10 which commenced on 1.1.2008 

 Rs. 

Materials issued 1,16,000 

Direct wages 1,50,000 

Cost of special plant 60,000 

Direct expenses 24,000 

Establishment charges 16,000 

  The contract was completed by 31-12-2008. The 
contract price was Rs. 3,50,000. The value of 
materials returned to stores was Rs. 10,000. The 
special plant was returned to stores subject to 
depreciation at 40% p.a. Contract price was received 
in full on 31-12-2008. Prepare Contract A/c and 
Contractee’s A/c. 
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  1.1.2008 AßÖ öuõh[Q¯ J¨£¢u Gs.10 
öuõhº£õP ¤ßÁ¸® ÂÁμ[PÒ EÒÍÚ. 

 ¹. 

ö£õ¸mPÒ ÁÇ[Q¯x 1,16,000 
÷|μi T¼ 1,50,000 
]Ó¨¦ uÍÁõh ö\»Ä 60,000 
÷|μi ö\»ÄPÒ 24,000 
{ÖÄuÀ Pmhn[PÒ 16,000 

  J¨£¢u® 31.12.2008 USÒ {øÓÁøh¢ux. J¨£¢u 
Âø» ¹. 350000. PøhPÐUSz v¸®¤¯ 
ö£õ¸mPÎß ©v¨¦ ¹. 10000. ]Ó¨¦ uÍÁõh 
÷u´©õÚzvØS Em£mh PøhPÐUS Á¸hzvØS 
40%. J¨£¢u Âø» 31.12.2008 AßÖ •Êø©¯õP 
ö£Ó¨£mhx. J¨£¢u PnUS ©ØÖ® J¨£¢uUPõμ›ß 
PnUøP u¯õ›UPÄ®. 

Or 
 (b) How do you treat the following in contract accounts?  
  (i)  Materials;  
  (ii) Plant 
  J¨£¢u PnUSPÎÀ ¤ßÁ¸ÁÚÁØøÓ }[PÒ 

GÆÁõÖ P¸xQÕºPÒ?  

  (i) ö£õ¸mPÒ  

  (ii) uÍÁõh® 

12. (a) What is sublease? Explain the accounting procedure 
to be adopted in sublease. 
EÒSzuøP Gß£x ¯õx? EÒSzuøP°ß PnURmk 
•øÓPøÍ ÂÍUSP.  

Or 
 (b) The Bihar Coal Company Ltd. Is lessee of a mine on 

a royalty of 0.50 paise per ton of coal raised, with a 
dead rent of Rs.30000 per annum, and power to 
recoup short workings during the first five years of 
the lease. The output for the first three years was as 
follows: 

  1st Year 15000 tonnes; 2nd year 50000 tonnes;  
3rd  year 75000 tonnes. 

  Draft the necessary journal entries in the books of 
the company giving effect to the above. 
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  ¥Põº {»UP› {ÖÁÚ® ¼ªöhm J¸ _μ[Pzøu J¸ 
hß {»UP›US 0.50 ø£\õ GßÓ E›ø©zöuõøP 
SzuøPUS GkzxÒÍx. CÓ¢u ÁõhøP BsUS  
¹. 30,000 ©ØÖ® SzuøP°ß •uÀ I¢x 
BskPÎÀ SøÓ¢u EØ£zvø¯ v¸®£¨ ö£Ö® 
\Uv •uÀ ‰ßÖ BskPÐUPõÚ öÁÎ±k 
¤ßÁ¸©õÖ.  

  1 B® Bsk 15000 hßPÒ; 2 Áx Bsk 50000 
hßPÒ; 3 Áx Bsk 75000 hßPÒ. 
÷©ØPshÁØøÓ |øh•øÓ¨£kzx® {ÖÁÚzvß 
¦zuP[PÎÀ ÷uøÁ¯õÚ AÔUøPø¯ ÁøμÄ ö\´P. 

13. (a) What are the features of hire purchase agreement? 

  ÁõhøP öPõÒ•uÀ J¨£¢uzvß A®\[PÒ GßÚ? 

Or 

 (b) Explain the accounting treatment on repossession. 

  v¸®£¨ö£ÖuÀ PnUQ¯À £ØÔ ÂÍUSP. 

14. (a) On 1st January 2002 Sundar commenced business 
with Rs. 6,350. He earned a total profit of Rs. 5,554 
during 2002 and 2003. The loss he suffered in 2004 
was Rs.2,500. His total drawings were Rs.9,000. 

Prepare statement of affairs and deficiency account 
from the following information. 

  Cash Rs.230: stock Rs. 1,000 Debtors: Good 
Rs.7,000; Doubtful Rs. 1,800; Bad Debts Rs. 1,500; 
Furniture Rs.564; Investment in Shares Rs.500; 
Unsecured Creditors Rs.13,000; Secured Creditors 
Rs.2,500: Value of Securities held by Creditors 
Rs.3,500; Preferential Creditors Rs. 190. 

  Stock realizes Rs.666; Furniture Rs.282; 
Investments realized the book value. Doubtful debts 
realized Rs.600. 
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  áÚÁ› 1. 2002 AßÖ _¢uº ¹. 6,350 Ehß 
ÁoPzøuz öuõh[QÚõº. AÁº 2002 ©ØÖ® 
2003&B® BskPÎÀ ö©õzu® ¹. 5,554 
\®£õvzuõº. 2004 CÀ AÁº \¢vzu CÇ¨¦  
¹. 2,500. AÁμx ö©õzu Gk¨¦PÒ ¹. 9,000. 
¤ßÁ¸® uPÁÀPÎ¼¸¢x {ø»ø© AÔUøP ©ØÖ® 
SøÓ£õk PnUQß AÔUøPø¯z u¯õ›UPÄ®. 

  öμõUP® ¹. 230; C¸¨¦ ¹. 1,000; PhÚõÎPÒ: 
\μUS ¹. 7,000; I¯UPhß ¹. 1,800; ÁμõUPhßPÒ  
¹. 1,500; C¯¢vμ[PÒ ¹. 564; £[SPÎÀ •u½k 
¹. 500; £õxPõ¨£ØÓ PhÜ¢÷uõº ¹. 13,000; 
£õxPõ¨£õÚ PhÜ¢÷uõº ¹. 2500; PhÜ¢÷uõº 
øÁzv¸US® £zvμ[PÎß ©v¨¦ ¹. 3500; 
•ßÝ›ø© PhÜ¢÷uõº ¹. 190. 
C¸¨¦ ¹. 666; C¯¢vμ® ¹. 282; •u½kPÎß 
©v¨¦ AÍÄ. ÁμõI¯UPhßPÒ ¹. 600. 

Or 
 (b) Discuss the contents of Statement of Affairs. 
  {ø»ø© AÔUøP°ß EÒÍhUP[PøÍ¨ £ØÔ 

ÂÁõvUPÄ®. 

15.  (a) Explain the features of dependent branches 
  \õº¦ QøÍPÎß A®\[PøÍ ÂÍUSP. 

Or 
 (b) From the following particulars relating to the 

Kerala branch for the year ending December 31, 
2018, show the branch account in the books of Head 
Office. 

 Rs. 
Opening stock 1.1 .2018  60,000 
Debtors 1.1.2018 24,000 
Petty cash 1.1.2018 400 
Goods sent to branch 1,00,000 
Goods returned to H.O. 1,200 
Cash sales 60,000 
Credit sales 84,000 
Sales returned to branch 500 
Bad debts written off 600 

Discount allowed 200 



F–7986 

  

  6

 Rs. 

Branch expenses paid by H.O. 6,000 

Petty cash sent to the branch 1,000 

Petty  expenses incurred by the branch 800 

Furniture purchased by the branch 2,000 

Stock on 31.12.2018 25,000 

Cash received from customers 70,000 

 i\®£º 31, 2018 AßøÓ¯ ÷PμÍõ QøÍ°ß RÌUPõq® 
ÂÁμ[PÎÀ C¸¢x, uø»ø© A¾Á»P ¦zuPzvÀ QøÍU 
PnUQøÚU PõmkP. 

 ¹.

1.1 .2018 À \μUS  60,000 

1.1.2018 À PhÚõÎPÒ 24,000 

1.1.2018 À ]À»øμ öμõUP® 400 

QøÍUS AÝ¨£¨£mh \μUS 1,00,000 
uø»ø© A¾Á»PzvØS AÝ¨£¨£mh 
\μUS 

1,200 

öμõUP ÂØ£øÚ 60,000 
Phß ÂØ£øÚ 84,000 
QøÍ°À ÂØ£øÚzv¸¨£® 500 
ÁμõUPhß }UQ¯x 600 
uÒÐ£i ö\´ux 200 
uø»ø© A¾Á»P® HØÖU öPõsh QøÍa 
ö\»ÄPÒ 

6,000 

QøÍUS AÝ¨£¨£mh ]À»øμ öμõUP® 1,000 
QøÍ ö\´u ]À»øμ ö\»ÄPÒ 800 
QøÍ öPõÒ•uÀ ö\´u uÍÁõh® 2,000 

31.12.2018 À \μUS 25,000 

ÁõiUøP¯õÍºPÎhª¸¢x ö£ØÓ öμõUP® 70,000 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The following particular related to a contract undertaken 
by Siva Engineers: 

 Material sent to site Rs. 85,349; Labour engaged on site 
Rs. 74,375; Plan installed at site Rs.15,000; Direct 
expenditure Rs.3,167; Establishment charges Rs.4,126; 
Material returned to stores Rs.549; Work certified 
Rs.1,95,000; Cost of work not yet certified Rs. 4,500; 
Materials in hand at the end of year Rs.1,883; wages 
accrued due at the end of year Rs.2400; Direct 
expenditure accrued due at the end of year Rs. 240; Value 
of Plant at the end of year Rs.11,000; the contract price 
has been agreed to Rs.2,50,000; Cash received from the 
contractee was Rs. 1,80,000. 

 You are required to prepare contract a/c, contractee’s a/c 
and to show suitable entries in the Balance sheet of the 
contractors. 

 ]Áõ ö£õÔ¯õÍºPÍõÀ ÷©ØöPõÒÍ¨£mh J¨£¢u® 
öuõhº£õÚ ¤ßÁ¸©õÖ SÔ¨¤h¨£mhøÁ. 

uÍzvØS AÝ¨£¨£mh ö£õ¸Ò ¹. 85,349 uÍzvÀ 
Dk£mkÒÍ öuõÈ»õÍº ¹. 74,375, uÍzvÀ {ÖÁ¨£mh 
vmh® ¹. 15,000, ÷|μi ö\»Ä ¹. 3,167, {ÖÄuÀ 
Pmhn[PÒ ¹. 4,126, PøhPÐUS v¸®¤¯ ö£õ¸Ò  
¹. 549, £o \õßÔuÌ ¹. 1,95,000, £o ö\»Ä CßÝ® 
\õßÓÎUP¨£hÂÀø» ¹. 4,500, Bsk CÖv°À øP°À 
EÒÍ ö£õ¸mPÒ ¹. 1,883;  Bsk CÖv°À ¹. 2,400 
ö\¾zu ÷Ási¯ T¼, Bsk CÖv°À ö\¾zu ÷Ási¯ 
÷|μi ö\»Ä ¹. 240; Bsk CÖv°À uÍÁõhzvß 
©v¨¦ ¹. 11,000 J¨£¢u Âø» ¹. 2,50,000 BP 
J¨¦UöPõÒÍ¨£mkÒÍx. J¨£¢uUPõμ›hª¸¢x 
ö£Ó¨£mh £n® ¹. 1,80,000. 

 J¨£¢u PnUS ©ØÖ® J¨£¢uPõμ›ß ö£õ¸zu©õÚ 
PnUSPøÍ C¸¨¦{ø»USÔ¨¤khß u¯õº ö\´¯Ä®. 
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17. RR Ltd. Leased a mine in 2005 from AR Ltd. On the 
following terms: 

 Royalty payable Re.0.50 per tonne on actual raising 
subject to a minimum rent of Rs.2000 per annum with 
right to recoup minimum rent out of subsequent 2 years 
workings. 

 RR Ltd. Gave sub-lease of a portion of the mine in 2005 to 
XY Ltd. On the following terms: 

 Royalty payable Re.0.75 per tonne on actual raising 
subject to a minimum rent of Rs.750 per annum, the 
minimum rent being recoverable out of subsequent  
2 years workings. The raisings were: 

Year Mines operated  
by RR Ltd.  
(Tonnes) 

Mines operated 
by XY ltd.  
(Tonnes) 

2005 4000 – 
2006 2000 1000 
2007 1200 800 
2008 5000 600 
2009 2000 3000 

 Show the ledger accounts in the books of RR Ltd. 

 RR ¼ªöhm 2005 CÀ AR ¼ªöhm {ÖÁÚzvhª¸¢x 
J¸ _μ[Pzøu ¤ßÁ¸® Âv•øÓPÎÀ SzuøPUS 
Gkzux. 

Esø©¯õÚ E¯ºÄUS J¸ hßÝUS ¹. 0.50 ö\¾zu 
÷Ási¯ E›ø©zöuõøP BskUS SøÓ¢u£m\®  
¹. 2,000 ÁõøhøPUS Em£mk, Akzukzu 2 Bsk 
÷Áø»PÎÀ C¸¢x SøÓ¢u£m\ ÁõhøPø¯  v¸®£¨ 
ö£ÖÁuØPõÚ E›ø©²hß, RR ¼ªöhm 2005 B® 
BsiÀ _μ[Pzvß J¸ £Svø¯ XY ¼ªöhm 
{ÖÁÚzvØS xøn SzuøPUS ÁÇ[Q¯x. ¤ßÁ¸® 
Âv•øÓPÎÀ: 

 BskUS SøÓ¢u£m\® ¹. 750 ÁõhøPUS Em£mk 
Esø©¯õÚ E¯ºÄUS J¸ hßÝUS ¸. 075 ö\¾zu 
÷Ási¯ E›ø©zöuõøP Akzukzu 2 Bsk 
÷Áø»PÎÀ C¸¢x SøÓ¢u£m\ ÁõhøP 
Á`¼UP¨£kQÓx. EØ£zv°ß AÍÄPÒ: 
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Bsk RR Ltd.  
¼ªöhm 
_μ[P[PÒ 
(hßPÒ) 

XY ¼ªöhm 
_μ[P[PÒ (hßPÒ) 

2005 4000 – 
2006 2000 1000 
2007 1200 800 
2008 5000 600 
2009 2000 3000 

 RR ¼ªöhm ÷£÷μmkUPnUSPøÍ u¯õ›UP. 

18. Distinguish between hire purchase system and 
instalment purchase system. 

 ÁõhøP öPõÒ•uÀ •øÓ ©ØÖ® uÁøn öPõÒ•uÀ 
•øÓ ÷ÁÖ£kzxP. 

19. On 31st March 2000 the balance sheet of X and Y was as 
follows: 

 Rs.  Rs. 

Trade creditors 12,000 Machinery 12,000

Bills payable 15,000 Buildings 6,000

Bank overdraft 9,000 Book debts 12,000

Outstanding expenses 600 Cash  600

One month’s salary 600 Stock 18,600

Capital :   

X  6,000   

Y 6,000 12,000  

 49,200  49,200

 X owed personally Rs. 10800 and he had, in addition to 
his interest in the firm, a house which cost Rs. 3000, 
furniture Rs.1200 and life policies on which he had paid 
premiums amounting to Rs.600. 

 Y owed Rs.8400 and he had paid life insurance premium 
amounting to Rs. 1,800 and had furniture which cost 
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Rs.600. It becomes necessary to call the creditors 
together.  

 The partnership assets were valued as follows : 

 Machinery Rs.6,540; Buildings Rs.3,000; Good book debts 
Rs.6000; Doubtful Rs.3,000 (estimated at Rs.1800). Bad 
Rs.3000; Stock Rs. 12,000. 

 X’s property was considered to be worth Rs.3000, his life 
policies Rs.300, and his furniture Rs.900. 

 Y’s life policies were worth Rs.900; his furniture Rs.300. 

 Prepare separate statement of affairs and deficiency 
account of the firm as well as of the partners. 

©õºa 31, 2000 AßÖ X ©ØÖ® Y C¸¨¦{ø» ¤ßÁ¸©õÖ: 

 ¹.  ¹. 

Â¯õ£õμ PhÜ¢÷uõº 12,000 C¯¢vμ® 12,000

ö\¾zxÁuØS›¯ 
©õØÖa^mk 

15,000 Pmih® 6,000

Á[Q ÷©ÀÁøμ¨£ØÖ 9,000 vh©õÚ 
PhÚõÎPÒ 

12,000

öPõk£h ÷Ási¯ 
ö\»ÄPÒ 

600 öμõUP® 600

J¸ ©õu \®£Í® 600 C¸¨¦ 18,600

‰»uÚ®   

X  6,000   

Y 6,000 12,000  

 49,200  49,200

 X uÛ¨£mh •øÓ°À ¹. 10,800 £õUQ øÁzv¸UQÓõº. 
÷©¾® AÁº {ÖÁÚzvÀ BºÁ® Põmi¯÷uõk ¹. 3,000 
uÍÁõh[PÒ ¹. 1,200 ©ØÖ® AÁº ¸. 600 ¤Ÿª¯zøu 
ö\¾zv¯ B¯Ò £õ¼]PÒ. 

 Y ¹. 8,400 £õUQ øÁzv¸¢uõº. ÷©¾® AÁº B¯Ò 
Põ¨¥mk ¤Ÿª¯zøu ¹. 1,800 ö\¾zv°¸¢uõº. ÷©¾® 
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¹.600 ö\»ÂÀ uÍÁõh[PÒ øÁzv¸¢uõº. PhÚõÍºPøÍ 
JßÓõP AøÇ¨£x AÁ]¯©õQÓx. 

 Tmk ö\õzxUPÒ ¤ßÁ¸©õÖ ©v¨¤h¨£mhÚ. 

 C¯¢vμ[PÒ ¹. 6,540 Pmih[PÒ ¹. 3000 |À» ¦zuPU 
PhßPÒ ¹. 6,000 \¢÷uPzvØS›¯ ¸. 3,000 (¹. 1,800 GÚ 
©v¨¤h¨£mkÒÍx). I¯UPhß ¹. 3,000 C¸¨¦  
¹. 12,000. 

 X ö\õzx ©v¨¦ ¹. 3,000, AÁμx B²Ò Põ¨¥k ¹. 300, 
©ØÖ® AÁμx C¯¢vμ[PÒ ¹. 900 GÚ P¸u¨£mhx. 

Y Cß B¯ÒPõ¨¥k ¹. 900 AÁμx C¯¢vμ[PÒ ¹. 300 
{ÖÁÚ® ©ØÖ® TmhõÎPÎß {ø»ø© AÔUøP ©ØÖ® 
£ØÓõUSøÓ AÔUøPøPø¯ u¯õº ö\´P. 

20. Following is the Trial Balance of Shri Mahendra who 
commenced business on January 1, 2000: 

 Rs.  Rs. 

Cash 230 Creditors 18,000

Stock in 
trade 

666 Secured creditors 2500

Debtors 13,000 Preferential claims 
for rent, rates and 
taxes 

190

Furniture 282 Capital 1,350

Investments 
in shares 

500 Profit (2001, 2002) 5,554

Value of 
securities 
held by 
secured 
creditors 

3,500

 

Loss (2003) 2,500  

Drawings 
(upto Dec. 
2003) 

6,916  

 27,594  27,594

 You are required to prepare Statement of Affairs and 
Deficiency account. 
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 áÚÁ› 1, 2000 AßÖ ÁoPzøuz öuõh[Q¯ ï 
©÷P¢vμõÂß C¸¨£õ´Ä ¤ßÁ¸©õÖ: 

 ¹.  ¹. 

öμõUP® 230 PhÜ¢÷uõº 18,000

Â¯õ£õμ 
C¸¨¦ 

666 £õxPõ¨£õÚ 
PhÜ¢÷uõº 

2500

PhÚõÎPÒ 13,000 •ßÝ›ø©PÐUPõÚ 
E›ø© ÁõhøP, 
ÂQu[PÒ ©ØÖ® 
Á›PÒ 

190

C¯¢vμ® 282 ‰»uÚ® 1,350

£[SPÎÀ 
•u½kPÒ 

500 C»õ£® (2001, 
2002) 

5,554

£õxPõUP¨£mh 
PhÚõÎPÒ 
øÁzv¸US® 
£zvμ[PÎß 
©v¨¦ 

 
 

3,500 

 

|mh® (2003) 2,500  

Gk¨¦ (i\®£º 
2003 Áøμ) 

6,916  

 27,594  27,594

 {ø»ø© AÔUøP ©ØÖ® £ØÓõUSøÓ PnUøPz 
u¯õ›UP÷Ásk®. 

  
———————— 



  

F–7987   
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BUSINESS MATHEMATICS  
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Calculate simple interest on Rs. 9,000 at 5% p.a. for 4 

years? 

¹. 9,000US 5% Ãu® 4 BskPÐUS uÛÁmi 

PnUQkP? 

2. Find the amount at compound interest on Rs. 10,500 at 

5% for 3 years? 

¹. 10,500 US 5% TmiÁmi Ãu® 3 BskUS Tmkz 

öuõøP PõsP. 

3. Find the value of a, if 
2
1

10log =a . 

 
2
1

10log =a  GÛÀ ''a  ß ©v¨¦ Põs? 

Sub. Code 
7BCC4C4 
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4. Find the value of 1025log4 . 

 1025log4  ß ©v¨¦ Põs? 

5. Find all subsets of { }4,3,2,1=A . 

 { }4,3,2,1=A  GßÓ Pnzvß AøÚzx (EÖ¨¦PøÍU) 

xøn Pn[PøÍU Põs? 

6. If { } { }gbdfTdcbaS ,,,,,,, ==  then find TS − . 

 { } { }gbdfTdcbaS ,,,,,,, ==  GÛÀ TS − ß EÖ¨¦PøÍU 

Põs? 

7. Define probability. 

 {PÌuPÄ – Áøμ¯Ö 

8. Find the probability when a dice thrown to get six? 

 J¸ £Pøh E¸mh¨£k®ö£õÊx 6 Qøh¨£uØPõÚ 

{PÌuPÄ Põs? 

9. Write down the expansion of 
5

1






 −

x
x . 

 
5

1






 −

x
x  ß Â›ÁõUPzøu GÊxP. 

10. Expand ( )32ba + . 

 ( )32ba +  Gß£øu Â›Ä£kzxP? 
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 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) A sum of money amounts to Rs. 6,200 in 3 years and 

Rs. 6,800 in 4 years. Find the principal and the rate 

of simple interests? 

   J¸ SÔ¨¤mh öuõøP¯õÚx 3 BskPÎÀ  

¹. 6,200 BPÄ®, 4 BskPÎÀ ¹. 6,800 BPÄ® 

C¸UQÓx GÛÀ Auß A\À ©ØÖ® uÛÁmi 

PnUQkP? 

Or 

 (b) Find the banker’s gain on a bill of Rs. 3,750 due in 8 

months at 8% per annum? 

   J¸ μ^x BÚx 8 ©õu[PÎÀ 8% Ãu® (BsiØS) 

¹. 3,750 PnUQh¨£kQÓx GÛÀ AvÀ Á[Q°ß 

»õ£® PnUQkP? 

12. (a) Using logarithms, evaluate 
72.196.18
23.4162.71

×
×

. 

   ©hUøP Âvø¯ £¯ß£kzv 
72.196.18
23.4162.71

×
×

ß 

©v¨ø£ PnUQkP? 

Or 

 (b) If 
ba
z

ac
y

cb
x

−
=

−
=

−
logloglog

, show that 1=xyz .  

   
ba
z

ac
y

cb
x

−
=

−
=

−
logloglog

 GÛÀ 1=xyz  GÚ {¹¤. 
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13. (a) Given that { }5,3,1,0=A , { }7,4,2,1,0=B  & 
{ }8,5,3,2,1=C , prove that 

( ) ( )CBACBA ∩∩=∩∩ . 

   { }5,3,1,0=A , { }7,4,2,1,0=B , { }8,5,3,2,1=C ,  
GßÓ Pn[PÒ öPõkUP¨£mkÒÍÚ. 
( ) ( )CBACBA ∩∩=∩∩  GÚ {¹¤? 

Or 

 (b) Prove that ( ) ( ) ( )CABACBA −∩−=∪− . 

   ( ) ( ) ( )CABACBA −∩−=∪−  GÚ {¹¤. 

14. (a) In a simultaneous throw of a pair of dice, find the 
probability of getting a total more than 7? 

   J÷μ ÷|μzvÀ J¸ ÷áõi £PøhPÒ E¸mh¨£k® 
ö£õÊx, TmkzöuõøP 7US AvP©õP 
Qøh¨£uØPõÚ {PÌuPÄ PnUQkP. 

Or 

 (b) A box contains 10 black and 10 white balls. Find the 
probability of drawing two balls of the same colour? 

   J¸ ö£mi°À 10 P¸¨¦{Ó ©ØÖ® 10 öÁÒøÍ{Ó 
£¢xPÒ EÒÍÚ. AvÀ C¸ £¢xPÒ GkUP¨ö£õÊx 
AøÁ J÷μ P»›À C¸¨£uØPõÚ {PÌuPÄ Põs? 

15. (a) Find the middle term in the expansion of 
16







 +

b
x

x
b

. 

   
16







 +

b
x

x
b

ß Â›ÁõPzvÀ ø©¯ EÖ¨ø£U Psk¤i? 

Or 

 (b) Find the coefficient of 18x  in ( )103bxa − . 

   ( )103bxa − À 18x ß öPÊ Psk¤i? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Define annuity. Write down the formula for the amount 
of annuity due. Find also the present values of an annuity 
of Rs. 5,000 p.a. for 10 years, the interest being 4% p.a. 
compounded annually? 

Bsk öuõøP Áøμ¯Ö ©ØÖ® Á¸hõ¢vμz öuõøPUPõÚ 

`zvμ® GÊxP. ÷©¾® Bsk öuõøP ¹.5,000 p.a. 10 

BsiØS 4% p.a. Ámi Ãu® Tmk Ámi GÛÀ, 
uØ÷£õøu¯ Bskz öuõøP PnUQkP? 

17. If xxxx baba 56232 ⋅=⋅ −− , show that 





=
b
a

xa loglog3 . 

 xxxx baba 56232 ⋅=⋅ −− , GÛÀ 





=
b
a

xa loglog3  GÚ {¹¤. 

18. In a city three daily newspapers CBA ,&,  are published; 

42% of the people in this city read %51;A  read %68;B  

read %30;C  read both %28;& BA  read both  

%36;&CB  read both %8;&CA  do not read any of the 

three newspapers. Find the percentage of persons who 
read all the three papers? 

J¸ |P›À CBA ,&,  GßÓ £zv›UøPPÒ 

¤μ_UQUP£kQßÓÚ. AvÀ 42% ©UPÒ A  £zv›UøP²®, 

%51 ,B  £zv›UøP²®, %68  C  £zv›UøP²®, %30  A  

©ØÖ® B²®, %28 B  ©ØÖ® C  Cμsk®, 36% A  ©ØÖ® 

C  Cμsk® £iUQÓõºPÒ. 8% G¢u £zv›UøP²® 
£iUPÂÀø» GÛÀ GÀ»õ £zv›UøPPøÍ²® £iUS® 
©UPÎß \uÃu® PnUQkP? 
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19. Two dice are thrown. What is the probability that the 
sum of the numbers on the two faces is divisible by 4 or 
6? 

Cμsk £PøhPÒ E¸mh¨£kQßÓÚ. Auß •P[PÎß 
Tmkz öuõøP 4 AÀ»x 6 ÁS£mhõÀ Auß {PÌuPÄ 
PnUQkP? 

20. Using binomial theorem, find the value of 64 10199 + .  

 DÖ¨¦z ÷uØÓzvøÚ £¯ß£kzv, 64 10199 +  ©v¨ø£ 
PnUQkP. 

 

 

 
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write short note on under subscription. 

 SøÓ J¨£® Gß£øu¨ £ØÔ ]Ö SÔ¨¦ GÊxP. 

2. State the meaning of Capital Redemption Reserve. 

 £[S «m¦ Põ¨¦ ö£õ¸Ò u¸P. 

3. Give the meaning of acquisition of business. 

 Â¯õ£õμzøu Áõ[Su¼ß ö£õ¸Ò u¸P. 

4. Define “Pre incorporation profit”. 

 {Ö©¨ £vÄUS •ß EÒÍ C»õ£® £ØÔ Áøμ¯Ö. 

5. What do you mean by revenue from operation? 

 ö\¯À£õkPÎ¼¸¢x Á¸Áõ´ £ØÔ }Âº AÔÁx ¯õx? 

6. Write short notes on “shareholders funds”. 

 £[SuõμºPÎß {v £ØÔ ]Ö SÔ¨¦ GÊxP. 

Sub. Code 
7BCC5C1 
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7. State any two uses of amalgamation. 

 J¸[Qøn¨¤ß £¯ßPÒ H÷uÝ® CμsiøÚ SÔ¨¤kP. 

8. What is ‘absorption’? 

 Dº¨¦ GßÓõÀ GßÚ? 

9. Write a note on ‘Voluntary Winding Up’. 

 ußÚõºÁ Pø»¨¦ Gß£øu¨ £ØÔ ]Ö SÔ¨¦ GÊxP. 

10. What do you understand by Liquidation of a company? 

 {ÖÁÚ Pø»¨¦ £ØÔ }Âº AÔÁx ¯õx? 

 Part B  (5 × 5 = 25) 

Answer all questions. choosing either (a) or (b). 

11. (a) Ravi Ltd., forfeited 50 shares of Rs.10 each fully 
called up, held by Ram for nonpayment of allotment 
money of Rs.3 per share and first call of Rs. 4 per 
share. He had paid the application money of Rs.3 
per share. These shares were re-issued to Siva for 
Rs. 8 per share. Pass journal entries 

  μÂ {Ö©® μõ® öPõskÒÍ ¹.10 ©v¨¦ÒÍ AøÚzx 

£n•® ÷Põμ¨£mh 50 £[SPøÍ JxURmkz öuõøP 

J¸ £[QØS ¹.3® •uÀ ©ØÖ® CÖv AøÇ¨¦ J¸ 

£[QØS ¹. 4® ö\¾zuõu PõμnzuõÀ JÖ¨¤øh¨¦ 

ö\´¯¨£mhx. AÁ›ß Âsn¨£z öuõøP J¸ 

£[QØS ¹.3 ©mk® ö\¾zv²ÒÍõº. C¢u £[QØS 

JÆöÁõßÖ® ¹.8 Ãu® ]ÁõÂØS v¸®£ 

ÁÇ[P¨£mhx. Cuß Ai¨£øh°À SÔ¨÷£mk¨ 

£vÄPøÍz u¸P. 

Or 
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 (b) Kali Ltd., purchased the business of Mani for 
Rs.54,00,000 payable in fully paid shares of Rs.100 
each. Give the journal entries will be made in the 
books of Kali Ltd. If such issue is (i) at par (ii) at a 
premium of 20% and (iii) at a discount of 10%. 

  ©o {Ö©zøu ¹.54,00,000zvØS J¸ £[QØS ¹.100 

Ãu® AøÚzx £[SPøÍ²® PõÎ {Ö©® öPõÒ•uÀ 

ö\´xÒÍx. PõÎ {Ö©zvß SÔ¨÷£mk £vÄPøÍ  

(i) •P ©v¨£ (ii) •øn©® 20 \uÂRu®  

(iii) uÒÐ£i°À 10 \uÂRu® Cuß Ai¨£øh°À 

u¸P. 

12. (a) From the following data, calculate profit prior to 
incorporation: Time ratio 1:2 Sales ratio 1:3, Gross 
profit Rs. 1,70,500; Administrative expenses Rs.69,600; 
Expenses relating to sales Rs.18,600; Preliminary 
expenses Rs.11,560. 

  {Ö©¨ £vÄUS •ß EÒÍ C»õ£zvøÚU PnUQkP: 

÷|μ ÂRu® 1:2 ÂØ£øÚ ÂRu® 1:3, ö©õzu C»õ£® 

¹.1,70,500; {ºÁõPa ö\»ÄPÒ ¹.69,600; ÂØ£øÚ 

öuõhº£õÚ ö\»ÄPÒ ¹.18,600; ‰»uÚa ö\»ÄPÒ 

¹.11,560. 

Or 

 (b) Abi Ltd., was incorporated on 1st August 2020. The 
company acquired the business from Abi and Anu 
with effect from 1st April 2020. From the following 
information for the year ending 31.3.2021. Calculate 
time ratio and selling ratio. Sales for the year were 
Rs. 6,00,000 out of which sales upto 1st August were 
Rs. 2,50,000. 

  A¤ {Ö©® 1 BPìm 2020 AßÖ Tmk¸ÁõUP 

\õßÔuÌ ö£ØÓx. Ax A¤ ©ØÖ® AÝÂhª¸¢x 

Â¯õ£õμzøu 1 H¨μÀ 2020 AßÖ Áõ[Q¯x. ¤ßÁ¸® 

Â£μ[PøÍU öPõsk 31.3.2021 •i¯ BsiØPõÚ 

Põ» ÂQu® ©ØÖ® ÂØ£øÚ ÂQuzøu PnUQkP. 

C¢u BsiØPõÚ ÂØ£øÚ ¹.6,00,000 AvÀ 1 

BPìm 2021 •i¯ ÂØ£øÚ ¹.2,50,000. 
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13. (a) Arun Ltd., earned a profit of Rs. 5,00,000 for the 
year ended 31.12.2020 which is appropriated as 
follows: 

  (i) Preference dividend paid to Rs. 30,000. 

  (ii) Dividend to equity share holders paid  
Rs.1,10,000  

  (iii) Transfer to general reserve Rs.25,000. 

  (iv) Rs.40,000 transferred to debenture 
redemption fund  

  (v) Provision for income tax Rs.65000. 

  Prepare profit and loss appropriation account. 

  A¸s ¼ªm 31.12.2020 B® BsiØPõÚ »õ£® 

¹.5,00,000 Dmi¯x. A¢u »õ£zøu ¤ßÁ¸©õÖ 

£Qº¢ux. 

(i) •ßÝ›ø© £[SPÐUPõÚ £[Põuõ¯® 

¹.30,000. 

  (ii) ö£õx {ø» £[SPÐUPõÚ £[Põuõ¯® 

¹.1,10,000 

  (iii) ö£õx Põ¨¤ØS ¹. 2,5000 ©õØÓ ÷Ásk®. 

  (iv) PhÜmk £zvμ «m¦ {vUS ¹.40,000 ©õØÓ 

÷Ásk®. 

  (v) Á› JxURk ¹.65,000  

   CÁØøÓU öPõsk »õ£ |mh £QºÄ PnUøP 

u¯õ›UP. 

Or 

 (b) Which heading the following will appear in a 
company’s balance sheet? 

(i)  Authorized capital 

(ii)  General reserve 

(iii)  Interim dividend 

(iv)  provision for tax. 
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  ¤ßÁ¸® CÚ[PøÍ J¸ P®ö£Û°ß C¸¨¦ {ø» 

SÔ¨¦ u¯õº ö\´²®  ÷£õx G¢u uø»¨¤ß RÌ 

Põs¤¨£õ´? 

(i) A[RP›UP¨£mh •uÀ 

  (ii) ö£õx Põ¨¦ 

  (iii) CøhUPõ» £[Põuõ¯® 

  (iv) Á› JxURk 

14. (a) Distinguish between absorption and external 
reconstruction. 

  Dº¨¦ ©ØÖ® ¦Ó^μø©¨ø£ ÷ÁÖ£kzxP. 

Or 

 (b) Ragu Ltd., and Siva Ltd., are two companies 
carrying on business in the same line of activity. 
Their balance sheet as on 31.3.2020 are given 

Liabilities Ragu Ltd  Siva Ltd  Assets Ragu Ltd Siva Ltd

Equity shares      Land and  

of 10 each 6,00,000  2,00,000  Building 1,00,000 –

General      Plant and  

reserve 4,00,000  2,00,000  Machinery 7,00,000 3,00,000

Secured Loan 6,00,000  1,00,000  Investments 1,00,000 –

Current       

liabilities 6,00,000  4,00,000  Stock 9,00,000 4,00,000

     Debtors 3,00,000 1,00,000

     Cash at  

     Bank 1,00,000 1,00,000

 22,00,000  9,00,000   22,00,000 9,00,000
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 The two companies decided to amalgamate into Raja Ltd. 
The following further information is given: 

 (i) All assets and liabilities of the two companies are 
taken over  

 (ii) Each share in Siva Ltd., is valued at Rs.25 for the 
purpose of amalgamation. 

 (iii) Each share in Ragu Ltd., is valued at Rs. 15 for the 
purpose of amalgamation. 

  Show the journal entries to close the books of both 
the companies. 

  μS ¼ªm ©ØÖ® ]Áõ ¼ªm {Ö©[PÐ® J÷μ Âu©õÚ 

Â¯õ£õμ® ö\´QßÓÚ. AÁØÔß 31.3.2020ß C¸¨¦ 

{ø»U SÔ¨¦ uμ¨£mkÒÍx. 

ö£õÖ¨¦ μS  ]Áõ  ö\õzxUPÒ μS ]Áõ 

      

\©E›ø©¨ 

£[S  

6,00,000  2,00,000  {»® 

Pmih® 

1,00,000 –

¹. 10 Ãu®      

ö£õx Põ¨¦ 4,00,000  2,00,000  AøÓP»ß 

C¯¢vμ® 

7,00,000 3,00,000

£õxPõUP¨£mh 

Phß 

6,00,000  1,00,000  •u½k 1,00,000 –

      

|h¨¦ Phß 6,00,000  4,00,000  \μUS 9,00,000 4,00,000

     PhÜ¢÷uõº 3,00,000 1,00,000

      

     Á[Q 

C¸¨¦ 

1,00,000 1,00,000

 22,00,000  9,00,000   22,00,000 9,00,000
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 μõáõ GÝ® {Ö© ö£¯¸hß Cμsk {Ö©[PÐ® 

J¸[QønQßÓÚ. RÌPõq® ö\´v uμ¨£mkÒÍÚ. 

 (i) AøÚzx ö\õzx ©ØÖ® ö£õÖ¨¦PøÍ {Ö©® GkzxU 

öPõÒQÓx. 

 (ii) J¸[Qøn¨¦US ]Áõ {Ö©zvß £[S ¹.25 Ãu® 

©v¨¥k ö\´¯¨£mhÚ. 

 (iii) J¸[Qøn¨¦US μS {Ö©zvß £[S ¹.15 Ãu® 

©v¨¥k ö\´¯¨£mhÚ. 

  C¸ {Ö©zvß PnU÷PkPøÍ •i¨£uØS›¯ 

SÔ¨÷£mk¨ £vÄPøÍ PõmkP. 

15.  (a) Explain the various methods of winding up of 
companies. 

  J¸ {Ö©zøu Pø»¨£uØPõÚ £À÷ÁÖ •øÓPøÍ 

TÖP. 

Or 

 (b) To prepare Unsecured creditors from the following 
information 

Particulars Rs. 

Unsecured creditors 3,80,000

One month salary 4,000

Bills payable 1,06,000

Bank overdraft 40,000

Liabilities on bills discounted 60,000

Partly secured creditors 1,00,000

Preferential Creditors 16,000
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  R÷Ç öPõkUP¨£mkÒÍ uPÁÀPøÍU öPõsk   

 £õxPõUP¨£hõu PhÚõÎPÒ PnUøP u¯õ›UP. 

Â£μ® ¹. 

£õxPõ¨£ØÓ PhÚõÎPÒ 3,80,000

J¸ ©õu \®£Í® 4,000

ö\¾zuØS›¯ ©õØÖa^mk 1,06,000

Á[Q ÷©À Áøμ¨£ØÖ 40,000

uÒÐ£i ö\´¯¨£mh 

Esi¯¾UPõÚ ö£õÖ¨¦ 

60,000

£Sv £õxPõUP¨£mh 

PhÚõÎPÒ  

1,00,000

•ßÝ›ø© PhÚõÎPÒ 16,000

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A company had Rs.4,00,000 5% Debentures on  
1st  January, 2020 (redeemable on 31st December 2020) on 
the date the sinking fund stood at Rs.3,74,500 
represented by Rs.50,000 own debentures purchased at 
an average price of Rs.99 and Rs.3,30,000, 3% tock. The 
annual instalment was Rs. 14,200. 

 On 31st December, 2020 investments were realized at 
Rs.98 and debentures were redeemed. Write up the 
accounts for 2020. 

 1.1.2020 À J¸ {Ö©® 5 \uÃu Ámi²hß PhÜmk¨ 

£zvμzøu øÁzxÒÍx (v¸¨¤ AÎUP ÷Ási¯ ÷uv 

31.12.2020) A÷u ÷uv°À v¸¨¤ ö\¾zu E¸ÁõUP¨£mh 

{v ¹.3,74,500 C¸¢ux. AvÀ ¹.50,000 ö\õ¢u Phß£zvμ® 

Auß ©v¨¦ ¹.99 ©ØÖ® ¹.3,30,000UPõÚ 3 \uÃu \μUS 

Á¸h uÁøn ¹.14,200. 

31.12.2020 •u½kPÒ ¹.98 Ãu® ÂØP¨£mk Phß 

v¸¨£¨£mhÚ. CuøÚU öPõsk 2020ØPõÚ PnUøP u¸P. 
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17. Vishnu Ltd., was incorporated on 1.8.2020. It took over 
the business of Ravi with effect from 1.4.2020. From the 
following particulars relating to the year ending 
31.3.2021, find out profits prior to and after 
incorporation. Sales for the year were Rs. 60,00,000 and 
Pre incorporation sales were Rs. 25,00,000. Gross Profit 
for the year was Rs.18,00,000. The expenses debited to 
Profit and Loss Account were: 

Particulars Rs. 

Rent 90,000

Salaries 1,50,000

Director’s Fees 38,000

Audit Fees 15,000

Interest on Debentures 60,000

Discount of Sales 36,000

Depreciation 2,40,000

General Expenses 48,000

Advertising 1,80,000

Printing and Stationery 36,000

Commission on sales 60,000

Bad debts (Rs. 50,000 related, to debts 

created prior to incorporation) 15,000

Interest to vendor on purchase  

consideration upto 1.10.2020) 30,000

 Âèq {Ö©® 1.8.2020À £vÄ ö\´¯¨£mhx. 1.4.2020 

AßÖ μÂ {Ö©zøu GkzxUöPõshx. 31.3.2021 AßÖ 

•iÁøh²®. PnUQß£i £vÄUS •ß ©ØÖ® ¤ß EÒÍ 

»õ£zøu PõsP. Á¸hÂØ£øÚ ¹.60,00,000 £vÄUS •ß 

ÂØ£øÚ ¹.25,00,000 Á¸h »õ£® ¹.18,00,000 »õ£ 

|mhPnUQß ö\»ÄPÒ Á¸©õÖ. 
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Â£μ® ¹. 

ÁõhøP 90,000

\®£Í® 1,50,000

C¯US|º Pmhn® 38,000

uoUøP Pmhn® 15,000

PhÝUPõÚ Ámi 60,000

ÂØ£øÚ°ß uÒÐ£i 36,000

÷u´©õÚ® 2,40,000

ö£õx ö\»Ä 48,000

ÂÍ®£μ® 1,80,000

GÊx ö£õ¸Ò 36,000

ÂØ£øÚ uμS 60,000

ÁμõUPhß ¹.50,000 Phß E¸ÁõÚx 

£vÂØS •ß 15,000

1.10.2020 •i¯ ÂØ£øÚ¯õÍ¸US 

ö\¾zv¯ Ámi 30,000

18. The following is the trial balance of Adhi Ltd., as at  
31st March 2020 with the authorized capital of 72,000 
shares at Rs. 10 each. Prepare Final A/c of company. 

Particulars Dr Cr 

Cash in hand 900 –

Cash at bank 3,55,980 –

Profit and loss account balance – 17,400

Creditors – 60,000

Debentures – 3,60,000

Share Capital (called up) – 5,52,000
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Bills payable – 45,600

Sales – 4,98,000

Reserve for bad debts – 4,200

General Reserve – 30,000

Calls in arrear 9,000 –

Wages 92,760 –

Building 3,60,000 –

Machinery 4,32,000 –

General Expenses 20,280 –

Salaries 17,400 –

Interim dividend paid 9,000 –

Furniture 40,000 –

Purchases 2,29,880 –

Total 15,67,200 15,67,200

 Adjustments: 

 (a)  Outstanding wages Rs.6,000, salaries Rs.3000 

 (b) General expenses include prepaid expenses at 
Rs.300. 

 (c) Provide depreciation on Building, Machinery and 
Furniture at 5%, 10% and 20% respectively. 

 (d) Stock on 31.3.2020 amounted to Rs.1,40,000. 

 Bv ¼ªöhm ¹.10 Ãu® 72,000 ©v¨¦ÒÍ £[SPøÍU 

öPõsk 31.3.2020UPõP C¸¨£õ´Ä C[SU 

öPõkUP¨£mkÒÍx. {Ö©zvß CÖv PnUQøÚ u¯õº 

ö\´P. 
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Â£μ® £ØÖ ÁμÄ 

øPöμõUP® 900 –

Á[Q öμõUP® 3,55,980 –

C»õ£ |mh PnUS – 17,400

PÚÜ¢÷uõº – 60,000

PhÜmk¨£zvμ[PÒ – 3,60,000

£[S •uÀ (AøÇUP¨£mhx) – 5,52,000

ö\¾zxuØS›¯ ©õØÖa^mk – 45,600

ÂØ£øÚ – 4,98,000

ÁμõUPhß JxURk – 4,200

ö£õxUPõ¨¦ – 30,000

AøÇ¨¦ {¾øÁ 9,000 –

T¼ 92,760 –

Pmih® 3,60,000 –

C¯¢vμ® 4,32,000 –

ö£õxa ö\»ÄPÒ 20,280 –

Fv¯® 17,400 –

CøhUPõ» £[Põuõ¯® ÁÇ[Q¯x 9,000 –

AøÓP»ß 40,000 –

öPõÒ•uÀ 2,29,880 –

ö©õzu® 15,67,200 15,67,200
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 \›UPmhÀPÒ 

 (A) T¼ öPõkUP ÷Ási¯x. ¹.6,000 \®£Í® ¹.3,000. 

 (B) ö£õxa ö\»ÂÀ •ßTmi ö\¾zv¯ Põ¨¥mkz 

öuõøP ¹.300 EÒÍh[Q¯x. 

 (C) Pmih® G¢vμ® öuõS¨¦ AøÓP»ß •øÓ÷¯ 5 

\uÃu® 10 \uÃu® ©ØÖ® 20 \uÃu® ÷u´©õÚ® 

AÎUPÄ®. 

 (D) 31.3.2020 À \μUQ¸¨¦ ¹.1,40,000. 

19.  The following scheme of reconstruction was approved by 

Raman Ltd., 

(a) The shareholder to received in lieu of their present 

holding of 1,00,000 shares of Rs.10 each, the 

following. 

  (i) Fully paid ordinary shares equal to 2/5 of their 

holdings 

   (ii) 5% Preference shares to the extent of 1/5 of 

the above ordinary shares. 

  (iii) Rs. 1,20,000 6% debentures. 

 (b) The goodwill which stood at Rs.6,00,000 was written 

down to Rs. 3,00,000 

 (c) Plant and building were written down by Rs. 40,000 

and Rs. 60,000 respectively. Pass Journal entries. 
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 μõ©ß ¼m J¨¦u¼À ©õØÔ Aø©UP¨£mh vmh® 
¤ßÁ¸©õÖ. 

(A) 1,00,000 £[SPøÍ ¹.10 Ãu® £[SuõμºPÒ  
øÁzxÒÍõºPÒ. AuØS £v»õP AÁºPÒ ö£Ó 
C¸¨£x ¤ßÁ¸©õÖ. 

  (i) AÁºPÒ øÁzv¸¨£v¼¸¢x 2/5 US \©©õP 
•ÊÁx® ö\¾zu¨£mh \©£[SPÒ. 

  (ii) ÷©ØTÔ¯ \©£[SPÎÀ 1/5 AÍÄUS 5 \uÃu  
•ßÝ›ø©¨ £[SPÒ. 

  (iii) 6 \uÃu Phß £zvμ[PÒ ¹.1,20,000. 

 (B) |ß©v¨¦ ¹.6,00,000 C¸¢x ¹.3,00,000 ©õP 
SøÓUP¨£mhx. 

 (C) ö£õÔ ©ØÖ® Pmih® •øÓ÷¯ ¹.40,000 ©ØÖ® 
¹.60,000 SøÓUP¨£kQÓx. CuøÚU öPõsk 
SÔ¨÷£mk¨ £vÄPøÍz u¸P. 

20. The O ltd., went into liquidation with the following 
liabilities: Secured Creditors Rs.25,000 (securities 
realized Rs. 30,000); preferential creditors Rs.6,000; 
Unsecured creditors Rs.35,000; liquidator’s expenses in 
connection with liquidation amounted to Rs.2500. The 
liquidator is entitled to remuneration of 5 per cent on 
every amount realized and 1.5 per cent on the amount 
distributed to unsecured creditors except preferential 
creditors. The various assets (excluding securities in the 
hands of fully secured creditors) realized Rs. 50000. 
Prepare liquidator’s Account. 

 J {Ö©® Pø»UP¨£h EÒÍx. Auß ö£õÖ¨¦PÒ Á¸©õÖ 
•ßÝ›ø© PhÚõÎPÒ ¹.6,000 £õxPõUP¨£hõu 
PhÚõÎPÒ ¹.30,500 Pø»¨¦ ö\»Ä ¹.2,500 
£õxPõUP¨£mh PhÚõÎPÒ ¹.25,000 (ö£Ó¨£mhøÁ 
¹.30,000). ö£Ó¨£mh öuõøPUS 5 \uÃu uμS GÚÄ® 
•ßÝ›ø© PhÚõÎPÒ AÀ»õu £õxPõUP¨£hõu 
PhÚõÎPÐUS 1.5 \uÃu uμS GÚÄ® EÒÍÚ. £À÷ÁÖ 
ö\õzxUPÒ (øP°À EÒÍ £zvμ[PÒ AøÚzx® 
£õxPõUP¨£mhx }[P»õP) ö£Ó¨£mhÚ ¹.50,000. Pø»¨¦ 
PnUøPz u¯õ›UPÄ®. 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2022 

Fifth Semester 

Commerce with Computer Applications 

INCOME TAX-LAW AND PRACTICE – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. List out the any four merits of direct tax. 

 ÷|μi Á›°ß H÷uÝ® |õßS uSvPøÍ¨ £mi¯¼kP.  

2. Define income. 

 Á¸©õÚ® Áøμ¯ÖUPÄ®. 

3. What is partly agricultural income? 

 £Sv ÂÁ\õ¯ Á¸©õÚ® GßÓõÀ GßÚ? 

4. Define the term assessee. 

 Á› ö\¾zx£Áº GßÓ ö\õÀø» Áøμ¯ÖUPÄ®.  

5. Who is a person under the Income Tax Act? 

 Á¸©õÚ Á›a \mhzvß RÌ J¸ |£º ¯õº? 

6. What do you understand by Tax Holiday? 

 Á› Âk•øÓ ‰»® }[PÒ GßÚ ¦›¢xöPõÒQÕºPÒ? 

Sub. Code 
7BCC5C2 
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7. Write short note on : Standard Rent. 

 ]Ö SÔ¨¦ GÊxP : {ø»¯õÚ ÁõhøP.  

8. What is meant by self-occupied property? 

 _¯ BUQμ¨¦ ö\õzx Cuß ö£õ¸Ò GßÚ? 

9. What is Capital gain? 

 ‰»uÚ Buõ¯® GßÓõÀ GßÚ? 

10. Write a note on “Dividend”. 

 ‘‘DÄzöuõøP’’ £ØÔ¯ SÔ¨ø£ GÊxP.  

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the characteristics of Income Tax? 

  Á¸©õÚ Á›°ß £s¦PÒ £ØÔ GÊxP.  

Or 

 (b) Write a note on historical background of income tax 
act.  

  Á¸©õÚ Á›a \mhzvß Áμ»õØÖ¨ ¤ßÚo SÔzx 

J¸ SÔ¨¦ GÊxP.  

12. (a) On 1.6.2019 ‘B’ a Malaysian citizen left India after a 
continuous stay of 10 years. During the financial 
year 2020-21, he came back to India and stayed for 
a period of 46 days and left. In the previous year 
2021-22, he came back to India on 10.10.2019 and 
stayed here thereafter for one year. Determine  ‘B’s 
residential status for the assessment year 2022-23. 
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  1.6.2019 ‘¤’ AßÖ ©÷»]¯U Si©Pß J¸Áº 

öuõhº¢x 10 BskPÒ u[Q¯ ¤ßÚº C¢v¯õøÁ 

Âmk öÁÎ÷¯ÔÚõº. 2020&21 {v¯õsiÀ AÁº 

C¢v¯õÄUSz v¸®¤ Á¢x 46 |õmPÒ u[Q°¸¢x 

öÁÎ÷¯ÔÚõº. •¢øu¯ Bsk 2021&22 CÀ, AÁº 

10&10&2019 AßÖ C¢v¯õÄUSz v¸®¤Úõº. Auß 

¤ÓS J¸ Á¸h® C[S u[QÚõº. 2022&23 ©v¨¥mk 

BsiØPõÚ ‘¤’ °ß Si°¸¨¦ {ø»ø¯z 

wº©õÛUPÄ® 

Or 

 (b) Compute net agricultural income from cultivation of 
land: 

 Rs. 

Sale proceeds of agricultural produce 8,00,000

Depreciation on equipment 40,000

Labour charges 1,00,000

Cost of seeds 40,000

Cost of fertilisers 20,000

Electricity charges on agriculture 60,000

  {» \õS£i°¼¸¢x {Pμ ÂÁ\õ¯ Á¸©õÚzøu 

PnUQkP.  

 ¹. 

ÂÁ\õ¯ ÂøÍö£õ¸mPÎß ÂØ£øÚ Á¸©õÚ® 8,00,000

E£Pμn[PÒ «x ÷u´©õÚ®  40,000

öuõÈ»õÍº Pmhn® 1,00,000

ÂøuPÎß Âø» 40,000

Eμ[PÎß Âø» 20,000

ÂÁ\õ¯zvØS ªß Pmhn® 60,000
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13. (a) Differences between Gross Total Income and 
Taxable Income. 

  ö©õzu Á¸©õÚ® ©ØÖ® Á› ÂvUPUTi¯ Á¸©õÚ® 
BQ¯ÁØÖUS Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ.  

Or 

 (b) What are the rules regarding the claim of deduction 
of depreciation? 

  ÷u´©õÚzøuU SøÓ¨£uØPõÚ E›ø©÷PõμÀ 
öuõhº£õÚ ÂvPÒ ¯õøÁ? 

14. (a) Compute the taxable portion of allowances from the 
information furnished by Mr. N for the A.Y. 2022-23 

Particulars Rs. 
Travelling Allowance (Expenditure Rs. 750 p.m.) 1,500 p.m.
Helper Allowance (Expenditure Rs. 1,350 p.m.) 1,200 p.m.
Tribal Area Allowance 2,400 p.m.
Education Allowance (per child) (for 3 children) 300 p.m.
Hostel Exp. Allowance (per child) (for 3 children) 2,500 p.m.
Transport Allowance (Exp. Rs. 15,000 p.m.) 19,000 p.m.
Conveyance Allowance (50% personal) 1,500 p.m.
Dog Allowance 1,000 p.m.

  v¸. N ÁÇ[Q¯ uPÁÀPÎ¼¸¢x öPõk¨£ÚÄPÎß 
Á› Âv¨¦ £Svø¯ A.Y. 2022-23 PnUQkP.  

ÂÁμ[PÒ ¹.  

£¯n¨£i (ö\»Ä ¹. 750 ©õu®) 1,500 ©õu®

EuÂ¯õÍº £i (ö\»Ä ¹. 1,350 ©õu®) 1,200 ©õu®

£Ç[Si°Úº £Sv £i  2,400 ©õu®

PÀÂ £i (J¸ SÇ¢øuUS) (3 SÇ¢øuPÐUS) 300 ©õu®

Âkv ö\»Ä £i (J¸ SÇ¢øuUS) (3 
SÇ¢øuPÐUS) 

2,500 ©õu®

÷£õUSÁμzx £i (ö\»Ä ¹. 15,000 ©õu®) 19,000 ©õu®

÷£õUSÁμzx £i (50% uÛ¨£mh) 1,500 ©õu®

|õ´ £i 1,000 ©õu®

Or 
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 (b) From the following information determine the 
annual value of the house: 

 Rs. 

Municipal value 1,60,000

Fair rent 2,40,000

Standard rent 2,00,000

  The house was self-occupied for four months and 
then let-out 

  (i)  Rs. 20,000 p.m. 

  (ii)  Rs. 30,000 p.m. municipal tax paid by the 
owner Rs. 20,000. 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x Ãmiß Bsk ©v¨ø£ 

wºÄ PõsP.  

 ¹. 

|Pμõm] ©v¨¦ 1,60,000

{¯õ¯©õÚ ÁõhøP 2,40,000

{ø»¯õÚ ÁõhøP 2,00,000

  C¢u Ãk |õßS ©õu[PÍõP _¯©õP BUQμªUP¨£mk 

¤ßÚº öÁÎ÷¯Ó 

  (i) ¹. 20,000 ©õu® 

  (ii) ¹. 30,000 ©õu® E›ø©¯õÍº ö\¾zx® |Pμõm] 

Á› ¹. 20,000.   

15.  (a) What deductions are allowed to a businessman in 
computing profits? 

  C»õ£[PøÍ PnUQkÁvÀ J¸ öuõÈ»v£¸US 

GßÚ Â»USPÒ AÝ©vUP¨£kQßÓÚ? 

Or 
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 (b) Cash book of an Auditor for the period ended  
31-3-2022. 

Particulars Rs. Particulars Rs. 

To balance b/d 9,614 By office expenses 24,150

To Audit fees 54,750 By personal expenses 4,769

To Accountancy work fee 25,475 By Membership fees 4,045

To other source income 27,745 By Income tax 2,493

To rent for HP 14,200 By car purchased 23,450

  By car expenses 5,420

  By insurance (house) 300

  By balance c/d 67,157

 1,31,784  1,31,784

  Depreciation on car @ 15%. 1/4 of car expenses for 
personal purpose. Compute professional income. 

  31.3.2022 Ehß •iÁøh¢u Põ»zvØPõÚ 

uoUøP¯õÍºPÎß öμõUP¨ ¦zuP®.  

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

öuõhUP C¸¨¦ R/öPõ 9,614 A¾Á»P ö\»ÄPÒ 24,150

uoUøP Pmhn® 54,750 uÛ¨£mh ö\»ÄPÒ 4,769

PnUQ¯À £o Pmhn® 25,475 EÖ¨¤Úº Pmhn® 4,045

¤Ó Á¸©õÚ[PÒ ‰»® 27,745 Á¸©õÚ Á› ö\¾zv¯x 2,493

Ãmk ö\õzvß «x ÁõhøP 14,200 Põº Áõ[Q¯x 23,450

  PõºUPõÚ ö\»ÄPÒ 5,420

  Põ¨¥k (Ãk) 300

  C¸¨¦ R/C 67,157

 1,31,784  1,31,784

  Põ›ß ÷u´©õÚ® @ 15% uÛ¨£mh ÷|õUPzvØPõP 

Põº ö\»ÄPÎÀ 1/4 öuõÈÀ•øÓ Á¸©õÚzøu 

PnUQk[PÒ.   
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the basis and procedure of charging Income Tax 
Act. 

 Á¸©õÚ Á›a \mhzøu Á`¼¨£uØPõÚ Ai¨£øh ©ØÖ® 
|øh•øÓø¯ ÂÍUSP. 

17. Explain how the tax liability of an assessee is determined 
with reference to his residence. 

 ©v¨¥mhõÍ›ß Á›¨ ö£õÖ¨¦ AÁμx Á]¨¤hzxhß 
GÆÁõÖ wº©õÛUP¨£kQÓx Gß£øu ÂÍUSP. 

18. Explain the any ten incomes which are exempted u/s 10 
of the income tax act 1961. 

 Á¸©õÚ Á›a \mh® 1961Cß 10US Â»US AÎUP¨£mh 
H÷uÝ® £zx Á¸©õÚ[PøÍ ÂÍUSP. 

19. Mr. Rajesh is a Government employee. He has furnished 
the following information for the P.Y. 2021-22. 

  Rs. 

1. Basic Salary 10,000 p.m.

2. Dearness Allowance 1,000 p.m.

3. Bonus 200 p.m.

4. Commission 100 p.m.

5. Entertainment Allowance 500 p.m.

6. Travelling allowance  
(Expenditure Rs. 750 p.m.) 

1,500 p.m.

7. Helper allowance  
(Expenditure Rs. 1,350 p.m.) 

1,200 p.m.

8. Tribal area allowance 2,400 p.m.

9. Education allowance (per child)  
(For 3 children) 

300 p.m.

10. Hostel exp. Allowance (per child)  
(For 3 children) (Actual Exp. Rs. 2,500 p.m. 
per child) 

2,500 p.m.
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  Rs. 

11. Transport allowance (Exp. Rs. 15,000 p.m.) 19,000 p.m.

12. Conveyance allowance (50% personal) 1,500 p.m.

13. Dog allowance 1,000 p.m.

14. House Rent Allowance  
(Actual rent paid in Chennai Rs. 1,000 p.m.)

2,000 p.m.

 Compute Income from Salary for the A.Y. 2022-23 

 v¸. μõ÷áè J¸ Aμ_ FÈ¯º AÁº Ph¢u Bsk 
2021&22ØPõÚ ¤ßÁ¸® uPÁÀPøÍ CønzxÒÍõº.   

  ¹. 

1. Ai¨£øh \®£Í® 10,000 ©õu®

2. Aß¦ÒÍ öPõk¨£ÚÄ 1,000 ©õu®

3. ÷£õÚì 200 ©õu®

4. uμS 100 ©õu®

5. ö£õÊx÷£õUS öPõk¨£ÚÄ 500 ©õu®

6. £¯nU öPõk¨£ÚÄ (ö\»Ä ¹. 750 ©õu®) 1,500 ©õu®

7. EuÂ¯õÍº öPõk¨£ÚÄ (ö\»Ä ¹. 1,350 ©õu®) 1,200 ©õu®

8. £Ç[Si°Úº £Sv öPõk¨£ÚÄ 2,400 ©õu®

9. PÀÂ öPõk¨£ÚÄ (J¸ SÇ¢øuUS)  
(3 SÇ¢øuPÐUS) 

300 ©õu®

10. Âkv ö\»ÄPÒ öPõk¨£ÚÄ (J¸ SÇ¢øuUS)  
(3 SÇ¢øuPÐUS) (Esø©¯õÚ ö\»Ä  
¹. 2,500 J¸ SÇ¢øuUS ©õu®) 2,500 ©õu®

11. ÷£õUSÁμzx öPõk¨£ÚÄ (ö\»Ä ¹. 15,000 
©õu®) 

19,000 ©õu®

12. ÷£õUSÁμzx öPõk¨£ÚÄ (50% uÛ¨£mh) 1,500 ©õu®

13. |õ´ öPõk¨£ÚÄ 1,000 ©õu®

14. Ãmk ÁõhøP öPõk¨£ÚÄ (ö\ßøÚ°À 
ö\¾zu¨£k® Esø©¯õÚ ÁõhøP ¹. 1,000 
©õu®) 

2,000 ©õu®

 ©v¨¥mk Bsk 2022&23 Cß \®£Ízv¼¸¢x 
Á¸©õÚzøuU PnUQkP. 
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20. Shri Hari is a registered medical practitioner. He has 
prepared the following income and expenditure account 
for the year ending 31st March, 2022. You are required to 
compute his income from profession. 

Income and expenditure Account 
 Rs.  Rs. 

Household  Consultation fees 1,10,000

expenses 1,20,000 Visiting Fees 1,20,000

Car purchased 1,30,000 Gain on Race (Gross) 10,000

Travelling exp.  Share in sale Proceeds 

(Personal) 4,000 of an ancestral house 34,000

Charity and  Capital Gains 6,000

Donations 1,000 Dividend on Shares 

Income Tax 2,000  (Gross) 5,000

Salaries 9,200 Interest from P.O. 

Gifts to daughter 7,000 saving bank 600

Establishment  Gifts from father in law 2,000

expenses 1,000 Bad debts recovered  

Surgical equipment 4,000 (not allowed in earlier  

Life insurance  years) 2,000

premium 2,000 Interest on fixed deposit 

Interest on capital 2,000 (Gross) 1,300

Surplus 8,700   

 2,90,900  2,90,900 

 Rate of depreciation allowable on car and surgical 
equipment is @ 15%. 

 ÿ í› J¸ £vÄ ö\´¯¨£mh ©¸zxÁ £°Ø]¯õÍº. ©õºa 

31, 2022 AßÖ •iÁøh²® BsiØPõÚ ¤ßÁ¸® 

Á¸©õÚ® ©ØÖ® ö\»ÄU PnUøP AÁº u¯õº ö\´xÒÍõº. 

öuõÈ¼À C¸¢x AÁμx Á¸©õÚzøu PnUQkP.  
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Á¸©õÚ® ©ØÖ® ö\»Ä PnUS 

 ¹.  ¹. 

Ãmk ö\»ÄPÒ 1,20,000 B÷»õ\øÚ Pmhn® 1,10,000
Põº Áõ[P¨£mhx 1,30,000 Á¸øP Pmhn® 1,20,000
£¯n ö\»ÄPÒ  CÚzvÀ Buõ¯® (ö©õzu®) 10,000
(ö\õ¢u ÷uøÁUPõP) 4,000 J¸ ‰uõøu¯º Ãmiß 

öuõsk ©ØÖ®   ÂØ£øÚ°À £[S 34,000
|ßöPõøhPÒ 1,000 •u½mk ÁμÄPÒ 6,000
Á¸©õÚ Á› 2,000 £[SPÎß DÄzöuõøP 

\®£Í® 9,200 (ö©õzu®) 5,000
©PÐUS £›_PÒ 7,000 u£õÀ A¾Á»P ÷\ª¨¦ 

ìuõ£Ú ö\»ÄPÒ 1,000  Á[Q°ß Ámi 600
AÖøÁ ]Qaø\  ©õª¯õ›hª¸¢x £›_PÒ 2,000
 E£Pμn[PÒ 4,000 ö£Ó¨£mh ÁõμõU PhßPÒ  
B²Ò Põ¨¥mk   (•¢øu¯ BskPÎÀ   
 ¤Ÿª¯® 2,000 AÝ©vUP¨£hÂÀø») 2,000
‰»uÚzvß «uõÚ Ámi 2,000 {ø»¯õÚ øÁ¨¦z öuõøP 

E£› 8,700  «uõÚ Ámi (ö©õzu®) 1,300

 2,90,900  2,90,900 

 Põº ©ØÖ® AÖøÁ ]Qaø\ E£Pμn[PÎÀ 

AÝ©vUP¨£k® ÷u´©õÚ ÂQu® @ 15%.  

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2022 
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Elective : OPERATING SYSTEM 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What are the two main functions of Operating systems? 

 C¯UP •øÓø©PÎß Cμsk •UQ¯ ö\¯À£õkPÒ ¯õøÁ? 

2. Define the term “Multiprocessor”. 

 “©Ài¦μõ\\º” GßÓ ö\õÀø» Áøμ¯Ö. 

3. How to implement semaphores? 

 ö\©÷£õº GÆÁõÖ ö\¯À£kQÓx? 

4. What do you mean by Process? 

 ö\¯À•øÓ GßÓõÀ GßÚ? 

5. What is Swapping? 

 Ch©õØÓ® GßÓõÀ GßÚ? 

6. Why is memory allocation important? 

 {øÚÁP JxURk GÆÁõÖ •UQ¯©õÚx? 
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7. What does file management mean? 

 ÷Põ¨¦ ÷©»õsø© GßÓõÀ GßÚ? 

8. List the Properties of a File System. 

 ÷Põ¨¦ •øÓø©PÎß £s¦PøÍ £mi¯¼kP. 

9. What is the rote of operating system as a resource 
manager? 

 ÁÍ÷©»õÍμõP C¯UP •øÓø©°ß £[S GßÚ? 

10. How Operating System Manages Hardware Resources? 

 C¯UP •øÓø© Áßö£õ¸Ò ÁÍ[PøÍ GÆÁõÖ 

{ºÁQUQÓx? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write down the different types of operating system. 

  £À÷ÁÖ ÁøP¯õÚ C¯UP •øÓø©PøÍ £ØÔ GÊxP. 

Or 

 (b) Explain the concept of Distributed System. 

  Â{÷¯õQUP¨£mh Aø©¨¤ß P¸zøu £ØÔ ÂÍUSP. 

12. (a) Write the brief note on Inter process 
Communication. 

  Cßhº¦μõ\ì P®³Û÷Påß £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) Explain about Deadlock prevention. 

  •hUPzøu uk¨£x SÔzx ÂÍUSP. 



F–7990 

  

  3

13. (a) Discuss about Virtual Memory. 

  ö©´{Pº {øÚÁP® £ØÔ ÂÁ›. 

Or 

 (b) What is paging? How it is implemented? 

  ÷£â[ GßÓõÀ GßÚ? Cx GÆÁõÖ 

ö\¯À£kzu¨£kQÓx? 

14. (a) Elaborate the various file storage methods. 

  ÷Põ¨¦ ÁøPPÎß ÷\ª¨¦ •øÓPøÍ £ØÔ Â›ÁõP 

ÂÍUSP. 

Or 

 (b) Describe the various File operations. 

  ÷Põ¨¦ ÁøPPÎß ö\¯À£õkPøÍ £ØÔ ÂÁ›. 

15.  (a) Explain the Mechanisms of Protecting Hardware 
resources. 

  Áßö£õ¸Ò ÁÍ[PøÍ £õxPõUS® ÁÈ•øÓPøÍ 

£ØÔ ÂÍUSP. 

Or 

 (b) Write the short note on following: 

  (i)  Disk scheduling  

  (ii)  Virus. 

  ¤ßÁ¸ÁÚ £ØÔ ]Ö SÔ¨¦ GÊxP: 

(i) Ámk vmhªhÀ 

  (ii) øÁμì 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Difference between Multiprogramming and 
Multiprocessor. 

 ©Ài¦÷μõQμõªØS® ©Ài¦μõ\ëUS® Cøh÷¯ EÒÍ 

÷ÁÖ£õk. 

17. Explain different types of Scheduling. 

 vmhªh¼ß £À÷ÁÖ ÁøPPøÍ £ØÔ ÂÍUSP. 

18. Discuss the concept of Fragmentation and Compaction. 
Fragmentation and Compaction £ØÔ¯ P¸zøu ÂÁ›. 

19. Write brief note on File System Implementation. 

 ÷Põ¨¦ •øÓ |øh•øÓ¨£kzxuÀ £ØÔ ]Ö SÔ¨¦ 

GÊuÄ®. 

20. Describe about External Security. 

 öÁÎ¨¦Ó £õxPõ¨¦ £ØÔ ÂÁ›.  

———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. How does the Internet work? 

 Cøn¯® GÆÁõÖ C¯[SQÓx? 

2. What is WWW? 

 WWW GßÓõÀ GßÚ? 

3. List out any two web browser names. 

 H÷uÝ® Cμsk Cøn¯ E»õÂ ö£¯ºPøÍ²® 
£mi¯¼k[PÒ. 

4. What is mean by IP address? 

 I¤ •PÁ› GßÓõÀ GßÚ? 

5. How to use E-Mailing list? 

 ªßÚg\À Ag\À £mi¯ø» GÆÁõÖ £¯ß£kzxÁx? 

6. What are the parts of’ E-mail? 

 ªßÚg\¼ß £SvPÒ ¯õøÁ? 
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7. Define the term “Web Server”. 

 “Áø» ÷\øÁ¯P®” GßÓ Áõºzøuø¯ Áøμ¯ÖUPÄ®. 

8. What is Software? 

 ö©ßö£õ¸Ò GßÓõÀ GßÚ? 

9. How to create Hyperlinks? 

 øí¨£º¼[UPøÍ E¸ÁõUSÁx G¨£i? 

10. List out the List types. 

 £mi¯À ÁøPPøÍ £mi¯¼k[PÒ. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain what the services available on internet. 

  Cøn¯zvÀ QøhUS® ÷\øÁPÒ GßÚ Gß£øu 
ÂÍUS[PÒ. 

Or 

 (b) What is internet? What is it applications? 

  Cøn¯® GßÓõÀ GßÚ? Cx £¯ß£õkPÒ GßÚ? 

12. (a) What is Modem and explain why modem is used? 

  ÷©õh® GßÓõÀ GßÚ? ÷©õh® Hß 
£¯ß£kzu¨£kQÓx Gß£øu ÂÍUS[PÒ. 

Or 

 (b) Difference between PPP and SLIP. 

  PPP ©ØÖ® SLIP Cøh÷¯ ÷ÁÖ£õk GßÚ? 
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13. (a) What are the steps involved to create E-mail id? 

  ªßÚg\À Iiø¯ E¸ÁõUSÁuØPõÚ £iPÒ 
¯õøÁ? 

Or 

 (b) Explain how email works step by step. 

  ªßÚg\À GÆÁõÖ ö\¯À£kQÓx Gß£øu 
£i¨£i¯õP ÂÍUS[PÒ. 

14. (a) Briefly discuss about Managing HTTPD. 

  HTTPD I {ºÁQ¨£x £ØÔ _¸UP©õP ÂÁõvUPÄ®. 

Or 

 (b) What Software is required to run a Web server? 

  Áø» ÷\øÁ¯Pzøu C¯UP GßÚ ö©ßö£õ¸Ò 
÷uøÁ? 

15.  (a) What do you mean by list? Explain the list 
properties. 

  £mi¯À GßÓõÀ GßÚ? £mi¯À £s¦PøÍ 
ÂÍUS[PÒ. 

Or 

 (b) Write a short note on Features of multimedia. 

  ©Ài«i¯õÂß A®\[PÒ SÔzx J¸ ]Ö SÔ¨ø£ 
GÊx[PÒ. 

 Part C  (3 × 10 = 30) 

 Answer any three questions.  

16. Explain about various Internet Tools. 
 £À÷ÁÖ Cøn¯ P¸ÂPÒ £ØÔ ÂÍUSP. 

17. What is Web Browsers? Explain advantages of Web 
Browsers. 

 Áø» E»õÂPÒ GßÓõÀ GßÚ? Áø» E»õÂPÎß 
|ßø©PøÍ ÂÍUS[PÒ. 
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18. Write a brief note on Online Services. 

 Bßø»ß ÷\øÁPÒ SÔzx J¸ _¸UP©õÚ SÔ¨ø£ 
GÊx[PÒ. 

19. Explain web server software working with windows. 

 Âs÷hõêÀ öÁ¨ö\ºÁº ö\¯À£õkPøÍ ÂÍUSP. 

20. Explain any ten HMTL tags with example. 

 H÷uÝ® £zx GaG®iGÀ SÔaö\õØPøÍ²® 
GkzxUPõmkhß ÂÍUS[PÒ. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Mention any four type of audit. 

 H÷uÝ® |õßS uoUøP ÁøPPøÍ SÔ¨¤kP. 

2. What do you mean by joint stock companies? 

 Tmk £[S {ÖÁÚ[PÒ GßÓõÀ GßÚ? 

3. What is audit working paper? 

 uoUøP ÷Áø» BÁn[PÒ GßÓõÀ GßÚ? 

4. Define - Audit note book. 

 uoUøP SÔ¨¦ ¦zuP® – Áøμ¯Ö. 

5. Mention any four objectives of Vouching. 

 H÷uÝ® |õßS \õßÓõ´Âß ÷|õUP[PøÍ SÔ¨¤kP. 

6. How to verify payment of wages in vouching? 

 T¼ ö\¾zxÁøu G¨£i \õßÓõ´Ä ö\´¯»õ®? 
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7. What is Valuation? 

 ©v¨¤kuÀ GßÓõÀ GßÚ? 

8. What is audit report? 

 uoUøP AÔUøP GßÓõÀ GßÚ? 

9. What do you mean by criminal liabilities? 

 SØÓÂ¯À ö£õÖ¨¦PÒ GßÓõÀ GßÚ? 

10. What is meant by misfeasance? 

 uÁÓõP ö\¯À£kÁuß ö£õ¸Ò GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Briefly describe the disadvantages of an Audit. 

  uoUøP°ß wø©PøÍ _¸UP©õP ÂÁ›. 

Or 

 (b) What are the functions of auditing? 

  uoUøP°ß ö\¯À£õkPÒ ¯õøÁ? 

12. (a) Bring out the object of working papers. 

  uoUøP ÁøμuÎß ÷|õUP[PøÍ ÂÍUSP.  

Or 

 (b) How would you verify investment in Shares? 

  £[SPÎß •u½k ö\´ÁuøÚ }Âº GÆÁõÖ 
\›£õº¨¥º? 

13. (a) How would you verify the following assets and 
liabilities? 

  (i) Leasehold property 

  (ii) Provision for taxations. 
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  ¤ßÁ¸® ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PøÍ GÆÁõÖ 
\›£õºUP»õ®? 

  (i) SzuøP ö\õzx 

  (ii) Á› JxURk. 

Or 

 (b) State the significance of vouching. 

  \õßÓõ´Âß •UQ¯zxÁzøuU TÖP. 

14. (a) What are the criteria for good internal control? 

  J¸ ]Ó¢u APU Pmk¨£õmiß £s¦PÒ ¯õøÁ?  

Or 

 (b) Narrate the points to be considered while verifying 
liabilities. 

  ö£õÖ¨¦PÒ \›£õºUP¨£k® ÷£õx PÁÛUP 
÷Ási¯ P¸zxPøÍ ÂÁ›UP. 

15.  (a) Discuss the auditors liability to third parties for 
negligence. 

  PÁÚUSøÓ°ß ‰»® ‰ßÓõ® |£¸USz 
uoUøP¯õÍº G¢u AÍÂØS ö£õÖ¨¦ÒÍÁμõQÓõº 
Gß£øu ÂÁ›UP. 

Or 

 (b) Explain the types of fraud. 

  ÷©õ\i°ß ÁøPPøÍ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the provisions regarding the appointment of 
company auditor. 

 {Ö©z uoUøP¯õÍøμ {¯©Ú® ö\´ÁvÀ Ah[Q²ÒÍ 
ÂvPøÍ ÂÁ›. 
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17. List out the contents of audit report. 

 uoUøP AÔUøP°ß EÒÍhUP[PøÍ £mi¯¼kP. 

18. Explain audit programme and draft a model audit 
programme. 

 uoUøP vmhzøu ÂÁ›zx Auß ©õv› uoUøP 
vmhzøu u¯õ›UP. 

19. State the important books of accounts and statutory 
records maintained by a company. 

 J¸ {ÖÁÚ® £μõ©›US® PnUSPÒ ©ØÖ® \mhŸv¯õÚ 
£vÄPÎß •UQ¯©õÚ ¦zuP[PøÍU SÔ¨¤kP. 

20. State briefly how you would verify the following? 

 (a)  Cash in hand  

 (b)  Cash at bank  

 (c)  Petty cash. 

 ¤ßÁ¸ÁÚÁØøÓ GÆÁõÖ \›£õºUP»õ®? 

 (A) öμõUP øP°¸¨¦ 

 (B) Á[Q°¸¨¦ 

 (C) ]À»øμ öμõUP® 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Give the meaning of Costing. 

 AhUPÂø» ö\»Ä Gß£uß ö£õ¸Ò u¸P. 

2. What do you mean by indirect material? 

 ©øÓ•P ö\»Ä GßÓõÀ GßÚ? 

3. What is perpetual inventory? 

 {μ¢uμ \μUS C¸¨¦ GßÓõÀ GßÚ? 

4. What do you mean by minimum stock level? 

 SÖ \μUS {ø» Gß£uß EÚx P¸zx ¯õx? 

5. Define labour. 

 öuõÈ»õÍº Áøμ¯ÖUP. 

6. What is time rate system of wage payment? 

 Fv¯ ÷|μ Ãu •øÓ GßÓõÀ GßÚ? 
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7. What is allocation? 

 JxURk GßÓõÀ GßÚ? 

8. What do you mean by overhead? 

 ÷©Øö\»Ä GßÓõÀ GßÚ? 

9. Define job costing. 

 £o AhUPÂø» Áøμ¯ÖUP. 

10. What is abnormal gain? 

 A\õuõμn Buõ¯® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) Explain the advantages of cost accounting. 

  AhUPÂø» ö\»Ä PnUQ¯¼ß |ßø©PøÍ 
ÂÍUSP. 

Or 

 (b) Calculate cost sheet : 

(i) prime cost 

(ii) work cost 

(iii) cost of production 

(iv) cost of sales 

(v) profit. 

 Rs. 

Direct materials 1,00,000 

Direct wages  25,000 

Direct expenses 5,000 

Wages of foreman  2,500 



F–7993 

  

  3

 Rs. 

Electric power 500 

Lighting factory 1,500 

Lighting office  500 

Rent factory 5,000 

Rent office  2,500 

Salaries to salesman  1,250 

Advertising 1,250 

Income tax 10,000 

Sales 1,89,500 

  ö\»Äz uõøÍU öPõsk : 

   (i) ¤μuõÚ ö\»Ä 

   (ii) ÷Áø» ö\»Ä 

   (iii) EØ£zv ö\»Ä  

   (iv) ÂØ£øÚ ö\»Ä 

   (v) »õ£® BQ¯ÁØøÓ PnUQkP. 

 ¹. 

÷|μi ö£õ¸mPÒ 1,00,000 

÷|μi Fv¯® 25,000 

÷|μi ö\»ÄPÒ 5,000 

L÷£õº÷©ß Fv¯® 2,500 

ªß \Uv 500 

ÂÍUS öuõÈØ\õø» 1,500 

ÂÍUS A¾Á»P® 500 

öuõÈØ\õø» ÁõhøPUS 5,000 
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 ¹. 

A¾Á»Pzøu ÁõhøPUS Âk[PÒ 2,500 

ÂØ£øÚ¯õÍ¸US \®£Í® 1,250 

ÂÍ®£μ¨£kzuÀ 1,250 

Á¸©õÚ Á› 10,000 

ÂØ£øÚ 1,89,500 

12. (a) Calculate stock level method: 

Reordering quantity 1000 units 

Reordering period 4 to 8 weeks 

Normal usage 400 units per week each 

Minimum usage 250 units per week each 

Maximum usage 350 units per week each 

  You are required to calculate the following for each 
of the components  

  (i)  Reordering level 

  (ii)  Maximum level 

  (iii)  Minimum level 

  (iv)  Average stock. 

  \μUQ¸¨¤ß •øÓø¯ PnUQkP : 

©Ö^μø©zuÀ AÍÄ 1000 A»SPÒ 

©Ö^μø©US® Põ»®  4 •uÀ 8 Áõμ[PÒ 

\õuõμn £¯ß£õk ÁõμzvØS 400 A»SPÒ

SøÓ¢u£m\ £¯ß£õk ÁõμzvØS 250 A»SPÒ 

AvP£m\ £¯ß£õk ÁõμzvØS 350 A»SPÒ 
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  JÆöÁõ¸ TÖPÐUS® }[PÒ ¤ßÁ¸ÁøuU 
PnUQh ÷Ásk® : 

  (i)  {ø» ©Ö^μø©zuÀ 

  (ii)  AvP£m\ {ø» 

  (iii)  SøÓ¢u£m\ {ø» 

  (iv) \μõ\› £[S. 

Or 

 (b) Write short note on Perpetual inventory (EOQ). 

  ]Ö SÔ¨¦ ÁøμP : {μ¢uμ \μUS (EOQ). 

13. (a) From the following data prepare a statement 
showing the cost per day of 8 hours of engaging a 
particular type of labour. 

  (i) Monthly salary (Basic plus dearness 
allowance) Rs. 400 

  (ii) Leave salary payable to workman 15% of basis 
and dearness allowance. 

  (iii) Employee’s contribution to PF 8% of salary 
(items (i) and (ii)) 

  (iv) Employer’s contribution to E.S.I. 5% of salary 
(items (i) and (ii)) 

  (v) Pro rate expenditure on amenities to labour  
Rs. 25 per head per month. 

  (vi) No. of working hours in a month 200 

  ¤ßÁ¸® AÔUøP°À C¸¢x J¸ SÔ¨¤mh ÁøP 
EøÇ¨¤À Dk£kÁuØPõÚ J¸ |õøÍUS 8 ©o ÷|μ 
ö\»øÁU Põmk® AÔUøPø¯z u¯õ›UPÄ®. 

  (i) ©õu \®£Í® (Ai¨£øh ©ØÖ® AP Âø»¨£i) 
¹. 400  

  (ii) öuõÈ»õÎUS ö\¾zu ÷Ási¯ \®£Ízøu 
15% Ai¨£øh ©ØÖ® APÂø»¨£i  
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  (iii) PF 8% \®£ÍzvØS FÈ¯›ß £[PÎ¨¦ 
(ö£õ¸mPÒ (i) ©ØÖ® (ii)) 

  (iv) E.S.I. US •u»õÎ°ß £[PÎ¨¦ 5% \®£Í® 
(ö£õ¸mPÒ (i) ©ØÖ® (ii)) 

  (v) EøÇ¨¦UPõÚ Á\vPÐUPõÚ \õº¦ Ãu ö\»Ä 
©õu® JßÖUS 25 ¹£õ´ 

  (vi) J¸ ©õuzvÀ ÷Áø» ö\´²® ÷|μ® 200. 

Or 

 (b) Calculate the earnings of a workers under  

(i) Halsey premium plan and 

(ii) Rowan scheme 

   Time allowed = 50 hours 

   Time taken = 30 hours 

   Rates per hours = Rs. 2 

  (i) íõÀ] ¤Ÿª¯® vmh® ©ØÖ® 

   (ii)  ÷μõÁß vmhzvß RÌ J¸ öuõÈ»õÍºPÎß 
Á¸Áõø¯U PnUQk[PÒ 

     AÝ©vUP¨£mh ÷|μ® = 50 ©o ÷|μ® 

     GkUP¨£mh ÷|μ® = 30 ©o ÷|μ® 

     ©o ÷|μ ÂQu[PÒ = 2. 

14. (a) Explain the difference between Allocation and 
Apportionment. 

JxURk ©ØÖ® £QºÄUS Cøh°»õÚ Âzv¯õ\zøu 
ÂÍUSP. 

Or 
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 (b) In a factory there are two service departments  
X and Y and three production departments A, B and 
C. in April 2012. The departmental expenses were. 

Department A B C X Y 

 6,300 7,400 2,800 4,500 2,000

  The expenses of the service department are allotted 
on a percentage basis as follows : 

Departments  A B C X Y 

X 40% 40% 20% – 10%

Y 30% 30% 20% 20% – 

  Prepare a statement showing distribution of the 
expenses of the two service department on a 
percentage basis by repeated distribution method. 

  J¸ öuõÈØ\õø»°À H¨μÀ 2012 CÀ Cμsk 
÷\øÁz xøÓPÒ GUì ©ØÖ® J´ ©ØÖ® ‰ßÖ 
EØ£zvz xøÓPÒ H, ¤ ©ØÖ® ] EÒÍÚ. 
AøÁPÎß xøÓ ö\»ÄPÒ ¤ßÁ¸©õÖ. 

xøÓPÒ A B C X Y 

 6,300 7,400 2,800 4,500 2,000

  ÷\øÁz xøÓ°ß ö\»ÄPÒ ¤ßÁ¸©õÖ \uÃu 
Ai¨£øh°À JxUP¨£kQßÓÚ. 

xøÓPÒ  A B C X Y 

X 40% 40% 20% – 10%

Y 30% 30% 20% 20% – 

  Cμsk ÷\øÁz xøÓ°ß ö\»ÂÚ[PøÍ J¸ \uÃu 
Ai¨£øh°À «sk® «sk® Â{÷¯õQUS® 
•øÓ¯õÀ Â{÷¯õQ¨£øuU Põmk® AÔUøPø¯z 
u¯õ›UPÄ®. 
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15.  (a) Product requires three distinct processes and after 
the third process the product is transferred to the 
finished stock. You are required to prepare process 
accounts from the following information. 

 Process I Process II Process III

 Rs. Rs. Rs. 

Direct Materials 8,000 1,200 800

Direct Labour 3,000 3,200 1,800

Direct expenses 1,000 600           – 

  The total production overheads were Rs.12,000 and 
it must be allocated to different processes on the 
basis of 150% of direct wages. Production during the 
period was 400 units but there is no opening and 
closing stock. 

  ‰ßÖ u¯õ›¨¦US uÛzxÁ©õÚ ö\¯À•øÓPÒ 
÷uøÁ¨£kQßÓÚ. ‰ßÓõÁx ö\¯À•øÓUS¨ ¤ÓS 
u¯õ›¨¦ •iUP¨£mh £[SUS ©õØÓ¨£kQÓx. 
¤ßÁ¸® uPÁÀPÎ¼¸¢x ö\¯À•øÓ PnUSPøÍ 
}[PÒ u¯õ›UP ÷Ásk®. 

 ö\¯À•øÓ I ö\¯À•øÓ II ö\¯À•øÓ III

 ¹. ¹. ¹. 

÷|μi ö£õ¸mPÒ 8,000 1,200 800

÷|μi öuõÈ»õÍº 3,000 3,200 1,800

÷|μi ö\»ÄPÒ 1,000 600 –

  ö©õzu EØ£zv ÷©Øö\»Ä ¹. 12,000 ©ØÖ® Cx 
150% ÷|μi Fv¯zvß Ai¨£øh°À öÁÆ÷ÁÖ 
ö\¯À•øÓPÐUS JxUP¨£h ÷Ásk®. C¢u Põ» 
PmhzvÀ EØ£zv 400 A»SPÍõP C¸¢ux.  BÚõÀ, 
öuõhUP ©ØÖ® CÖv \μUQ¸¨¦ CÀø». 

Or 
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 (b) Explain the difference between Job costing and 
processing costing. 

  ÷Áø» ö\»Ä ©ØÖ® ö\¯»õUP ö\»Ä 
BQ¯ÁØÖUS Cøh°»õÚ Âzv¯õ\zøu ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following particulars prepare a cost sheet 
showing the total cost per tone for the period ended  
31st December 2016 

 Rs. 

Raw material 33,000 

Productive wages 35,000 

Direct expenses 3,000 

Unproductive wages 10,500 

Factory rent and terms 7,500 

Factory lighting 2,200 

Factory heating 1,500 

Motive power 4,400 

Haulage 3,000 

Director’s fees (works) 1,000 

Depreciation of - plant and machinery 2,000 

Depreciation of- office building 1,000 

Delivery vans 200 

Bad debts 100 

Advertising 300 

Sales department 1,500 
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 Rs. 

Salaries 2000 

Director’s fees (office) 2,000 

Factory cleaning 500 

Sundry office expenses 200 

Estimating 800 

Factory stationery 750 

Office stationery 900 

Factory insurance 1,100 

Office insurance 500 

Legal expenses 400 

Rent of warehouse 300 

Un keeping of delivery vans 700 

Bank charges 50 

Commission on sales 1,500 

Loose tools written off 600 

Rent and taxes (office) 500 

Water supply 1,200 

 (a) Prime cost  

 (b)  Work cost 

 (c)  Cost of production 

 (d)  Cost of production of goods sold 

 (e)  Cost of sales 

 (f)  Profit 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 2016 i\®£º 31 B® 
÷uv²hß •iÁøh¢u Põ»zvØPõÚ ö©õzu öuõøPø¯U 
Põmk® ö\»Äz uõøÍz u¯õ›UPÄ®. 

 ¹. 

‰»¨ö£õ¸Ò  33,000 
EØ£zv Fv¯® 35,000 
÷|μi ö\»ÄPÒ 3,000 
EØ£zv ö\´¯õu Fv¯[PÒ 10,500 
öuõÈØ\õø» ÁõhøP ©ØÖ® Âv•øÓPÒ 7,500 
öuõÈØ\õø» ÂÍUSPÒ 2,200 
öuõÈØ\õø» öÁ¨£©õUPÀ 1,500 
E¢x \Uv 4,400 
÷íõÆ»õU 3,000 
C¯US|›ß Pmhn® (£øh¨¦PÒ) 1,000 
÷u´©õÚ® – Bø» ©ØÖ® C¯¢vμ[PÒ 2,000 
÷u´©õÚ® – A¾Á»P Pmih® 1,000 
öh¼Á› ÷ÁßPÒ 200 
÷©õ\©õÚ PhßPÒ 100 
ÂÍ®£μ¨£kzuÀ 300 
ÂØ£øÚ xøÓ 1,500 
Fv¯[PÒ 2,000 
C¯US|›ß Pmhn® (A¾Á»P®) 2,000 
öuõÈØ\õø» _zu® 500 
\ßm› A¾Á»P ö\»ÄPÒ 200 
©v¨¤kuÀ 800 
öuõÈØ\õø» GÊxö£õ¸Ò 750 
A¾Á»P GÊxö£õ¸Ò 900 
öuõÈØ\õø» Põ¨¥k 1,100 
A¾Á»P Põ¨¥k 500 
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 ¹. 

\mh ö\»ÄPÒ 400 

Qh[Qß ÁõhøP 300 

öh¼Á› ÷ÁßPøÍ øÁzv¸zuÀ 700 

Á[Q Pmhn[PÒ 50 

ÂØ£øÚUPõÚ Pªåß 1,500 

uÍºÁõÚ P¸ÂPÒ GÊu¨£mkÒÍÚ 600 

ÁõhøP ©ØÖ® Á› (A¾Á»P®) 500 

uspº Â{÷¯õP® 1,200 

 ÷©¾®  

 (A)  •ußø© ö\»Ä  

 (B)  ÷Áø» ö\»Ä  

 (C) EØ£zv ö\»Ä 

 (D) ÂØP¨£mh ö£õ¸mPÎß EØ£zv ö\»Ä 

 (E)  ÂØ£øÚ ö\»Ä 

 (F) »õ£® BQ¯ÁØøÓ u¯õ›UPÄ®. 

17. X Ltd has prepare a stores ledger by adopting FIFO 
method. January 2015 

1 Purchased 400 units @ Rs.10 per unit 

10 Purchased 250 units @ Rs.12 per unit 

15 Issued 150 units 

18 Purchased 300 units @ Rs.14 per unit 

20 Issued 200 units 

25 Purchased 200 units @ Rs.16 per unit 

31 Issued 200 units 
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 GUì ¼ªöhm FIFO •øÓø¯¨ ¤ß£ØÔ J¸ ì÷hõºì 
ö»máøμz áÚÁ› 2015 u¯õ›UPÄ®. 

1 ³ÛmkPÒ Áõ[Q¯x 400 ³ÛmkPÒ @ J¸ ³Ûmiß Âø» ¹. 10  

10 ³ÛmkPÒ Áõ[Q¯x 250 ³ÛmkPÒ @ J¸ ³Ûmiß Âø» ¹. 12  

15 150 ³ÛmkPÒ öPõkzux 

18 ³ÛmkPÒ Áõ[Q¯x 300 ³ÛmkPÒ @ J¸ ³Ûmiß Âø» ¹. 14  

20 200 ³ÛmkPÒ öPõkzux 

25 ³ÛmkPÒ Áõ[Q¯x 200 ³ÛmkPÒ @ J¸ ³Ûmiß Âø» ¹. 16  

31 200 ³ÛmkPÒ öPõkzux 

18. Explain the methods of measurement of labour turnover. 

 öuõÈ»õÍº Á¸Áõø¯ AÍÂk® •øÓPøÍ ÂÍUSP. 

19. Modern Ltd has three production departments ‘A’ ‘B’ and 
‘C’ and two service departments ‘D’ and ‘E’. The following 
figures are extracted from the records of the company. 

 Rs. 

Rent and Rates 5,000 

Indirect Wages 1,500 

Depreciation of Machinery 10,000 

General Lighting 600 

Power 1,500 

Sundries 10,000 
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 Following further details are available : 

 Total A B C D E 

Floor Space 

(sq.meters) 

10,000 2,000 2,500 3,000 2,000 500 

Light Points 60 10 15 20 10 5 

Direct Wages (Rs.) 10,000 3,000 2,000 3,000 1,500 500 

H. P. Machines 150 60 30 50 10 – 

Value of 

Machinery (Rs.) 

2,50,000 60,000 80,000 1,00,000 5,000 5,000 

 Apportion the cost to various departments on the most 

equitable basis by preparing a primary departmental 

distribution summary. 

 ©õhºß ¼ªöhm ‰ßÖ EØ£zv xøÓPÍõÚ ‘H’ ‘¤’ ©ØÖ® 

‘]’ ©ØÖ® Cμsk ÷\øÁz xøÓPÍõÚ ‘i’ ©ØÖ® ‘C’ 
BQ¯ÁØøÓU öPõskÒÍx {ÖÁÚzvß £vÄPÎ¼¸¢x 

¤ßÁ¸® ¦ÒÎ ÂÁμ[PÒ GkUP¨£kQßÓÚ. 

 ¹. 

ÁõhøP ©ØÖ® ÂQu[PÒ 5,000 

©øÓ•P Fv¯[PÒ 1,500 

C¯¢vμ[PÎß ÷u´©õÚ® 10,000 

ö£õx ÂÍUS 600 

\Uv 1,500 

£Ø£» ö\»ÄPÒ 10,000 
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 ¤ßÁ¸® TkuÀ ÂÁμ[PÒ QøhUQßÓÚ : 

 ö©õzu® A B C D E 

uøμ öÁÎ (\xμ 

«mhº) 
10,000 2,000 2,500 3,000 2,000 500 

JÎ ¦ÒÎPÒ 60 10 15 20 10 5 

÷|μi Fv¯[PÒ (¹.) 10,000 3,000 2,000 3,000 1,500 500 

Ga.¤. C¯¢vμ[PÒ 150 60 30 50 10 – 

C¯¢vμ[PÎß ©v¨¦ 

(¹.) 
2,50,000 60,000 80,000 1,00,000 5,000 5,000 

 J¸ •ußø© xøÓ Â{÷¯õP _¸UPzøu u¯õ›¨£uß 

‰»® £À÷ÁÖ xøÓPÐUS ªPÄ® \©©õÚ Ai¨£øh°À 

ö\»øÁ JxUS[PÒ. 

20. Calculate the cost of each process and total cost of 

production from the data given below : 

 I 

Rs. 

II 

Rs. 

III 

Rs. 

Materials 2,250 750 300

Labour 1,200 3,000 900

Direct expenses 500 500 500

Works overhead 1,890 2,580 1,875

 Other indirect expenses of Rs.1,275 should be 

apportioned on the basis of wages. 
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 JÆöÁõ¸ ö\¯À•øÓ°ß ö\»Ä ©ØÖ® ö©õzu EØ£zv 
ö\»Ä BQ¯ÁØøÓ R÷Ç öPõkUP¨£mkÒÍ 
uμÄPÎ¼¸¢x PnUQk[PÒ. 

 I 
¹. 

II 
¹. 

III 
¹. 

ö£õ¸mPÒ 2,250 750 300

öuõÈ»õÍº 1,200 3,000 900

÷|μi ö\»ÄPÒ 500 500 500

÷©À{ø» ÷Áø» 1,890 2,580 1,875

 ¤Ó ©øÓ•P ö\»ÄPÒ ¹. 1,275 Fv¯zvß Ai¨£øh°À 
¤›UP¨£h ÷Ásk®. 

  

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2022 

Sixth Semester 

Commerce with Computer Applications 

JAVA PROGRAMMING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. List any two Web Browsers. 

 H÷uÝ® Cμsk Áø» E»õÂPøÍ £mi¯¼kP. 

2. What is mean by JDK?  

 ÷á.i.÷P. GßÓõÀ GßÚ? 

3. Write short note on Data types in Java. 

 áõÁõÂÀ uμÄ ÁøPPøÍ SÔzx ]Ö SÔ¨ø£ GÊxP. 

4. Give the syntax of While Statement. 

 While AÔUøP°ß öuõh›¯À öPõkUPÄ®. 

5. Define Nesting of Methods. 

 TkPÎß •øÓPøÍ Áøμ¯ÖUPÄ®. 

6. How to access member function in Class. 

 ÁS¨¤À EÖ¨¤Úº ö\¯À£õmøh GÆÁõÖ AqSÁx. 

Sub. Code 
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7. Why do we use packages in Java? 

 áõÁõÂÀ |õ® Hß öuõS¨¦PøÍ¨ £¯ß£kzxQ÷Óõ®? 

8. Define the term Thread Synchronization. 

 Thread Synchronization GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

9. What is the expansion of HTML? 

 HTML Cß Â›ÁõUP® GßÚ? 

10. How do you run an applet? 

 B¨ö»møh GÆÁõÖ C¯USQÕºPÒ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write short note on following: 

(i) Internet 

  (ii) WWW. 

  ¤ßÁ¸ÁÚÁØÔÀ ]Ö SÔ¨ø£ GÊxP 

(i) Cøn¯® 

  (ii) WWW. 

Or 

 (b) Explain JDK with example. 

  JDK I GkzxUPõmkhß ÂÍUSP. 

12. (a) What is Array? Explain the concept of two 
dimensional arrays. 

  Á›ø\ GßÓõÀ GßÚ? C¸ £›©õn Á›ø\PÎß 
P¸zøu ÂÍUSP. 

Or 

 (b) Explain precedence of arithmetic operator with 
example. 

  GsPou B£÷μmh›ß •ßÝ›ø©ø¯ 
GkzxUPõmkhß ÂÍUSP. 
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13. (a) Briefly discuss about  multithreading. 

  ©Ài Ÿi[ £ØÔ _¸UP©õP ÂÁõvUPÄ®. 

Or 

 (b) Discuss about Overriding methods. 

  KÁºøμi[ •øÓPÒ £ØÔ ÂÁõvUPÄ®. 

14. (a) Explain types of Errors.  

  ¤øÇPÒ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) What is Package? Explain the process of creating 
and naming the package. 

  öuõS¨¦ GßÓõÀ GßÚ? öuõS¨ø£ E¸ÁõUQ 
ö£¯›k® ö\¯À•øÓø¯ ÂÍUSP. 

15.  (a) Explain the concept of Line graphs with example. 

  Á› Áøμ£h[PÎß P¸zøu GkzxUPõmkhß 
ÂÍUSP. 

Or 

 (b) Write a java program to implement Mouse Events. 

  _mi {PÌÄPøÍ ö\¯À£kzu áõÁõ {μø» GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain oops concepts in details. 

 Oops P¸zxUPøÍ ÂÁμ[PÎÀ ÂÍUSP. 

17. Write brief note on decision making statements. 

 •iöÁkUS® AÔUøPPÒ SÔzx _¸UP©õÚ SÔ¨ø£ 
GÊxP. 
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18. Discuss about Nesting of method with example program. 

 GkzxUPõmk {μ¾hß ö|ìi[ •øÓ £ØÔ ÂÍUSP. 

19. Explain Exception in Java. 

 áõÁõÂÀ ÂvÂ»UøP ÂÍUSP. 

20. Draw the life cycle of applet with diagram. 

 B¨ö»miß B²Ò _ÇØ]ø¯ Áøμ£hzxhß Áøμ¯Ä®. 
 

———————— 
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INCOME TAX LAW AND PRACTICE – II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write a short note on “AMT”. 

 “AMT” SÔzx ]Ö SÔ¨ø£ GÊuÄ®. 

2. Who can be partner of a firm? 

 J¸ {ÖÁÚzvß £[SuõμμõP ¯õº C¸UP •i²®? 

3. Who is an Assessing Officer? 

 ©v¨¥mk AvPõ› Gß£Áº ¯õº? 

4. Who can be a member of Appellate Tribunal? 

 ÷©À•øÓ±mk wº¨£õ¯zvÀ ¯õº EÖ¨¤ÚμõP C¸UP 
•i²®? 

5. What is carry forward and set-off losses? 

 |mhzøu |h¨¦ BsiÀ \› ö\´Áx ©ØÖ® Akzu 
BsiØS öPõsk ö\ÀÁx GßÓõÀ GßÚ? 

Sub. Code 
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6. What are no limit deductions? 

 AÍÂÀ»õ PÈÄPÒ ¯õøÁ? 

7. What is Self-Assessment? 

 “_¯ ©v¨¥k” GßÓõÀ GßÚ? 

8. What is revised return? 

 v¸zu¨£mh Á¸©õÚ® GßÓõÀ GßÚ? 

9. What is “Tax Credit Certificate”? 

 Á› ÁμÄ \õßÔuÌ GßÓõÀ GßÚ? 

10. When a person is liable to pay advance tax? 

 G¨÷£õx J¸Áº •ßTmi¯ Á› ö\¾zu ÷Ási²ÒÍx? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) The following are the particulars of Mr. X for the 
Previous Year 2021-22. You are asked to compute 
his net tax liability or amount refundable, as the 
case may be : 

              Particulars                                       Rs. 
  Business Income   5,56,900 
  Rent of property   10,000 
  Municipal tax on property paid 1,000 
  Agricultural income  10,000 
  Long term capital gains  15,000 
  Lottery winning from Kerala State 50,000 
  Life Insurance Premium paid 10,000 
  Contribution to Public Provident Fund 15,000 
  Casual Income from crossword puzzles 1,200 
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  v¸. X Gß£Á›ß •¢øu¯ Bsk 2021–22 UPõÚ 
ÂÁμ[PÒ ¤ßÁ¸©õÖ öPõkUP¨£mkÒÍx. 
AÁ¸øh¯ {Pμ Á› ö£õÖ¨¦ AÀ»x v¸¨¤a 
ö\¾zuU Ti¯ öuõøPø¯ PnUQk[PÒ. 

              ÂÁμ[PÒ                                                    ¹. 

 ÁoP Á¸©õÚ®    5,56,900 

 Ãmk ö\õzv¼¸¢x ö£ØÓ ÁõhøP  10,000 

 Ãmk ö\õzvØPõP ö\¾zv¯ |Pμõm] Á› 1,000 

 ÂÁ\õ¯ Á¸©õÚ®    10,000 

 }sh Põ» ‰»uÚ Buõ¯[PÒ  15,000 

 ÷PμÍõ ©õ{»zv¼¸¢x »õmh›°ß ‰»® öÁßÓx 50,000 

 B²Ò Põ¨¥mk ¤›ª¯® ö\¾zu¨£mhx 10,000 

 ö£õx Á¸[Põ» øÁ¨¦ {v°À £[PÎ¨¦ 15,000 

 SÖUöPÊzx ¦vºPÎhª¸¢x ö£ØÓ \õuõμn Á¸©õÚ® 1,200 

Or 

 (b) X, Y and Z are partners of firm with equal shares. 
The profit and loss account for the year ended 
31.3.2022 shows a net profit of Rs.2,80,000 after 
debiting Rs. 7,000 for interest paid to X at 20%   
Rs. 60,000 for salary paid to Y and Rs. 44,000 for 
rent of the business premises paid to Z. Compute the  
book profit of the firm. The firm fulfils the 
conditions of Sec. 184. 

  X, Y ©ØÖ® Z BQ÷¯õº \© £[SPÐhß {ÖÁÚzvÀ 
TmhõÎPÍõP EÒÍÚº. 31.3.2022 Ehß 
•iÁøh¢u BsiØPõÚ C»õ£ |mh PnUQÀ {Pμ 
C»õ£®  
¹. 2,80,000. CvÀ HØPÚ÷Á £ØÖ øÁzux X US 
ö\¾zv¯ Ámi ¹.20% ¹.7,000, Y Gß£Á¸US 
ö\¾zv¯ \®£Í® ¹. 60,000 ©ØÖ®  Z Gß£Á¸US 
ö\¾zv¯ ÁoP ÁÍõPzvØPõÚ ÁõhøP ¹.44,000. 
{ÖÁÚzvØPõÚ ¦zuP C»õ£zøu PnUQk[PÒ. 
C¢u {ÖÁÚ® Sec. 184 Cß £i {£¢uøÚPøÍ 
§ºzv ö\´QÓx. 
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12. (a) What are the various authorities envisaged in the 
Indian Income Tax Law and what are their 
functions? 

C¢v¯ Á¸©õÚ Á›a \mhzvÀ SÔ¨¤mkÒÍ 
£À÷ÁÖ AvPõμ[PÒ GßÚ? ©ØÖ® AÁØÔß 
ö\¯À£õkPÒ GßÚ ? 

Or 

 (b) Describe the organisation of the Income Tax 
Department. 

  Á¸©õÚ Á›zxøÓ°ß Aø©¨ø£ ÂÁ›UPÄ®. 

13. (a) The following particulars are of Shri Santhosh 
income for the Previous Year ending 31st March, 2022 

         Particulars                                         Rs. 

  Income from House Property (Loss) 6,000 

  Interest on sundry loans (Income) 3,000 

  Business income (Cloth)  2,90,000 

  Share of loss from firm  18,000 

  Speculation loss   3,200 

  Dividend (Gross)   5,000 

  Capital gains (short term) 1,500 

  Capital gains (long term) 6,000 

  Loss from small scale industry 14,000 

  Income from agricultural land 4,500 

  Set-off various losses from income and compute 
gross total income. Find out the amount which can 
be carried forward. 
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ÿ \¢÷uõè Gß£Áμx 31.3.2022 B® ÷uv²hß 
•iÁøh¢u •¢øu¯ BsiØPõÚ Á¸©õÚ 
ÂÁμ[PÒ ¤ßÁ¸©õÖ öPõkUP¨£mkÒÍx. 

          ÂÁμ[PÒ                                       ¹. 

  Ãmk ö\õzvß ÁõhøP Á¸©õÚ® (CÇ¨¦) 6,000 
  £Ø£» PhßPÐUPõÚ Ámi (Á¸©õÚ®) 3,000 
  ÁoP Á¸©õÚ® (xo)  2,90,000 
  {ÖÁÚzvß £[SPÎß ‰»® CÇ¨¦ 18,000 
  FP ÁoP CÇ¨¦   3,200 
  DÄz öuõøP (ö©õzu®)  5,000 
  ‰»uÚ Buõ¯[PÒ (SÖQ¯ Põ»®) 1,500 
  ‰»uÚ Buõ¯[PÒ (}sh Põ»®) 6,000 
  ]Ö SÖ öuõÈ¼ß ‰»® CÇ¨¦ 14,000 
  ÂÁ\õ¯ {»zvß ‰»® Á¸©õÚ® 4,500 
  Á¸©õÚzv¼¸¢x £À÷ÁÖ CÇ¨¦PøÍ \›UPmi 

ö©õzu Á¸©õÚzøu PnUQk[PÒ. ÷©¾® Akzu 
BsiØS öPõsk ö\À¾® öuõøPø¯²® PnUQk. 

Or 

 (b) Mr. Abdul donated the following amounts in the 
Previous Year 2021–22 by cheques : 

   Particulars                                        Rs. 

  Prime Minister’s National Relief Fund 10,000 

  National Defence Fund  20,000 

  Mangalore University (of national eminence) 10,000 

  Aid to poor students  2,000 

  Books donated to an approved college 6,000 
  (for cash) 

  Approved charitable Institution 30,000 

  Municipality, approved for promotion of   
 family planning    10,000 
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  Mr. Abdul’s gross total income for the Assessment 
Year 2022-23 was Rs.3,05,000. He has incurred an 
expenditure of Rs. 15,000 on the medical treatment 
of a disabled dependent. Calculate the deduction 
allowable to him u/s 80G. 

  v¸ A¨xÀ  Gß£Áº •¢øu¯ Bsk 2021&22 CÀ 
¤ßÁ¸® öuõøPPøÍ Põ÷\õø»°ß ‰»® 
|ßöPõøh¯õP AÎzxÒÍõº.  

   ÂÁμ[PÒ                                        ¹. 

 ¤μu©›ß ÷u]¯ {Áõμn {v  10,000 

 ÷u]¯ £õxPõ¨¦ {v   20,000 

 ©[PÑº £ÀPø»U PÇP® (÷u]¯ AÍÂÀ) 10,000 

 HøÇ ©õnÁºPÐUS EuÂ  2,000 

 A[RP›UP¨£mh PÀ¿›US ¦zuPzvØPõP   
 |ßöPõøh AÎUP¨£mhx (£n©õP) 6,000 

 A[RP›UP¨£mh öuõsk {ÖÁÚzvØPõP  30,000 

 |Pμõm], Sk®£ Pmk£õmøh ÷©®£kzu   
 J¨¦uÀ öuõhº£õP   10,000 

  2022&23 ©v¨¥mk BsiØPõÚ v¸. A¨x¼ß 
ö©õzu Á¸©õÚ® ¹. 3,05,000. AÁº uß \õº¢u 
©õØÖzvÓÚõÎUS ©¸zxÁa ]Qaø\UPõP ¹. 15,000 
ö\»Ä ö\´xÒÍõº. ¤›Ä 80G&ß RÌ AÁ¸US 
AÝ©vUP¨£k® Â»UøPU PnUQkP. 

14. (a) Explain provisions regarding Self-assessment. 

  _¯ ©v¨¥k öuõhº£õÚ ÂvPøÍ ÂÍUSP.  

Or 

 (b) What are you understand by Permanent Account 
Number? 

  {μ¢uμ PnUS Gs £ØÔ }[PÒ ¦›¢x öPõshx 
GßÚ? 
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15. (a) What are the payments on which tax is deducted at 
source? 

  Á› ö\¾zxÁuØPõÚ PÈUP¨£k® Buõμ[PÒ 
¯õøÁ? 

Or 

 (b) Describe the different modes of recovery of tax. 

  Á› Á`¼US® £À÷ÁÖ ÁøP¯õÚ •øÓPøÍ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following particulars of Miss Minal Bhatnagar 
calculate her total income and tax liability for the 
Assessment Year 2022-23. 

  Particulars   Rs. 

 Net Salary      6,68,000 

 Business income    1,83,000 

 Royalty on CBSE Books   66,000 

 Rent from house property  36,000 

 Dividend from Indian Company 28,500 

 Bank interest on time deposit  16,600 

 Income of minor son   15,500 

 Long term capital gain   28,000 

 Contribution in P.P.F.   40,000 

 Life insurance premium paid  26,000 

 Medical Insurance Premium paid by cheque 32,000 

 Donation to National Defence Fund by cheque 10,000 
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  v¸©v ªÚÀ £m|P›ß ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 
2022&23 ©v¨¥mk BsiØPõÚ AÁ¸øh¯ ö©õzu 
Á¸©õÚ® ©ØÖ® Á›¨ ö£õÖ¨¤øÚU  PnUQk[PÒ 
: 

  ÂÁμ[PÒ    ¹. 

  {Pμ \®£Í®    6,68,000 

  ÁoP Á¸©õÚ®   1,83,000 

  CBSE ¦zuP[PÎÀ μõ¯Ài 66,000 

  Ãmk ö\õzvß ‰»® ÁõhøP  36,000 

  C¢v¯ {ÖÁÚzv¼¸¢x DÄz öuõøP 28,500 

  øÁ¨¦ {v «uõÚ  Á[Q Ámi 16,600 

  ]Ô¯ ©PÛß Á¸©õÚ®  15,500 

  }sh Põ» ‰»uÚ Buõ¯® 28,000 

  ¤.¤.G¨ CÀ £[PÎ¨¦  40,000 

  B²Ò Põ¨¥mk ¤Ÿª¯® ö\¾zu¨£mhx 26,000 

  ©¸zxÁ Põ¨¥mk ¤Ÿª¯® Põ÷\õø»°ß  32,000  
‰»® ö\¾zu¨£mhx  

  ÷u]¯ £õxPõ¨¦ {vUS Põ÷\õø»°ß ‰»®  10,000 
  |ßöPõøh ö\¾zu¨£mhx  

17. Explain the powers of Central Board of Direct Taxes or 
Commissioner of Income Tax. 

 ©zv¯ ÷|μi Á› Áõ›¯® AÀ»x Á¸©õÚ Á› 
Bøn¯›ß AvPõμ[PøÍ ÂÍUSP.  

18. Mr. X provides the following particulars of his income for 
the Previous Year ended on 31st March 2022. 

 (a) Basic salary Rs. 40.000 p.m. 

 (b) Bonus Rs. 1,00,000 

 (c) He owns a house property and the same is let out 
for the monthly rent of Rs. 10,000. Municipal value 
of the house is Rs. 96,000. Municipal taxes paid by 
him amounted to Rs. 12.000 pa. 



F–7995 

  

  9

 (d) He received interest on unlisted debentures  
Rs. 9,000 and interest on fixed deposits in a bank 
Rs. 4,400. 

 (e) He paid a life insurance premium of Rs. 20,000 on a 
policy taken in 2017 (sum assured being  
Rs. 2,50,000). 

 (f) He also paid the following donations by cheques : 

  (i) Bangalore Municipal Corporation for 
promotion of family planning Rs. 65,000. 

  (ii) The Prime Minister’s Drought Relief Fund  
Rs. 7,000. 

  (iii) The Prime Ministers National Relief Fund  
Rs. 10,000. 

   You are required to compute the taxable 
income of Mr. X for the Assessment Year  
2022-23. 

 v¸ X  Gß£Á›ß ©õºa 31, 2022 AßÖhß •iÁøh¢u 
•¢øu¯ BsiØPõÚ AÁ¸øh¯ Á¸©õÚzvß 
ÂÁμ[PøÍ ¤ßÁ¸©õÖ ÁÇ[SQÓõº : 

 (A) Ai¨£øh \®£Í® ¹. 40,000 ©õu® 

 (B) FUPz öuõøP ¹. 1,00,000  

 (C) CÁº ö\õ¢u©õP Ãk øÁzxÒÍõº ©ØÖ® A÷u 
÷£õÀ ÁõhøP Ãk® EÒÍx. AuÛß ©õuõ¢vμ 
ÁõhøP  
¹. 10,000. A¢u Ãmiß |Pμõm] ©v¨¦ ¹. 96,000. 
AÁº ö\¾zv¯ |Pμõm] Á› ¹. 12,000 Á¸h®. 

 (D) £mi¯¼h¨£hõu PhÜkPÐUS CÁº ö£ØÓ Ámi  
¹. 9,000 ©ØÖ® Á[Q°À øÁzxÒÍ {ø»¯õÚ 
øÁ¨¦UPõÚ Ámi ¹. 4,400. 

 (E) 2017 CÀ GkUP¨£mh B²Ò Põ¨¥k £õ¼]ØS,  
AÁº ö\¾zv¯ B²Ò Põ¨¥mk ¤Ÿª¯® ¹. 20,000 
(£õ¼] ö©õzu öuõøP ¹. 2,50,000) 

 (F) AÁº ¤ßÁ¸® |ßöPõøhPøÍ²® Põ÷\õø»PÒ 
‰»©õP ö\¾zv²ÒÍõº : 
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  (i) ö£[PÑº ©õ|Pμõm] Sk®£ Pmk¨£õmk 
vmhzøu ÷©®£kzxÁuØPõP ö\¾zv¯x  
¹. 65,000 

  (ii) ¤μu©›ß ÁÓm] {Áõμn {v ¹. 7,000. 

  (iii) ¤μu©›ß ÷u]¯ {Áõμn {v ¹. 10,000. 

   v¸. X Gß£Á¸øh¯ ©v¨¥mk Bsk 
2022&23UPõÚ Á› ÂvUPUTi¯ Á¸©õÚzøu 
PnUQk[PÒ  

19. What are the provisions of the Income Tax Act in respect 
of income escaping assessment? Explain. 

 Á¸©õÚ Á›°¼¸¢x u¨¤US® ©v¨¥møh¨ 
ö£õÖzuÁøμ Á¸©õÚ Á›a \mhzvß ÂvPÒ ¯õøÁ? 
ÂÍUSP.  

20. Explain the General principles of imposing penalty. 

 A£μõu® Âv¨£uØPõÚ ö£õxÁõÚ öPõÒøPPøÍ 
ÂÍUSP.  

 

——————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Write a short notes on banking business. 

 Á[Q öuõÈÀ £ØÔ ]Ö SÔ¨¦ GÊxP. 

2. Define non-banking assets. 

 Á[Q \õμõu ö\õzxUPøÍ Áøμ¯ÖUP 

3. What do you understand by ‘Life Assurance Fund’? 

 B²Ò Põ¨¥mk {v £ØÔ uõ[PÒ AÔÁx ¯õx? 

4. What is meant by ‘Annuity’? 

 Bskz öuõøP GßÓõÀ GßÚ? 

5. What is meant by Double Account System? 

 Cμmøh PnUS •øÓ GßÓõÀ GßÚ? 
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6. Mention any two features of double account system. 

 Cμmøh PnUS •øÓ°ß H÷uÝ® Cμsk C¯À¦PøÍ 

SÔ¨¤kP. 

7. Define a Holding Company. 

 ¤i¨¦ {Ö©® Áøμ¯ÖUP. 

8. Write a short note on “Minority interest”. 

 ]Ö£õßø© £[Suõμº £ØÔ J¸ ]ÖSÔ¨¦ ÁøμP. 

9. State the meaning of Goodwill. 

 |Øö£¯º Gß£uß ö£õ¸Ò TÖP. 

10. Give any two reason for valuation of shares. 

 £[SPøÍ ©v¨¤kÁvß Põμn® Cμsk TÖP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is “Rebate on bills discounted”? How it dealt 
with in a Bank Final Accounts? 

  ©õØÖ ^mk Âmh® ö\´u¼À v¸¨¤ ö\¾zxuÀ 

GßÓõÀ GßÚ? J¸ Á[Q CÖv°À PnUSPÎÀ Cx 

GÆÁõÖ wºUP¨£kQÓx? 

Or 

 (b) Discuss the Non-Banking Assets. 

  Á[Q \õμõu ö\õzxUPÒ £ØÔ ÂÁõvUPÄ®. 
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12. (a) From the following particulars, calculate the 
premiums earned (Net) to be derived in schedule 1 
of a life insurance company : 

  Premiums less reinsurance Rs. 1,61,500 
  Accrued premium 5,000 
  Bonus in reduction of premium (Not yet adjusted)   
  5,000 

  ¤ßÁ¸® ÂÁμ[PÎhª¸¢x B²Ò Põ¨¥mkz 

{ÖÁÚzvß 1Áx AmhÁøn°À ö£Ó¨£mkÒÍ 

Põ¨¥mkz öuõøPø¯ PnUQkP. 

  Põ¨¥mkz öuõøPø¯ PÈzuÀ ©ÖPõ¨¥k ¹. 1,61,500 
  Põ¨¥mk SÂz öuõøP ¹. 5,000 

  Põ¨¥mkz öuõøP°À PÈzu öÁS©v ¹. 5,000  

Or 

 (b) Compute the net premium to be credited to Revenue 
A/c from the following data : 
 Rs. 
Premium received during the year 
ended 31.3.06 

16,00,000 

Reinsurance premium paid 5,40,000 
Reinsurance premium received 6,20,000 
Bonus in reduction of premium (not yet 
adjusted) 

20,000 

  ¤ßÁ¸® uμÄPÎ¼¸¢x Á¸Áõ´ PnUS ÁμÄ 

øÁUP¨£k® {Pμ Põ¨¥mkz öuõøPø¯ PnUQkP : 

 ¹. 

31.3.06 •iÁøh¢u BsiÀ Põ¨¥mkz 

öuõøP  

16,00,000 

©ÖPõ¨¥mkz öuõøP ö\¾zv¯x  5,40,000 

©ÖPõ¨¥mkz öuõøP ö£Ó¨£mhx 6,20,000 

©ÖPõ¨¥mkz öuõøP PÈ¢u öÁS©v 

(CßÝ® ö£Ó¨£hÂÀø») 

20,000 
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13.  (a) The figures given below relate to the City Electric 
Supply Co. Ltd. Prepare Revenue A/c for the year 
ended 31.3.2004. 

 Rs. 
Sale of current 1,04,000 

Rent of meters 4,000 
Cost of Generation  28,000 
Cost of distribution 4,000 
Rent, Rate and Taxes 4,000 
Management expenses 25,600 

  ]mi G»Um›U \¨øÍ P®ö£Û ¼ªöhm öuõhº¦øh¯ 

¦ÒÎ ÂÁμ[PÒ öPõkUP¨£mkÒÍx.  

  31.03.2004 B® •iÁøh¢u BsiØS›¯ Á¸Áõ´ 

PnUS u¯õ›UPÄ®. 

 ¹. 

ªß ÂØ£øÚ  1,04,000 

«mhº ÁõhøP  4,000 

ªß EØ£zv ö\»Ä 28,000 

ªß Â{÷¯õP® ö\»Ä  4,000 

ÁõhøP ÂQu® ©ØÖ® Á› 4,000 

÷©»õsø© ö\»ÄPÒ  25,600 

Or 

 (b) From the following information relating to Gunter 
Power & Light Co. Ltd., prepare Net Revenue A/c 
for the year ended 31.3.04 : 

 Rs. 
Net Revenue A/c Balance (1.4.03) 25,000 
Profit transferred from current year 
Revenue A/c 

45,000 

Interest on Debentures 8,000 

Interim Dividend 16,000 
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RÌPsh uPÁÀPÒ Sshº£Áº & ø»m P®ö£Û 

¼ªöhm öuõhº£õÚx BS®. 31.3.04 •iÁøh¢u 

BskUS›¯ {Pμ Á¸Áõ´ PnUS u¯õ›UPÄ®. 

 Rs. 

{Pμ Á¸Áõ´ PnUS C¸¨¦ (1.4.03) 25,000 

|h¨¦ Bsk C»õ£® Á¸Áõ´ PnUSUS 

©õØÓ¨£mhx 

45,000 

Phß £zvμ Ámi  8,000 

CøhUPõ» £[Põuõ¯®  16,000 

14. (a) Explain cost of control. 

  Pmk¨£õmk ö\»ÄPøÍ ÂÁõvUPÄ®. 

Or 

 (b) What is ‘Mutual Obligation’? Give examples. 

  £μì£μ |hÁiUøPPÒ GßÓõÀ GßÚ? Euõμn[PÒ 

u¸P. 

15.  (a) Explain the methods of valuation of shares. 

  £[SPÎß ©Ö©v¨¥mk •øÓPøÍ ÂÍUS[PÒ? 

Or 

 (b) What are the different methods of calculation of 

Goodwill? 

  |Øö£¯º PnURmiß öÁÆ÷ÁÖ •øÓPÒ ¯õøÁ? 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Prepare the Profit and Loss Account for the year ended 
31.12.1992 of Kasinathan Bank Ltd., from the following 
particulars. 

 Rs. In (000) 
Interest on loans 250 
Interest on savings accounts 150 
Interest on cash credits 160 
Interest on fixed deposits 190 
Interest on overdrafts 50 
Amount charged against current accounts 20 
Rebate on bills discounted  19 
Salaries and allowance 120 
Discount 40 
Rent, tax, insurance etc. 5 
Dearness allowance 35 
Commission, brokerage and exchange 45 
Managing director’s salary 15 
Contribution to provident fund 10 

 RÌPsh uPÁÀPÒ Ai¨£øh°À Põ]|õuÛß Á[Q 

¼ªöhmiß  31.12.1992 •iÁøh¢u BsiØPõÚ »õ£® 

©ØÖ® |mhU PnUQøÚ u¯õ›UPÄ®. 

 ¹. °À 

(000) 

PhÝUPõÚ Ámi 250 

÷\ª¨¦ PnUQØPõÚ Ámi  150 

£n ÁμÄ PhßPÐUS Ámi  160 

{ø»¯õÚ øÁ¨¦ «uõÚ Ámi 190 
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 ¹. °À 

(000) 

Á[Q ÷©ÀÁøμ¨£ØÖ Ámi  50 

|h¨¦U PnUSUS Pmhnz öuõøP  20 

©õØÖa^mk Ámh® ö\´u¼À v¸¨£® ¹. 19  

AÎzuÀ 

 

\®£Í® ©ØÖ® ¤i 120 

uÒÐ£i  40 

ÁõhøP, Á›, Põ¨¥k •u¼¯Ú  5 

APÂø»¨£i  35 

Pªåß, uμS ©ØÖ® £›©õØÓ® 45 

{ºÁõP C¯USÚ›ß \®£Í®  15 

Á¸[Põ» øÁ¨¦ {v  10 

17. Distinguish between Life Insurance and General 
Insurance. 

 B²Ò Põ¨¥k ©ØÖ® ö£õxUPõ¨¥kPÐUQøh÷¯ EÒÍ 

÷ÁÖ£õkPøÍU TÖP. 

18. Dawn Electricity ltd. earned a profit of Rs. 26,95,000 
during the year ended 31.03.2014 after debentures 
interest 14% on Rs. 5,00,000. With the help of the 
following figures, show the disposal of profit. 
 Rs. 

Original cost of fixed assets 2,00,00,000 

Formation and other expenses 10,00,000 

Monthly average of current assets (net) 50,00,000 

Reserve fund (8% Govt. Securities) 20,00,000 
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Contingencies Reserve Investments 5,00,000 

Loan from Electricity Board 30,00,000 

Total depreciation written off to date 40,00,000 

Tariffs and dividend control reserve 1,00,000 

Security deposit received from customers 4,00,000 

Assume the bank rate as 10%  

 hõß ªß\õμ {ÖÁÚ® 31.3.2014 |h¨¦ BskPÎÀ Phß 

£zvμ® Ámi 14% ¹. 5,000 ö\¾zv¯ ¤ÓS ¹. 26,95,000 

C»õ£® Dmi¯x. RÌPsh uPÁÀ Ai¨£øh°À £QºÄ 

C»õ£® PshÔP. 

 ¹. 

{ø»¯õÚ ö\õzxUPÎß A\À ö\»Ä  2,00,00,000 

E¸ÁõUP® ©ØÖ® ¤Ó ö\»ÄPÒ 10,00,000 

|h¨¦ ö\õzxUPÎß ©õu \μõ\› ({Pμ) 50,00,000 

Põ¨¦ {v (8% Aμ_ £zvμ[PÒ) 20,00,000 

GvºPõ» Põ¨¦ •u½mk {v  5,00,000 

ªß\õμ® Áõ›¯zvß Phß 30,00,000 

ö©õzu ÷u´©õÚ® uÒÐ£i  40,00,000 

Pmhn® ©ØÖ® £[Põuõ¯® Pmk¨£õmk 

Põ¨¦ 

1,00,000 

ÁõiUøP¯õÍºPÎhª¸¢x £õxPõ¨¦ øÁ¨¦ 

ö£Ó¨£mhx.  

4,00,000 

Á[Q Ãuzøu 10% BP øÁzx öPõÒP.  
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19. The balance sheet of ‘C’ Ltd and 'D' Ltd as at 31.12.2009 
are as follows : 

Liabilities C Ltd.  D Ltd.  Assets C Ltd.  D Ltd. 

Shares of  Rs. 10 each 2,00,000 1,00,000  Sundry assets 1,32,500 1,38,200

General reserve 18,000 20,000  Goodwill – 20,000

P&L A/c 24,500 23,000  Shares D ltd 1,40,000 –

Bills payable 30,000 15,200   

 2,72,500 1,58,200   2,72,500 1,58,200

 In case of ‘D’ Ltd profit for the year ended 31st December 
2009 is Rs. 12,000 and transfer to Reserve is Rs. 5,000. 
The holding of ‘C’ Ltd in ‘D’ Ltd is 90% acquired on 
30.6.09. Draw consolidated balance sheet. 

 31.12.2009 AßÖ ‘]’ ¼ªöhm ©ØÖ® ‘i’ ¼ªöhm 

BQ¯ÁØÔß CÖv{ø» PnUS ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ  C Ltd. D Ltd.  ö\õzxUPÒ C Ltd. D Ltd. 

10 ¹£õ´ £[SPÒ  2,00,000 1,00,000  £À÷ÁÖ ö\õzxUPÒ 1,32,500 1,38,200

ö£õx  C¸¨¦  18,000 20,000  {ÖÁÚzvß  

C»õ£, |mh P/S  24,500 23,000   |Øö£¯º – 20,000

ö\¾zxÁuØS›¯   £[SPÒ ‘i’ 1,40,000 –

 ©õØÖa^mk  30,000 15,200    ¼ªöhm  

 2,72,500 1,58,200   2,72,500 1,58,200

 2009 B® Bsk i\®£º 31 B® ÷uv²hß •iÁøh¢u ‘i’ 
¼ªöhm Á¸©õÚ® ¹. 12,000 ©ØÖ® ¹. 5,000 Põ¨£õP 

©õØÓ¨£mhx. ‘i’ ¼ªöhm {ÖÁÚzvÀ ‘i’ ¼ªöhm 90 

\uÂQuzøu 30.06.09 AßÖ Áõ[Q¯x. J¸[QønUP¨£mh 

C¸¨¦ {ø» PnUS u¯õ›UPÄ®.  

20. Mr. Wiseman has invested a sum of Rs. 2,00,000 in his 
own business which is a very profitable on the annual 
profit earned from his business is Rs. 45,000 which 
includes a sum of Rs. 10,000 received as compensation for 
a part of his business premises. 
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 As a alternative to his engagement in his business, he 
could have invested the money in long-term deposit, with 
bank earning a normal rate of interest of 10% and also 
could engage himself in employment thereby  getting an 
annual salary income of Rs. 7,200. 

Considering 2% as fair compensation for the risk involved 
in the business, calculate the value of Goodwill of his 
business on capitalization of super profits at the normal 
rate of interest ignore taxation. 

 v¸ øÁì÷©ß ¹. 2,00,000zøu ö\õ¢u©õP Â¯õ£õμ® 

|hzxÁuØPõP •u½k ö\´QÓõº. AvÀ AvP£m\©õP  

¹. 45,000 Á¸h Á¸©õÚ©õP EÒÍx. AvÀ ¹. 10,000 ÁoP 

ö\õzxPÐUS DhõP Qøhzux® Ah[S®.  C÷u öuõøPø¯ 

Á[Q°À •u½k ö\´uõÀ 10% Ámi Á¸©õÚ® QøhUP¨ 

ö£Ö®. ÷©¾® uõß ©ØöÓõ¸ ChzvÀ ÷Áø» £õºzuõÀ 

SøÓ¢u£m\©õP ¹. 7,200 \®£Í Á¸©õÚ® QøhUP ö£Ö®. 

ÁoPzvÀ 2% Chº EÒÍuõP øÁzxUöPõsk ÁoP 

|Øö£¯øμ •u½mk ]Ó¨¦ |Øö£¯º •øÓ°À Á› CÀ»õ©À 

PnUQkP. 

  

———————— 



 

  

F–7997   

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2022 

Sixth Semester 

Commerce with Computer Applications 

MANAGEMENT ACCOUNTANCY 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. State the objectives of management accounting.  

 ÷©»õsø© PnUQ¯À ÷|õUP[PøÍ GÊx[PÒ. 

2. State any three points for functions of management 
accounting. 

 ÷©»õsø© PnUQ¯À ö\¯À£õkPøÍ ‰ßÖ SÔ¨ø£ 
GÊx[PÒ. 

3. Write a short notes on financial statements. 

 {v AÔUøPPøÍ £ØÔ J¸ ]Ö SÔ¨ø£ GÊx[PÒ. 

4. State any two points for limitations of financial 
statements. 

 {v AÔUøPPÎß Áμ®¦PÐUS H÷uÝ® Cμsk SÔ¨ø£ 
GÊx[PÒ. 

5. Objectives of cash flow statement. 

 £n¦ÇUP AÔUøP°ß SÔU÷PõÒPÒ ¯õøÁ? 
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6. Write a short notes on financial operations. 

 {v |hÁiUøPPøÍ¨ £ØÔ J¸ ]Ô¯ SÔ¨ø£ GÊx[PÒ. 

7. What is budgetary control? 

 £möám Pmk¨£õmk GßÓõÀ GßÚ? 

8. State any two objectives of budgetary control. 

 ÁμÄ ö\»Äz vmh Pmk¨£õmiß Cμsk SÔU÷PõÒ 
ÂÁ›. 

9. Mention the advantages of standard costing. 

 {ø»¯õÚ ö\»ÄPÎß |ßø©PøÍ SÔ¨¤k[PÒ. 

10. State any three limitations of standard costing? 

 {ø»¯õÚ Âø» {ºnzvß ‰ßÖ Áμ®¦PÒ ¯õøÁ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Explain the scope of management accounting. 

  ÷©»õsø© PnUQ¯¼ß ÷|õUP® £ØÔ GÊxP. 

Or 

 (b) Describe the functions of management accounting. 

  ÷©»õsø© PnUQ¯¼ß ö\¯À£õkPøÍ 
ÂÁ›UPÄ®. 

12. (a) Explain the profitability ratios.  

  C»õ£ ÂQu[PøÍ ÂÍUS[PÒ. 

Or 

 (b) Explain the liquidity ratios.  

  £n¨¦ÇUP ÂQu[PøÍ ÂÍUS[PÒ. 
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13. (a) From the following particulars, calculate funds from 

operations: Salaries Rs. 80,000; Depreciation  

Rs. 40,000: Interest on Investments Rs. 20,000: 

Profit on sale of fixed assets Rs. 10,000: Provision 

for tax Rs. 60,000: Loss on sale of machinery  

Rs. 10,000. Interim dividend paid Rs. 40,000; 

Proposed dividend Rs. 60,000: Administrative 

expenses Rs. 50,000: Goodwill written off  

Rs. 20,000; Preliminary expenses written off  

Rs. 10,000. Opening balance of profit and loss 

account Rs. 1,40,000; Closing balance of profit and 

loss account Rs. 2,40,000. 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, |hÁiUøPPÎ¼¸¢x 

{vPøÍ PnUQk[PÒ: \®£Í® ¹. 80,000; 

÷u´©õÚ® ¹. 40,000; •u½kPÐUPõÚ Ámi ¹. 

20,000; {ø»¯õÚ ö\õzxUPÎß ÂØ£øÚUPõÚ 

»õ£® ¹. 10,000; Á›US ¹. 60,000; C¯¢vμ[PÒ 

ÂØ£øÚ «uõÚ CÇ¨¦ ¹. 10,000. Cøh÷ÁøÍ 

iÂöhßm ¹. 40,000; •ßö©õÈ¯¨£mh dividend 

¹. 60,000; {ºÁõP ö\»ÄPÒ ¹. 50,000; |ß©v¨¦ 

¹. 20,000; Bμ®£ ö\»ÄPÒ ¹. 10,000. »õ£® 

©ØÖ® CÇ¨¦ PnUS vÓøÚ ¹. 1,40,000; C»õ£® 

©ØÖ® CÇ¨¦ PnUS \©{ø» ‰i ¹.2,40,000.    

Or 

 (b) Explain the preparation of cash flow statement. 

  £n¨¦ÇUP AÔUøP u¯õ›¨ø£ ÂÍUPÄ®. 
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14. (a) From the following data, prepare production budget 
for the ABC Ltd. 

Product Stock for the budgeted period   Sales 

 Opening stock  Closing stock  

A 7,000 10,000 60,000

B 9,000 8,000 50,000

C 12,000 14,000 70,000

 ¤ßÁ¸® uμÄPÎ¼¸¢x, ABC ¼ªöhm {ÖÁÚzvØPõÚ 
EØ£zv ÁμÄ ö\»Äz vmhzøu u¯õ›UPÄ®. 

u¯õ›¨¦ £möám Põ»zvØS £[S ÂØ£øÚ

 £[S vÓUQÓx £[S •iÁøhQÓx  

A 7,000 10,000 60,000

B 9,000 8,000 50,000

C 12,000 14,000 70,000

Or 

 (b) What are the requirements of a good budgetary 
control system? 

  J¸ |À» £möám Pmk¨£õmk Aø©¨¤ß ÷uøÁPÒ 
GßÚ? 

15.  (a) From the following data calculate break even point 
and sales must be increased for the company to 
breakeven. 

 Rs. 

Sales 5,00,000 

Variance 4,00,000 

Fixed cost 2,00,000 
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  ¤ßÁ¸® uμÄPÎ¼¸¢x ¦ÒÎÂ£μ® 
PnUQh¨£kQÓx, ÷©¾® ÂØ£øÚUS ÂØ£øÚ 
ö\´¯ {ÖÁÚzøu AvP›UP ÷Ásk®. 

 ¹. 

ÂØ£øÚ 5,00,000 

©õÖ£k® 4,00,000 

{ø»¯õÚ ö\»Ä 2,00,000 

Or 

 (b) Explain the merits and demerits of standard 
costing. 

  {ø»¯õÚ ö\»ÂÚzvß uSvPÒ ©ØÖ® 
SøÓ£õkPøÍ ÂÍUS[PÒ 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Briefly discussion to characteristics of management 
accounting. 

 ÷©»õsø© PnUQ¯¼ß £s¦PÒ SÔzx GÊxP. 

17. Calculate  

(a) Gross profit ratio, 

(b) Operating ratio, 

(c) Operating profit ratio, 

(d) Net profit ratio. 

 Rs. 

Sales                      42,000 

Sales returns 2,000 

Cost of sales 32,800 

Interest expenses 200 

Income from-investments 400 
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 Rs. 

Administration expenses 2,600 

Selling expenses 1,400 

Depreciation (non-operating) 400 

 PnUQk[PÒ (A) ö©õzu C»õ£ ÂQu® (B) C¯UP 
ÂQu® (C) |h¨¦ C»õ£ ÂQu® (D) {Pμ C»õ£ ÂQu®. 

ÂØ£øÚ                  42,000 

ÂØ£øÚ v¸¨£®              2,000 

ÂØ£øÚ ö\»ÄPÒ            32,800 

Ámi ö\»Ä 200 

Á¸Áõ´&•u½k 400 

{ºÁõP ö\»ÄPÒ 2,600 

ö\»ÄPÒ ÂØP 1,400 

÷u´©õÚ® (C¯UP¨£hõu) 400 

18. From the following balance sheets of PQR Ltd. prepare 
funds flow statement and a schedule of changes in 
working capital 

Liabilities 1999 
Rs. 

 1998 
Rs. 

 Assets 1999 
Rs. 

1998 
Rs. 

Creditors        1,80,000  1,25,000  Cash 50,000 40,000
5% 
Debentures 

1,00,000  2,00,000  Debtors 30,000 15,000

Share capital 2,00,000  1,00,000  Stock 1,00,000 80,000
P/L a/c 20,000  –  Short term 
     investment 1,20,000 50,000
     Fixed  
     assets 2,00,000 2,00,000
     P/L a/c – 40,000
      
 5,00,000  4,25,000   5,00,000 4,25,000
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 Provision for depreciation on the last day of 1998 was 
Rs.40,000. The same on the day of 1999 was Rs.50,000. 
During the year 1999, a machine costing Rs.20,000 
(depreciation Rs.10,000) was sold for Rs.15,000. 

 PQR ¼ªöhm Cß ¤ßÁ¸® C¸¨¦{ø»U 
SÔ¨¦PÎ¼¸¢x, £n¨¦ÇUP AÔUøP ©ØÖ® ‰»uÚzvÀ 
HØ£k® ©õØÓ[PÎß AmhÁønø¯ u¯õº ö\´uÀ 

ö£õÖ¨¦PÒ 1999 
(¹.) 

 1998 
(¹.) 

 ö\õzxUPÒ 1999 
(¹.) 

1998 
(¹.) 

Phß 
öPõkzuÁºPÒ 

1,80,000  1,25,000  £n® 50,000 40,000

5% PhßPÒ 1,00,000  2,00,000  PhÚõÎPÒ 30,000 15,000

£[S 
‰»uÚ® 

2,00,000  1,00,000  C¸¨¦ 1,00,000 80,000

»õ£® ©ØÖ® 
CÇ¨¦ 

20,000  –  SÖQ¯ 
Põ» 
•u½k 

1,20,000 50,000

     {ø»¯õÚ 
ö\õzxUPÒ 2,00,000 2,00,000

      

     C»õ£ 
CÇ¨¦ 

– 40,000

      

 5,00,000  4,25,000   5,00,000 4,25,000

 1998 Cß Pøh] |õÎÀ ÷u´©õÚzvØPõÚ JxURk ¹. 
40,000 BS®. 1999 B® Bsiß |õÍßÖ ¹.50,000. 
1999 B® BsiÀ, ¹. 20,000 ©v¨¦ÒÍ J¸ C¯¢vμ® 
(¹. 10,000 ©v¨¦US) ¹. 15,000 ÂØP¨£mhx. 
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19. Draw up a flexible budget for overhead expenses on the 
basis of the following data and determine the overhead 
rates at 70%, 80% and 90% plant capacity. 

 At 70%  
capacity 

At 80% 
capacity 

At 80% 
capacity 

 Rs. Rs. Rs. 

Variable overheads :    

Indirect labour – 11,000 – 

Stores including spares – 4,000 – 

Semi-variable overheads :   

Power   

(30% fixed, 70% variable) – 20,000 – 

Repairs and maintenance   

(60% fixed, 40% variable) – 2,000 – 

Fixed overheads   

Depreciation – 10,000 – 

Insurance – 2,000 – 

Salaries – 10,000 – 

Total overheads – 52,000 – 

 Estimated direct labour hours : 1,24,000 hours. 

 ¤ßÁ¸® uμÄPÎß Ai¨£øh°À ÷©À{ø» 
ö\»ÂÚ[PÐUS J¸ ö|QÌÁõÚ £möám Áøμ¯Ä® 70%, 
80% ©ØÖ® 90% uõÁμ vÓß BQ¯ÁØÔÀ ÷©À{ø» 
ÂQu[PøÍ {ºn°UPÄ®. 

 70%  
vÓß 

öPõshx 

80%  
vÓß 

öPõshx

90%  
vÓß 

öPõshx

 Rs. Rs. Rs. 

©õÖ£mh ÷©À{ø»PÒ:    

©øÓ•P EøÇ¨¦ – 11,000 – 
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 70%  
vÓß 

öPõshx 

80%  
vÓß 

öPõshx

90%  
vÓß 

öPõshx

 Rs. Rs. Rs. 

Ev› £õP[PÒ Em£h 
PøhPÒ 

– 4,000 – 

Aøμ ©õÔ ÷©À{ø»PÒ:   
£Áº   

(30% \›, 70% ©õÔ) – 20,000 – 

£Êx ©ØÖ® £μõ©›¨¦   

(60% {ø»¯õÚ, 40% ©õÔ) – 2,000 – 

{ø»¯õÚ uø»¨¦PÒ:   
÷u´©õÚ® – 10,000 – 
Põ¨¥k – 2,000 – 
Fv¯[PÒ – 10,000 – 
ö©õzu ÷©À{ø»PÒ – 52,000 – 

 ÷|μi ÷|μ ÷Áø» ÷|μ[PÒ: 1,24,000 ©o. 

20. From the following information compute material 
variances 

 Quantity 
(kilos) 

Standard 
unit  
price 
Rs. 

Total 
 Rs. 

Quantity
(kilos) 

Actual 
unit 
price 
Rs. 

Total 
Rs. 

Material S 10 2 20 5 3 15 

Material T 20 3 60 10 6 60 

Material R 20 6 12 15 5 75 

 50 4 200 30 5 150 
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x ö£õ¸Ò ©õÖ£õkPÒ 
PnUQkQßÓÚ. 

 AÍÄ 
(Q÷»õ) 

{ø»¯õÚ 
A»S 
Âø» 
(¹.) 

ö©õzu® 
(¹.) 

AÍÄ
(Q.÷»õ)

{ø»¯õÚ 
A»S 
Âø» 
(¹.) 

ö©õzu® 
¹. 

ö£õ¸Ò 
S 

10 2 20 5 3 15 

ö£õ¸Ò 
T 

20 3 60 10 6 60 

ö£õ¸Ò 
R 

20 6 12 15 5 75 

 50 4 200 30 5 150 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is the use of Name space in Dot net? 

 hõm Áø»°À ö£¯º Chzvß £¯ß£õk GßÚ? 

2. Expand the term CLR. 

 ].GÀ.Bº  GßÓ ö\õÀø» Â›ÁõUSP. 

3. State difference between String and Character. 

 \μ® ©ØÖ® GÊzxUS Cøh°»õÚ ÷ÁÖ£õkPÒ ¯õøÁ? 

4. What is mean by Message box? 

 ö\´v ö£mi°ß ö£õ¸Ò GßÚ? 

5. Define the term Status bar. 

 {ø» £mi GßÓ ö\õÀø» Áøμ¯ÖUPÄ®.  

6. How to create splitters? 

 ¤ÍÄPøÍ E¸ÁõUSÁx G¨£i? 
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7. How do namespaces work in ASP.net? 

 HGì¤. ö|miÀ ö£¯ºöÁÎPÒ GÆÁõÖ ö\¯À£kQßÓÚ? 

8. What is tracing in ASP.net? 

 HGì¤. ö|miÀ uh©ÔuÀ GßÓõÀ GßÚ? 

9. What is ADO NET stands for? 

 ADO NET GßÓõÀ GßÚ? 

10. What is mean by Server control? 

 ÷\øÁ¯PU Pmk¨£õk GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) Write the steps for compile and execute .Net 
program. 

  ö|m {μø» öuõSzx ö\¯À£kzxÁuØPõÚ £iPøÍ 

GÊxP.  

Or 

 (b) Discuss about Assemblies. 

  Aö\®¤Îì £ØÔ ÂÁõvUPÄ®.  

12. (a) What is Array? Explain its types. 

  Á›ø\ GßÓõÀ GßÚ? Auß ÁøPPøÍ ÂÍUSP.  

Or 

 (b) Write the brief note on Exception Handling. 

  ÂvÂ»US øP¯õÐuÀ £ØÔ¯ _¸UP©õÚ SÔ¨ø£ 

GÊxP.  
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13. (a) Explain Status bar and give example. 

  {ø»¨£miø¯ ÂÍUQ Euõμn® öPõkUPÄ®.  

Or 

 (b) Differentiate Label and Link label 

  ÷»¤Ò ©ØÖ® Cøn¨¦ ÷»¤øÍ ÷ÁÖ£kzxP.  

14. (a) Describe about Ajax controls. 

  AáõUì Pmk¨£õkPÒ £ØÔ ÂÁ›UPÄ®.  

Or 

 (b) Explain form Authentication and give example. 

  £iÁ® A[RPõμzøu ÂÍUQ Euõμn® öPõkUPÄ®.  

15.  (a) Discuss about Binding Controls in .Net. 

  .Net CÀ ¤øn¨¦U Pmk¨£õkPÒ £ØÔ ÂÁõvUPÄ®.  

Or 

 (b) Write brief note on Data Grid. 

  ÷hmhõ Q›m SÔzx _¸UP©õÚ SÔ¨ø£ GÊxP.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Brief discuss about .Net components. 

 ö|m TÖPøÍ¨ £ØÔ _¸UP©õP ÂÁõvUPÄ®.  

17. Explain the various operators’ types with example. 

 £À÷ÁÖ B¨÷μmhºPÎß ÁøPPøÍ GkzxUPõmkhß 

ÂÍUSP.  
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18. Write the short note on following: 

(a) List box 

(b)  Scroll Bars 

 ¤ßÁ¸ÁÚÁØÔÀ ]Ö SÔ¨ø£ GÊxP.  

 (A) £mi¯À ö£mi  

 (B) E¸Ò £õºPÒ.  

19. Explain ASP .Net in detail.  

HGì¤. ö|m £ØÔ Â›ÁõP ÂÍUSP.  

20. Create a table with following fields: Roll No, Name, 
Department and College 

 To perform following operations: 

 (a) Insert two new data in table 

 (b)  Update one row data in table 

 (c) Delete data from the table 

 (d) Rename the table name 

 J¸ AmhÁønø¯ E¸ÁõUPÄ®. 

 ¤ßÁ¸® xøÓPÐhß : ÷μõÀ Gs, ö£¯º, xøÓ ©ØÖ® 
PÀ¿› ¤ßÁ¸® ö\¯À£õkPøÍa ö\´¯.  

 (A) AmhÁøn°À Cμsk ¦v¯ uμøÁa ÷\ºUPÄ®.  

 (B) AmhÁøn°À J¸ Á›ø\ uμøÁ¨ ¦x¨¤UPÄ®.  

 (C) AmhÁøn°À C¸¢x uμøÁ }USP.  

 (D) AmhÁøn°ß ö£¯øμ ©Öö£¯›kP.  

 

  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define ‘Factory’ under the Factories Act 1948. 

 öuõÈØ\õø» \mh® 1948&ß £i öuõÈØTh® Gß£øu 
ÁøμP. 

2. Define “Trade union”. 

 “öuõÈØ\[P®” Áøμ¯Ö. 

3. Who is Competent Person? 

 uSv²ØÓ |£º Gß£Áº ¯õº? 

4. What are the objectives of payment of wages Act 1936? 

 Fv¯ £mkÁõhõ \mh® 1936&ß ÷|õUP[PÒ ¯õøÁ? 

5. State the objectives of industrial disputes act 1947. 

 öuõÈØ uPμõÖ \mhzvß 1947 ÷|õUPzøu öu›Â. 

6. What is lock out? 

 PuÁøh¨¦ GßÓõÀ GßÚ? 
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7. State the amount of compensation available to an 
employee in case of death and permanent total 
disablement. 

 CÓ¨¦ ©ØÖ® {μ¢uμ ö©õzu •hUP® CøÁPÎÀ J¸ 
öuõÈ»õÎUS QøhUS® CÇ¨¥k £ØÔ SÔ¨¤kP. 

8. What is the minimum and maximum bonus available to 
an employee? 

 J¸ öuõÈ»õÎUS QøhUS® SøÓ¢u £m\ ©ØÖ® 
AvP£m\ ÷£õÚì SÔ¨¤kP. 

9. Write short note on employees’ provident fund scheme. 

 £o¯õÍºPÎß ÷\© |» {v vmh® £ØÔ ]Ö SÔ¨¦ 
GÊxP. 

10. Define ‘Continuous Service’ under the payment of 
Gratuity act 1972. 

 £oUöPõøh \mh® 1972&ß RÌ ‘öuõhºa]¯õÚ ÷\øÁ’ 
SÔzx Áøμ¯Ö. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Discuss the provisions regarding ‘welfare’ under the 
factories act 1948. 

  öuõÈØ\õø»PÒ \mh® 1948&ß RÌ ‘|»ß’ £ØÔ¯ 
TÖPÒ ÂÁ›UPÄ®. 

Or 

 (b) What are the powers of inspector under The 
Factories Act 1948? 

  öuõÈØ\õø»PÒ \mhzvß 1948 B´ÁõÍ›ß 
AvPõμ[PÒ ¯õøÁ? 
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12. (a) Enumerate the rules of Trade Union. 

  öuõÈØ\[P[PÎß ÂvPÒ ¯õøÁ? 

Or 

 (b) What are the purposes for which the general fund of 
the trade union to be spent? 

  öuõÈØ\[Pzvß ö£õx {vø¯ GzuøP¯ 
ö\¯ÀPÐUS® £¯ß£kzu»õ®? 

13. (a) What is meant by ‘Industry’ as defined in Industrial 
Disputes Act? 

  öuõÈØuPμõÖ \mhzvß £i ‘öuõÈØ\õø»’ Gß£uß 
ö£õ¸Ò ¯õx? 

Or 

 (b) Distinguish between retrenchment and lockout. 

  BmSøÓ¨¦ ©ØÖ® PuÁøh¨¦ ÷ÁÖ£kzxP. 

14. (a) What are the defenses available to employer under 
Employee’s compensation Act 1923? 

  öuõÈ»õÍº CÇ¨¥mka \mh® 1923&ß £i CÇ¨¥k 
ÁÇ[Põ©À ©Ö¨£uØS •u»õÎUSa \õuP©õÚ 
GvºÁõu[PÒ GøÁ? 

Or 

 (b) State the rules regarding the notice of accident and 
its proper manner. 

  Â£zx £ØÔ¯ •øÓ¯õÚ AÔÂ¨¦ £ØÔ¯ ÂvPøÍU 
SÔ¨¤kP. 

15.  (a) Explain are the different types of benefits provided 
in ESI act. 

  öuõÈ»õÍº Aμ_ Põ¨¥k PÇP \mh¨£i 
ÁÇ[P¨£k® £À÷ÁÖ £¯ßPøÍ ÂÁ›. 

Or 
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 (b) Discuss the benefit and scope of EPF Act. 

  FÈ¯º ÷\©»õ£ {v \mhzvß |ßø©PÒ ©ØÖ® 
÷|õUP[PøÍ ÂÁõv. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the provisions relating to ‘safety’ under the 
factories act 1948. 

 öuõÈØ\õø»PÒ \mh® 1948&ß RÌ ‘£õxPõ¨¦’ SÔzx 
ÂÁõvUPÄ®. 

17. Explain the procedure for fixing and revising minimum 
wages under the Minimum Wages Act 1948. 

 SøÓ¢u T¼a\mh® 1948&ß SøÓ¢uÍÄ T¼ø¯ {ºn¯® 
ö\´Áx ©ØÖ® v¸zv Aø©zu¾UPõÚ ö\¯À •øÓø¯ 
ÂÍUSP. 

18. What do you mean by ‘Strike’ and ‘Lockout’ as defined in 
Industrial Dispute Act? When does a strike or lock out 
become illegal? 

 ‘÷Áø» {Özu®’ ©ØÖ® ‘PuÁøh¨¦’ Gß£øu £ØÔ } 
AÔÁÚ ¯õøÁ? G¨÷£õx ÷Áø»{Özu® AÀ»x 
PuÁøh¨¦ \mhzvØS ¦Ó®£õÚuõPU P¸u¨£k®. 

19. Discuss the constitution, powers and functions of 
authorities under the ID act 1947. 

 öuõÈØ uPμõÖPÒ \mh® 1947&ß RÌ E¸ÁõUP¨£mh 
AvPõ›PÎß E¸Áø©¨¦, AvPõμ® ©ØÖ® ö\¯À£õkPÒ 
SÔzx ÂÁõvUPÄ®. 

20. Explain the rules relating to determination of bonus. 

 ÷£õÚì {ºn¯® SÔzu ÂvPøÍ ÂÁ›UPÄ®. 
———————— 


